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5A1H 518 | BiL;HAER 674-936 |G)Y=—/TIh)ELEtA43T B3R 100A&1"y4/LR6SG-100XD 5219 = 5219 5029 2~4) = 4,980 (2~4) 4524 (5~) = 4,380 (5~) - = -
5A1H 518 BiLHAER 674-941 |G)Y=—/TIh)E2 B AT B4z 100481 y)/LRO3SG-100XD | 5219 = 5219 5029 2~4) = 4,980 (2~4) 4524 (5~) = 4,380 (5~) - = =
5818 519 BiLHAER 583-860 |E1+i&E/F7L14VFE M CR2032 2{E/CR2032C(2B)N 379 = 358 - = - - = - - = -
6R1H 519 BiLHAER 583-861 |Eti&E/F7AL14VFE it CR2032 101E/CR2032C(2B)N 1,771 = 1,780 - = - - = - - = -
6A1H 519 BiLHAER 622-274 | =& EHE/)F7431VEith/CR1216D/1BP 178 = 200 - = - - = - - = -
6R1H 519 BiLHAER 500-652 | =%/)F7L1{VEith/CR1220D/1BP 178 = 200 - = - - = - - = -
6818 519 BiLHAER 500-661 | =% /)79 Lh1{VE#/CR1616D/1BP 178 = 200 - = - - = - - = -
681H 519 BiLHAER 664-124 | =EFEH/)F7431VEith/CR1620D/1BP 178 = 200 - = - - = - - = -
6818 519 BiLHAER 500-679 |=%/)F9h1{VE#/CR2016D/1BP 178 = 200 - = - - = - - = -
6R1H 519| EILHESR 500-688 | =%/)F7L1{VEth/CR2025D/1BP 178 = 200 - = - - = - - = -
6818 519 BiLHAER 500-697 | =% /)79 A1{VEt/CR2032D/1BP 178 = 200 - = - - = - - = -
6R1H 519| EILHESR 644-256 | =2 /)F)L1{UEH 10{8/CR2032D/1BP 1628 = 1,780 - = - - = - - = -
6818 519 BiLHAER 622-275 | =& EHE/)F7431VEith/CR2450D/1BP 207 = 210 - = - - = - - = -
6R1H 519| EILHESR 669-320 |¥/tl/a1 5 FILEM/CR2025 1BS 181 = 188 - = - - = - - = -
5818 519 BiLHAER 678-484 |¥4tl/)F)A1{UE/CR20321BS 189 = 188 - = - - = - - = -
5A1H 519| ELHESR 664-348 |)=—/YFL1{vEith CR1616/CR1616-ECO 228 = 200 - = - - = - - = -
5818 519 BiLHAER 928-801 |Y=—/)F9 L5134V Et/CR1632-ECO 228 = 200 - = - - = - - = -
5A1H 519| ELHESR 664-343 |Y=—/YFh1{»FEith CR2016/CR2016-ECO 228 = 200 - = - - = - - = -
5818 519 BiLHAER 664-345 |Y=—/)F L34V E i CR2025/CR2025-ECO 228 = 200 - = - - = - - = -
5A1H 519| EILHESR 664-346 |/=—/YF7 L5141 FEith CR2032/CR2032-ECO 228 = 200 - = - - = - - = -
6818 519 BiLHAER 664-347 |Y=—/YFL3{vFE # CR2032 20{E/CR2032-20EC 3,400 = 3680 - = - - = - - = -
5A1H 519| EILHESR 626-437 |)=—/YF7 L5141 Eith CR2430/CR2430-ECO 228 = 200 - = - - = - - = -
5818 519 BiLHAER 928-802 |Y=—/1)Fh34YEth/CR2450B-ECO 228 = 200 - = - - = - - = -
6R1H 519| BILHESR 677-162 |INTY=vh /21 R FILE M CR1632(3V)/CR-1632 229 = 236 - = - - = - - = -
5818 520 ' BiLHAER 664-351 |V=—/F#{LEREith SR41/SR41-ECO 467 = 398 - = - - = - - = -
5A18 520| ELHAESR 664-349 |V=—/FR1LEREith SR44/SR44-ECO 467 = 398 - = - - = - - = -
5818 520 'BiLHAER 664-350 |/=—/FR{LEREith SR44 10{E/SR44-10EC 3314 = 3280 - = - - = - - = -
5A1H 520| ELHAESR 664-352 |V=—/F#1LREith SR621/SR621-ECO 467 = 398 - = - - = - - = -
581H 520 EILHFER 664-354 |Y=—/B8{LEREith SR626/SR626-ECO 467 = 398 - = - - = - - = -
6R1H 520 | ELHAES 699-722 |Y=—/F&{LEREith/SRI27-ECO 350 = 398 - = - - = - - = -
6A1H 522 | 'BiLHAER 921-486 |ILUEABBBA/Z51F 7°59%9/Z2-1000B 9528 = 9,800 - = - - = - - = -
6818 522 | BLIHAES 921-487 |ILMAEEBR/Z71b £74b/2-1000W 9528 = 9,800 - = - - = - - = -
6A1H 522 | 'BiLHAER 138-685 |ILIFHERAR/Z54F 7'39%9/Z-108LED B 6,998 = 7,:800 - = - - = - - = -
6818 522 | BLIHAES 138-686 |LLIFHERAR/ /254 £74b/Z-108LED W 6,998 = 7,800 - = - - = - - = -
6818 522 |’ BiLHAER 178-002 |¥4'7/Akyb54bva—bE E11EBKAL/YOTLCX100X02WH 998 = 1,180 - = - - = - - = -
6818 522 | BILIHAESR 178-003 |¥4'7/AKyb54bva—bE E17EKAL/YOTLCX100X01WH 790 = 820 - = - - = - - = -
6818 522 EILHAER 178-004 |¥4'7/AKyb54bva—b A E26FERAL/YOTLCX150X02WH 790 = 820 - = - - = - - = -
581H 523 | 'BiLHFER 192-987 |NFY=99/LED —REEEk 810im BRIt /LDATDGZ60ESW2 2580 = 2480 - = - - = - - = -
5818 523 EILHAER 192-988 |n'FY=y4/LED —hZEEk 810im R EH/LDATNGZ60ESW2 2580 = 2480 - = - - = - - = -
581H 523 | 'BiLHER 192-989 |N'FY=99/LED —RZE Bk 810im E Bk /LDATLGZ60ESW2 2580 = 2480 - = - - = - - = -
5818 523 EILHAER 192-990 |n'FY=y4/LED —h&EEk 485im B /LDA4DGZ40ESW2 1,580 = 1,480 - = - - = - - = -
581H 523 | 'BiLHFER 192-991 |W'FY=99/LED —REE Bk 485im B /LDA4NGZA0ESW2 1580 = 1,480 - = - - = - - = -
5818 523 EILHAER 192-992 |N'FY=y4/LED —REEEk 485Im EEK{E/LDASLGZ40ESW2 1,580 = 1,480 - = - - = - - = -
581H 523 | 'BiLHFER 177-920 |WFY=9%/LED —REE Bk 810im Bt /LDATDGKEOESW 2,180 = 2080 - = - - = - - = -
5818 523 EILHAER 177-921 |N'FY=y4/LED —hEEEk 810im EEkfE/LDASLGKEOESW 2,180 = 2080 - = - - = - - = -
581H 523 | 'BiLHFE R 177-922 |WFY=99/LED —REE Bk 485im B3t /LDA4DGKA0ESW 1,304 = 1,280 - = - - = - - = -
5A1H 523 | BiLHAER 177-923 |WFY=99/LED —REEEk 485Im FEEKA/LDASLGK40ESW 1,304 = 1,280 - = - - = - - = -
6A1H 533 | BiL & & 679-785 |INTY=yh/+/4—FEEE- P AT7V K IEEERTIML/FE-KXF15-W | 44,800 = 52,800 - = - - = - - = -
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6A1H 534 | BL & & 406-441 |NTYZ99/TV NP LAEBIRFAX FHE1E 14 74 19,800 = 21,800 - = - - = - - = -
6R1H 534 BL & & 406-442 |NTYZ99/TV AA-FLAE EHRFAX FH#1 8 #4E=7 00— | 19,800 = 21,800 - = - - = - - = -
5A1H 535 ' BiL & & 892-737 |N'T1Y=yH/MC-G220-S A H#ENY) 108X A /AMCI3K-CA0 1,800 = 1,700 - = - - = - - = -
581H 535 EILE & 613-255 | A 31 /3 KN "yH/SP-15C 2070 = 1933 - = - - = - - = -
5A1H 535 ' BiL & & 892-737 |N'T1Y=yH/MC-G220-S 3 HAENY) 108X A /AMCI3K-CAO 1,800 = 1,700 - = - - = - - = -
581H 535 BLE & 622-541 | A 3L/ E#EHAY)—+—-/CV-GI5K 28,380 = 27,380 - = - - = - - = -
5818 535 ' BiL & & 613-255 | B 3L/3 ¥ FAHEN "y /SP-15C 2,070 = 1933 - = - - = - - = -
581H 535 | B L5 & 892-737 |IN1Y=yH/MC-G220-S A #AkNy) 108 A /AMCI3K-CAO 1,800 = 1,700 - = - - = - - = -
5818 535 B & 637-652 | A1T v/Wet8Dry/!)—F—/SAV-110R 18,850 = 18,800 - = - - = - - = -
581H 536 EILE & 178-452 |74YAX=¥/AT4999)—F— fELMETH Abn'y)/FDPAG1414 445 = 397 - = - - = - - = -
5818 536 | B8 & 192-716 | =B/ M vI=R))—F-/TC-SXG1-A 10,920 = 9,980 - = - - = - - = -
6818 536 EILE & 622-542 | B3L/9")=YN'y9749—/GP-T5F 524 = 567 - = - - = - - = -
5818 537 BiL & & 892-737 |N'+Y=yH/MC-G220-S A3 H#ENY) 108 A /AMCI3K-CAO 1,800 = 1,700 - = - - = - - = -
6818 537 BILE & 622-542 | B3L/9")=YN'y974 49—/ GP-T5F 524 = 567 - = - - = - - = -
5818 537 BiL & & 613-255 | B 3L/ FAHEN"YH/SP-15C 2070 = 1933 - = - - = - - = -
581H 539 | EL & & 177-976 |t -IBEER T E/EBKEH vk 2.2L/WMJ-22 6,273 = 5980 - = - - = - - = -
5818 539 ' EiL & & 177-977 e -IBEER T ¥/ BB SEH vb 3.0L/WMJI-30 6,463 = 6,380 - = - - = - - = -
681H 540 BLE & 117-399 |HL/ME'—) A—1V—59F 904V/SX904V 3,868 = 4,180 - = - - = - - = -
6818 540 EILH G 674-958 |BL/PE'—) A—N'=R1L/SXT703T 2171 = 2360 - = - - = - - = -
681H 540 BLE & 631-543 |HL/bLE—=/ htyT4 ZHA-M)yY /MKC.XJ 3390 = 4440 - = - - = - - = -
6818 540 EILE S 596-631 |BL/E'—/ Y74 3HA—F)yY /MKC.MXJ 2296 = 2480 - = - - = - - = -
681H 540 BLE & 674-959 |ERL/ot’=/ htyT4 KiA-FM)yY 2{E tyh/MKC.MX2J 3,886 = 4480 - = - - = - - = -
6818 540 EILE S 631-542 |BL/bE'—/ hEyT4 A1)y /MKC.NTJ 3219 = 3980 - = - - = - - = -
6H1H 540 BB & 596-632 |EL/boE'=/ hty T4 K#h—M)yY' /MKC.TJ 1,833 = 1,980 - = - - = - - = -
6818 540 'BiL & & 631-541 |BL/bE'—/ hEyT4 HH-F)yy 2{8/MKC.T2J 2829 = 3480 - = - - = - - = -
681H 540 EILE & 659-674 | L/ =/htyT4V)-R 1EF-BYKREMT 1{EA/MKCJ 1,886 = 1,980 - = - - = - - = -
6818 540 'BiL & & 674-960 |BL/bLE—/ hEyT4 HA—F)yY 2{@tyb/MKC.2J 3,124 = 3680 - = - - = - - = -
6H1H 540 EBLE R 596-633 |BL/Mt'=) A-nN"=VY=R" K#h—M)yY'/STC.VJ 2296 = 2680 - = - - = - - = -
6818 540 'BL & & 674-961 |FEL/PLE=/ A=-=YY=R" K#h—M)yY 2{B£yb/STC.V2J 3,790 = 4680 - = - - = - - = -
6H1H 540 EBALE R 596-634 |BL/ME=) A-N=V-R" Z#h—p)yY /STC.TI 1,833 = 1,980 - = - - = - - = -
6818 540 'BL & & 631-544 |FL/E'=/ A=-W=Y)-RA" K #h—M)yY" 2{8/STC.T2J 2,838 = 3280 - = - - = - - = -
6H1H 540 EBALE R 674-962 |BL/Mt=) A=nN"=V=R" Z#h—p)yy 2{@yb/STC.2J 2980 = 3780 - = - - = - - = -
6818 540 'BL & & 596-625 |BL/LE"—/ K'yhE/PT502SV 2,759 = 2980 - = - - = - - = -
5818 540 ELE & 596-626 |FL/bLE—/ K’y E/PT304SV 2759 = 2680 - = - - = - - = -
5818 540 'BiL & & 596-627 |BL/LE—/ K'yhE/PT302SV 2,759 = 2680 - = - - = - - = -
5818 540 LB & 596-629 |EL/bLE=/ K’y B /PT305SV 2759 = 2280 - = - - = - - = -
6818 540 ' BL & & 117-401 |ERL/bE=/ £9bE PT302F/PT302F 1,896 = 2,080 - = - - = - - = -
5A1H 540 BL A& 666-971 |BL/ot'—/ K’y 8 THA-—M)yY BEREMT 1,880 = 1,780 - = - - = - - = -
5A1H 540 T & 666-972 | L/ =/ YR HA-MyY ER K472 APTC.SV2J 3407 = 3280 - = - - = - - = -
681H 540 BL A& 596-635 |HL/ot’—/ K’y 8 RHH—H)yY'/PTC.FJ 970 = 1,280 - = - - = - - = -
6A1H 540 EILE & 596-636 |BHL/bE—/ &'y FHA—F)yY 3{E+Ly/PTC.F3J 2574 = 2880 - = - - = - - = -
6818 540 'BiL & & 190-720 |78 N0/ 2408%=7" KI4bT1-1/317488 2,680 = 2980 - = - - = - - = -
6A1H 540 EILE & 190-719 |74 %N'Y/740&3 = W=7)l,/320059 1,780 = 1,980 - = - - = - - = -
6818 540 'BiL & & 190-717 |78 %'y/ 74083 — £70%/320058 1,780 = 1,980 - = - - = - - = -
6A1H 540 EILE & 190-716 |73 %n'0/740&3 = 7'1L—/320056 1,780 = 1,980 - = - - = - - = -
6818 540 'BIL & & 190-718 |78 v/ 74083 — 344/320057 1,780 = 1,980 - = - - = - - = -
6A1H 540 EILE & 596-244 |7)4% v\'V/BRITA V497 A 744—h—MyY 2,667 = 2980 - = - - = - - = -
6H1H 540 EILE & 192-353 |7°W4% v y/IYANGTT R4 8—h—M)yY" 118 A /334750 1470 = 1,480 - = - - = - - = -
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6818 540 ' BiL & & 192-354 |7°V4% v V/I9AR57° 5240 8—h—b)yY 2{8 A /334751 2,760 = 2780 - = - - = - - = -
681H 540 BLE & 192-355 |7°W4% v Y/I9ANGTT R4V a—h—M)yY" 3{E A /334752 3600 = 3680 - = - - = - - = -
6A1H 540 | E L& 190-721 |74 ¥NY/I4YRT (A9 740 3—h—+)vY 3{E /317481 1,740 = 1,980 - = - - = - - = -
681H 540 EILH A 620-421 | =21 43/9)sA{ CPSYY-R’/CSP701 6,926 = 7980 - = - - = - - = -
6818 540 B & 659-497 | =21 13/9JUR1 CSPYY—-R’/CSP601-SV 6,000 = 6,980 - = - - = - - = -
681H 540 EILH & 659-498 | =L 430/9)UA1 MONOYY—R"/MD201-WT 4426 = 4980 - = - - = - - = -
6818 540 B & 597-145 | =L 43Y/4)vA4 MONOYY—A"/MD301-WT 5815 = 6,280 - = - - = - - = -
681H 540 EILH & 597-146 | =L 43/9JUA1 MONOYY—R"/MD101-NC 3685 = 4280 - = - - = - - = -
6818 540 B & 597-147 | =L 430/9)224 MONOYY—A"/MD103-NW 2481 = 2680 - = - - = - - = -
681H 540 ELH A 597-148 | =&L43v/4)vA1 CBY!)—A'/CB073-WT 2,296 = 2680 - = - - = - - = -
681H 540 EILELS 659-499 | =ELAIV/Y)UARL VU7 Vi%IKER/CBO13-WT 2111 = 2280 - = - - = - - = -
681H 540 ELH G 616-015 | =L 43/029) A4 XAy /HGCY 2,759 = 3280 - = - - = - - = -
681H 540 BLEL S 659-508 | =ZELM3V/CSPYY-R" &KEFh—+)yy 2{8/HGCISW 5,167 = 50980 - = - - = - - = -
6R1H 540 L& & 892-962 | = EL43AV/ B IKERIIVAMFN—M)yY /HGC1S 2269 = 2680 - = - - = - - = -
681H 540 BLEL S 675-355 | = ZELM3V/CSPYY—A A HKEH—1)yy 2{8/HGCISW 3963 = 4480 - = - - = - - = -
6818 540 EILE & 659-505 | =EL{3V/MONOYI-R" % KEFK#h—M)yy /MDCO1S 2,667 = 2980 - = - - = - - = -
681H 540 EILELS 659-506 | =ZELM3V/MONOY-R" 4 KERKZHA—M)yY 2{8/MDCOISW | 4,704 = 5480 - = - - = - - = -
681H 540 ELH A 675-356 | =ELAIV/PIVAM1E/VY-R" FKEFN—M)yY 2{8/MDCO3SW 2,639 = 3280 - = - - = - - = -
6818 540 EILH G 662-568 | = EL43/9)v A1 FAh—)yy CBCO3W 2{&E/CBCO3W 2,667 = 3280 - = - - = - - = -
6R1H 540 L& & 620-413 | = ELM3v/K vy S IKER §YVR4/CPO15 2944 = 3480 - = - - = - - = -
6818 540 BALELR 622-339 | =ELAIV/ 9V AR YN R Hh— 1)y '/ CPCSW-NW 2,759 = 3280 - = - - = - - = -
6818 540 EILE & 659-507 | = ELAIV/TIH)K MBS 5ok RS KHA—M)yY 2B A/CPCTW | 3,705 = 4,480 - = - - = - - = -
6H1H 540 'BiL & & 681-295 |NT1Y=vy/ZHRAH—M)yY'/TK-CJ01CT 4076 = 4,280 - = - - = - - = -
6R1H 540 'BiL & & 681-290 | FY=yy/RHAN—M)yY /TK-CJ21C1 4943 = 5280 - = - - = - - = -
6A1H 540 'BiL & & 596-455 |NTY=vh/K MBIz 7K 3] B/TK-CP11-W 3222 = 3480 - = - - = - - = -
6R1H 540 'BiL & & 596-454 |NTYZyh /Ry BRI i% KSR B/ TK-CP21-W 3685 = 3980 - = - - = - - = -
6818 540 'BiL & & 596-453 |V TY=vh/K MBIz RN IKER B/TK-CP40-W 3963 = 4280 - = - - = - - = -
6R1H 540 'BiL & & 596-460 |NTYZyh /Ky B IKER H—F)yY 2{8/TK-CP21C2 3315 = 3580 - = - - = - - = -
6A1H 540 'BL & & 596-458 | TY=vh/ Ky B HoKER h—b)yY 2{E/TK-CP12C2 2,759 = 2980 - = - - = - - = -
5A1H 541 FEERATAT 695-567 |Y=—/FK rybt’yb TV)-A =3E447° 16GB VIn'—/USM16GT S | 3,380 = 3,180 - = - - = - - = -
5A1H 541 FEERATAT 695-568 |Y=—/KybE'yb TVY-R"B3E 447" 16GB I'—ILF/USMI6GT N | 3,380 = 3,180 - = - - = - - = -
5A1H 541 FEERATAT 695-569 |Y=—/K rybt’yb TV -2 EiE447 16GB 7' )b—/USM16GT L 3380 = 3,180 - = - - = - - = -
5A1H 541 FEERATAT 695-570 |Y=—/Krybt’yb TV -2 EE547° 16GB £9/USM16GT P 3380 = 3,180 - = - - = - - = -
5A1H 541 FEERATAT 695-571 |Y=—/FK rybt'yb TV)-A =3E447° 32GB VIln'—/USM32GT S | 5880 = 5380 - = - - = - - = -
5A1H 541 FEERATAT 695-572 |Y=—/KybE'yb TVY-R"B3E 447" 32GB I —IbF/USM32GT N | 5880 = 5380 - = - - = - - = -
5A1H 541 FEERATAT 695-573 |Y=—/K rybt’ybk TY)-R BEiE447" 32GB 7')b—/USM32GT L 5880 = 5380 - = - - = - - = -
5A1H 541 FEERATAT 695-575 |Y=—/Kfybt’yb TVY-R"EiE417° 32GB £'V)/USM32GT P 5880 = 5380 - = - - = - - = -
5A1H 541 FEERAT AT 695-576 |Y=—/HK"ybE’yh TVY-R " E3E 417" 64GB VIn'—/USMBAGT S | 9,880 = 8,880 - = - - = - - = -
5A1H 541 FEERATAT 695-577 |Y=—/FKrybt'yb TV -A"E=1ES17° 64GB 1)L+ /USMB4GT N | 9,880 = 8,880 - = - - = - - = -
5A1H 542 |FLERATAT 193-563 |Y=—/& rybt'vh RY)-A'8GB 7'59%/USMSGR B 1,980 = 1,880 - = - - = - - = -
5A1H 542 FEERATAT 193-564 |Y=—/Krybe’yh RYY-A'8GB #74F/USMBGR W 1,980 = 1,880 - = - - = - - = -
5A1H 542 FEERAT AT 193-565 |Y=—/&Fybt vk RYJ—Z'8GB £*V%/USM8GR P 1,980 = 1,880 - = - - = - - = -
5A1H 542 FEERATAT 193-566 |Y=—/Kybe’vh RYY-A"16GB 7'7v9/USM16GR B 2280 = 2180 - = - - = - - = -
5A1H 542 FEERAT AT 193-567 |Y=—/F4rybt"yk RYY—=R"16GB £74+/USM16GR W 2280 = 2180 - = - - = - - = -
5A1H 542 FEERATAT 193-568 |Y=—/Krybe'vh RYY-A"16GB £'»9/USM16GR P 2280 = 2180 - = - - = - - = -
5A1H 542 FEERAT AT 193-345 |Y=—/#K"rybtyk UYY-R" 8GB 7'79%/USMSGU B 2480 = 2380 - = 2,310 (2~) - = = - = =
5A1H 542 FEERATAT 193-347 |Y=—/#"rybE'vh UY)-R" 8GB 7')l—/USMSGU L 2480 = 2380 - = 2,310 (2~) - = = - = =
5A1H 542 FEERAT AT 193-346 |Y=—/#K"rybtyk UYY-R'8GB #74+/USMBGU W 2480 = 2380 - = 2,310 (2~) - = = - = =
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5A1H 542 |ELERATAT 193-348 |Y=—/F"ybt'yh UY)-R"8GB £V%/USM8GU P 2,480 = 2380 - = 2,310 2~) - = = - = =
5A1H 542 FEERATAT 193-569 |Y=—/Kfybe'vh UVY-R'8GB ¥'J—v/USM8GU G 2480 = 2380 - = 2,310 (2~) - = = - = =
5A1H 542 |ELERATAT 695-589 |Y=—/iKrybE’yk UYY—R" 16GB 7'79%/USM16GU B 2,880 = 2680 - = 2,598 (2~) - = = - = =
5A1H 542 FEERATAT 173-772 |Y=—/Krybe'vh UVY=R" 16GB 7')Ll—/USM16GU L 2,880 = 2680 - = 2,598 (2~) - = = - = =
5A1H 542 |ELERATAT 173-773 |Y=—/#K"rybEvk UYY-R" 16GB £74+/USM16GU W 2,880 = 2680 - = 2,598 (2~) - = = - = =
5A1H 542 FEERATAT 173-774 )=~/ rybe’vh UY)-Z" 16GB EVH/USM16GU P 2,880 = 2680 - = 2,598 (2~) - = = - = =
5A1H 542 |ELERATAT 194-231 |Y=—/F"rybE"yk UY)=R"16GB ¥')—>/USM16GU G 2,680 = 2680 - = 2,598 (2~) - = = - = =
5A1H 542 FEERATAT 695-590 |Y=—/&KfybE'yk UYY=R" 32GB 7'79%/USM32GU B 5180 = 4780 - = 4,638 (2~) - = = - = =
5818 542 |ELERATAT 193-351 |Y=—/#"rybt"vh UY)-Z'32GB 7' —/USM32GU L 4980 = 4780 - = 4,638 (2~) - = = - = =
5A1H 542 FEERATAT 193-349 |Y=—/#K"rybt vk UYY-2"32GB £74b/USM32GU W 4980 = 4780 - = 4,638 (2~) - = = - = =
5A1H 542 FEERAT AT 193-350 |Y=—/#"rybt'wh UY)-2'32GB £'v4/USM32GU P 4980 = 4780 - = 4,638 (2~) - = = - = =
5A1H 542 FEERATAT 194-232 |Y=—/#&"rybt’vh UY)=-Z'32GB ¥1)—»/USM32GU G 4980 = 4780 - = 4,638 (2~) - = = - = =
6A1H 542 FEERAT AT 194-233 |Y=—/#"rybtvh UYY-R'64GB £74+/USMEAGU W 7,800 = 8,800 - = - - = - - = -
6R1H 542 FEERATAT 194-234 |Y=—/Kfybe'vh UVY-R'64GB £E'v9/USM64GU P 7,800 = 8,800 - = - - = - - = -
6A1H 542 FEERAT AT 193-343 |Y=—/#"rybtvh UYY—-R"128GB K£74+/USM128GU W 12,980 = 14,000 - = - - = - - = -
581H 542 FEERATAT 193-344 |Y=—/Kfrybe'vhUY)—R'8GB X 3BN'y)/USM8GU 3C 7,280 = 6,880 - = 6,740 (2~) - = = - = =
5A1H 542 FEERAT AT 197-669 |Y=—/#"rybtvbUYY-2"16GB 3£2/USM16GU 3C 7,740 = 1,740 - = 7,440 (2~) - = = - = =
5A1H 542 FEERATAT 121-217 |ILAA/USB3.0N—F)1TREE{LUSBAEY 4GB 7794 5741 = 5728 - = - - = - - = -
5A1H 542 FEERAT AT 121-218 |ILaA/USB3.0N—F 1TSS {EUSBAEY 8GB 7794 9074 = 8,692 - = - - = - - = -
5A1H 544 FEERATAT 663-212 |4Y747°54/microSD7 4% 7"4/ADR-MICROK 409 = 381 - = - - = - - = -
5A1H 544 FEERAT AT 588-139 |N'1Y=9%/microSDHCAE!)—h—F UHS-IxtiE 4GB 2076 = 2070 - = - - = - - = -
5A1H 544 FEERATAT 588-140 |N'TY=94/microSDHCAEY—H—F UHS-Ixt i 8GB 2,743 = 2660 - = - - = - - = -
5A1H 544 FEERATAT 183-523 |N'FY=v4/16GB microSDHC UHS-Ih—F /RP-SMGB16GJK 4600 = 4500 - = - - = - - = -
5A18 544 FEERAT AT 614-798 |=—/LTO3T —4A—F)y>'/LTX400GR 4039 = 3990 - = - - = - - = -
6A1H 545 FEERAT AT 624-041 |)=—/CD-RW700MB 10mm7°7 5%t/5CDRW700D 679 = 880 - = - - = - - = -
5A18 545 FEERAT AT 595-065 |Y/=—/7 —4FACD-R 700MB 48{%;& 20%1/20CDQ8ODPWA 1,313 = 1,298 - = - - = - - = -
6A1H 545 FEERATAT 925-383 |Y=—/7 —43FCD-R 700MB 48% 3% 204% X 61\'y4 6,463 = 6,720 - = - - = - - = -
5A1H 546 FEERAT AT 183-525 |WFY=yh/ SR B FA6FEE W—L1T 1A R E1/E25GB104K 1,821 = 1,700 - = - - = - - = -
5A1H 547 FEERATAT 673-873 |Y=—/T—43FADVD-R 4.7GB 1~ 16%1%E 508 At UM ILIr—2 1,804 = 1,787 1,705 (6~) = 1,693 (6~) - = = - = =
5A1H 547 FEERATAT 624-053 |G)Y=—/7 —4FDVD-R 5mm7°35—Z 104*10/n"y9/10DMR4THPA | 7,495 = 7,429 - = - - = - - = -
6A1H 551|PCRA & - Bl 125 | 925-292 |ILIL/USBNT {F70%—1"—F 7°599/TK-TCM012BK/RS 1,680 = 1,780 1,480 (5~) = 1,480 (5~) - = = - = =
681H 551|PCF & - Bl iD#E2% | 670-147 |TLAL/USBN7 fFETUE—K -} YIin'—/TK-TCM012SV.~RS 1680 = 1,780 1,480 (5~) = 1,480 (5~) - = = - = =
5A1H 552 |PCF M - Bl i0#EES | 173-745 |HU74 734 /1B RFEYANAMTYIANYE 7°599/MPD-MUINBK | 1,400 = 1,286 - = - - = - - = -
5A1H 552 |PCFH & - B 04458 | 173-746 Y747 54/ 1B RFEYANAMTYIAN YN 7' L—/MPD-MUINBL | 1,400 = 1,286 - = - - = - - = -
5A1H 552 |PCFH & - B 04488 | 173-747 |HV747°34 /1B R FEYANAMTIIAN YN T40LyR /MPD-MUINWR | 1,400 = 1,286 - = - - = - - = -
5818 552 | PCHf - EliB#E2s | 672-630 |ILIL/YAMAPITANYE COMFY(hY74-) 7°799/MP-114BK | 1,096 = 933 - = - - = - - = -
5A1H 553 PCHAf - Bl3B#ERR | 173-742 |4U9%47'54/88 5 74¥VA7 W—LEDYIA5%K 4y 7°599/MA-WBL33BK | 2,280 = 2,180 - = - - = - - = -
51H 553 PCHAf - BliB#EER | 173-743 |HU7947°534/88 B 71YVAZ W —LEDV)R 544V Lyb /MA-WBL33R| 2,280 = 2,180 - = - - = - - = -
5A1H 553 PCHAf - Bl B#ERR | 173-744 |4U7%7'54/88F74¥VA7 W—LEDYR 584y YIbn'—/MA-WBL33S | 2,280 = 2,180 - = - - = - - = -
6818 553 |PCHA & - [B 04435 | 582-583 |ILaL/BlueLEDYYA 71¥L A 3#'4Y 7')l—/M-BL20DBBU 1,480 = 1580 - = - - = - - = -
6818 553 | PCFH & - JE 04425 | 582-584 |ILaL/BlueLEDYYA 74¥LA 3ik'4Y 4)—v/M-BL20DBGN 1480 = 1580 - = - - = - - = -
681H 553 | PCFHA & - B3 0#4%%% | 582-585 |ILaL/BlueLEDVIA 74¥LA 34V £°v)/M-BL20DBPN 1480 = 1580 - = - - = - - = -
6818 553 |PCFH & - JE 044355 | 582-586 |ILaL/BlueLEDYYA 71¥L2R 34y Ybiv'—/M-BL20DBSV 1480 = 1580 - = - - = - - = -
681H 553 | PCFA & - B3 0#4%%% | 582-587 |ILaL/BlueLEDV7IA 74¥LA 3iK'4Y 7°390/M-BL20DBBR 1,480 = 1,580 - = - - = - - = -
6818 553 | PCFH & - JE 04425 | 582-589 |ILaL/BlueLEDYYA 74¥LR 3ik'4Y 1LYy /M-BL20DBDR 1480 = 1580 - = - - = - - = -
5A18 554 PCFA & - [ 38435 | 584-806 |%#7%7°31/71%LABlueLEDY%)A 7'79% /MA-WBL26BK 2,680 = 2470 - = - - = - - = -
5A1H 554 |PCFH & - JE 04425 | 584-807 |4V747°74/74%VABlueLEDYYR 7599 X Ly} /MA-WBL26BKR | 2,680 = 2470 - = - - = - - = -
51H 554 PCFH & - [ 38435 | 584-809 |#Y7%7°51/74%¥LABlueLEDV)A #4£'=/MA-WBL26NV 2,680 = 2470 - = - - = - - = -
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5818 554 PCFA & - [ iA8438 | 584-810 |#Y7%7°34/71%LABlueLEDY%)A Lyb/MA-WBL26R 2,680 = 2470 - = - - = - - = -
5A1H 554 PCH & - B3 | 925-311 |TILAL/L—Y4—V9R HH#R 354V 7'799/M-S2ULBK/RS 1,680 = 1,280 - = - - = - - = -
581H 554 PCHIf - BiB#EES | 925-312 |TLaL/L—4% -9 B 34 £74F/M-S2ULWH/RS 1,680 = 1,280 - = - - = - - = -
581H 556 |PCFH & - B 0#%8 | 581-776 |YUI47°54/7 L34 My RSB IFREINL 10.140F 21711 = 1997 - = - - = - - = -
5A1H 556 PCFA& - BA8EER | 581-777 |¥VI47°34/7 =AMy bk R IRET VA 11.640F74F 2552 = 2337 - = - - = - - = -
581H 556 |PCFH & - B 0#%8 | 581-779 |YUI47°54/7 -4 My bR B IFREIN L 13.340F M 3314 = 3048 - = - - = - - = -
5A1H 556 PCFA & - B A8E3s | 581-780 |¥Y947°34/7 =AMy bk R IREET VA 14.010F74F 3390 = 3126 - = - - = - - = -
581H 556 |PCFH & - 0425 | 581-781 |YUI47°54/7 34 My bR B IFREINL 15.640F M 3695 = 3388 - = - - = - - = -
5A1H 556 PCHA & - B384 | 684-247 |%¥Y7947°34/INFhn' =TI N WA IL—/SD-93 1,080 = 1,050 - = - - = - - = -
581H 557 PCHH & - BB #EES | 173-385 |GIN'yI7A—/)V9RT—Yay #9b7—9%tRHDD 2TB/LS210D0201C | 20,600 = 17,700 - = - - = - - = -
5A1H 560 PCFH & - [EliDHERR | 134-886 |ILIL/Gigaxt[ER{yFV) N7’ 5K —F BIRSMIHER AT 7599 3480 = 2970 - = - - = - - = -
581H 560 |PCFH & - B 04455 | 134-887 |ILaL/GigaX IS A{yFoy n7' 5 —b BiBSMIHER T £74F 3480 = 2970 - = - - = - - = -
581H 560 PCH M- Eli#EaS | 173-389 |"\'9770—/10/100Mbps¥t it A19FY9 Hub 51—k £74k 3241 = 2970 - = - - = - - = -
581H 560 PCH & - [E08E28 | 920-819 |n'y770—/10/100MbpsXtis A{yFY9 Hub 8% =k w74k 3500 = 3370 - = - - = - - = -
581H 560 PCH M- Eli#aS | 113-862 |N'y770—/Giga® i RAM9FV) V7" 161 —h/LSW4-GT-16NSR 19,800 = 17,740 - = - - = - - = -
5818 561 |PCH - A iD#2S | 636-629 |ILIL/BEANTIY—6 LANT—7 )L100m7 L—/LD-CT6/BUT100RS | 6,170 = 5684 - = = - = = - = =
581H 561|PCH & - EliD#EaR | 648-011 |ILILA/BYEAATIY-6 LANT—7')L 100m 74 L— 6,170 = 5684 - = - - = - - = -
581H 561 |PCH& - 04455 | 648-012 |ILaL/BEANTIY-6 LANS—7') 300m 7' — 16,943 = 15,040 - = - - = - - = -
51H 562 |PCH & - B 0435 | 111-945 |47%7°34/hT37Y6779M =7k 3m 7°599/KB-FL6-03BKN 820 = 809 - = - - = - - = -
5A1H 562 PCHH & - [ DHEES | 111-950 |¥v7%7754/4737Y677yM—7')b 3m 54+7°)b—/KB-FL6-03LBN 820 = 809 - = - - = - - = -
51H 562 PCHIf - BB#EES | 173-395 |%U747°54/HT3JILANT=7 L(5m-#4E'=7')L—)/KB-T7-05NVN | 4589 = 4220 - = - - = - - = -
5A1H 562 |PCFH & - B 0#%8 | 173-396 |4747°54/hT3YTILANT =7 L(5m K74 })/KB-T7-05WN 4589 = 4220 - = - - = - - = -
581H 562 PCH & - [E0%28 | 173-397 |4U7%7°34/hT3ILANS =7 L(10m- #4E'=7"),—)/KB-T7-10NVN | 7,649 = 7,034 - = - - = - - = -
581H 562 |PCFH & - B 04458 | 173-398 |4747°54/ATTYILANT—=7" L(10m - £74F)/KB-T7-10WN 7649 = 7034 - = - - = - - = -
5A1H 562 PCHf - BlB#EES | 173-399 |4U747°34/h73ILANT =7 W (20m- #4E" =7 Ib—)/KB-T7-20NVN | 12,778 = 11,880 - = - - = - - = -
581H 562 |PCFH & - B 04458 | 173-400 |4747°54/HT3YTLANT—=7 I (20m - £74F)/KB-T7-20WN 12,778 = 11,880 - = - - = - - = -
5818 569 |PCFH & - B 04435 | 697-197 |APC/Smart-UPS/SMT500J 37,938 = 34,800 - = - - = - - = -
6A1H 572\ PCH & - BiA%E3s | 178-279 | #Y7%7°34/174 29—~(131447") 530ml/CD-32ECON 796 = 880 - = - - = - - = -
6A1H 572\ PCHA& - [ A%E3S | 178-280 |¥V7%7°34/I74 R29—(13447") 530ml X 274/CD-32SETN 1,248 = 1,480 - = 1,280 (3~) - = = - = =
6818 572 |PCHA & - [E04%35 | 630-720 |G)ILaL//Y70Y & A+7°07—ECO 350mI/AD-ECOM 498 = 598 - = - - = - - = -
6818 572 | PCHIf - B B#2% | 606-809 |G)ILaL//y78y %' A+7'A7—ECO 350ml 2K +y+/AD-ECOMW 948 = 1,140 - = - - = - - = -
6818 572 |PCH & - [Bi0#458 | 606-814 |G)ILaL//Y78y 4 A+7'07—ECO 350m| 3&+ty+/AD-ECOMT 1,380 = 1,640 1,130 3~) = 1,480 (2~4) - = 1,280 (5~) - = -
5A1H 573 | B 134-933 |393/L—% -k’ {U%— GREEN A'V447"- A'—L/ELP-G25 19,980 = 17,900 - = - - = - - = -
5A1H 574| AR 668-594 |193/PC7'Lt Uik’ {/4—<I7E'=L>/ELA-P1 15200 = 14,075 - = - - = - - = -
5A1H 574 | BT 623-677 |293/74v8 =7t V4—(kokuyoseki)/ELA-FP1 4181 = 3,780 - = - - = - - = -
5A1H 575| B AR 192-701 |7AH/90RAybaby3’~ £74+/BO3W 6,400 = 4980 - = - - = - - = -
5A1H 575 | BT 192-700 |7AH/9BARY b 2Ly = §1)-»/B03G 6,400 = 4980 - = - - = - - = -
5818 576 | EI5HLSS 921-667 |73-7' VA" -V v v/ Yabyb YA—31SX/GSH31SX 28,000 = 26,500 - = - - = - - = -
5A1H 576 | BT 921-668 |731-7°7VR" ¥ vn"Y/Yabyh'IR4—34HN33SM/GSH33SM 29,500 = 28,500 - = - - = - - = -
5A1H 576 | EFEHERS 928-864 |G)7IA—R V4N U/T AGHAE Yabyi'— 84Ci-2 35,650 = 32,500 - = - - = - - = -
6A1H 577 | B 928-866 |G)TAYARE—¥¥/4724AVaby¥ —/BU15 29,800 = 29,900 - = - - = - - = -
581H 577 | B4 921-669 |73-7'5VR" ¥ en'v/Yabyb' IR4—35SX/GSH35SX 48,000 = 37,800 - = - - = - - = -
6A1H 578 | EF5MER 177-882 |G)7:0—-A"/7°07zy¥athyalby4 —/99MCs—2 48,000 = 53,900 - = - - = - - = -
581H 592 |E MR 431-550 |¥v9'Y ' L/77'FPROFACT 478 A4KAEI+av 1V MEl/AS1527J 5000 = 3791 - = - - = - - = -
5A1H 592 | B MR 740-997 |9V L/ACTH 7°4/AC0615J 2080 = 1886 - = - - = - - = -
581H 603 | EF5Hs 733-941 |Forestway/73%—b74L.AA4 100 4 1004% 1219 = 1219 - = 1,123 (2~) - = = - = =
5818 603 | B 743-013 |Forestway/73#—F24)VAA3 100 4 100%% 1,790 = 1,790 - = 1,742 (2~) - = - - = -
681H 603 | EF5Hs 743-247 |Forestway/73%—b74VAA4 100 4 1004K X 5%8 4757 = 5100 - = - - = - - = -
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6818 603 | EF5Hae 743-139 |Forestway/73%—b74VAA3 100 4 1004K X 5%8 8,400 = 8470 - = - - = - - = -
681H 604 | EF5MEER 671-658 |7AYAT—¥¥/33%—F74b A FFEIYYI447° B5 1003900 100%% 1,314 = 1,480 - = - - = - - = -
6818 604 |EF5He 671-659 |FAYAE—¥V/F3%—b24VA FEIyMA7 A4 100340V 1004k 1885 = 2280 - = - - = - - = -
681H 604 | B 671-660 |7AYAZT—¥¥/33%—F74b A FFEIYYI447° B4 1003900 100%% 2,695 = 2880 - = - - = - - = -
6818 604 |EF5He 671-662 |FAYAET—¥¥/F3%—b24VA FEIyMA7 A3 100340y 1004k 3600 = 4280 - = - - = - - = -
581H 605 | B F5HERR 167-122 |71A—A"/474273%—%— Venus2 Plus A3 45,000 = 39,800 - = - - = - - = -
6818 605 | B FEMEE 190-560 |74JA4—¥V/4R0-F-734%—9— K74b VIb'—/LFA34AR 6,980 = 8280 - = - - = - - = -
6R1H 606 | B F5HER 620-880 |74 AX—¥V/33%—9—/LFA341D 13,143 = 14,800 - = - - = - - = -
5818 606 | EF5HLae 167-123 |71A—2'/474{A73%—4— Vega3i A3 24800 = 23,000 - = - - = - - = -
5A1H 606 | BT 177-894 |G)7:A—-A"/A3®} i 734—%— Jupiter Plus A3/5739801 29,000 = 27,000 - = - - = - - = -
581H 606 | EF5AEER 685-348 |7AYAT—¥Y/A3T4 M %5734 —4—/LFA342S 17577 = 13,800 - = - - = - - = -
581H 606 | E F5HER 173-455 |73-7°3YA"- Y vN'v/71—Y"3Y 5000L A3/GLMFS5000L3 25800 = 23,800 - = - - = - - = -
581H 606 | E 5 928-877 |7AYAT—¥V/E AN —R2WAYF3%—4— A4/E42LTW 7,120 = 6,380 - = - - = - - = -
581H 606 | F5H AR 173-454 |72-7'7VR" -V 9N y/N9F73%—4— C323V/GLMC323V 9250 = 8,_800 - = - - = - - = -
581H 607 | ET5HLES 620-852 |GV /AIEEHFES/DS-12WT-N 5690 = 5590 - = - - = - - = -
5A1H 607 | B 689-025 |G)hvA/ABEFRE SR 1241 ¥ vAMA7 F5/JS-201SK-RD-N 8075 = 7980 - = - - = - - = -
5818 607 |EF5HLe 689-026 |G)ht/REEHTEE 1241 V' vAMA7 £/JS-201SK-BK-N 8075 = 7980 - = - - = - - = -
581H 608 | BT 127-011 |$¥/u/EY % AEE KS-1220TU-BK 7°574/0932C001 3222 = 2780 - = - - = - - = -
5A1H 608 | E MR 127-012 |%%¥/v/EY %A B E KS-1220TU-WH #74}+/0932C002 3222 = 2780 - = - - = - - = -
581H 608 | BT 127-013 |$¥/u/E'Y % AEE KS-1220TU-RD Ly}+'/0932C004 3222 = 2780 - = - - = - - = -
5A1H 608 | E MR 127-014 |%/v/E'Y % AEE KS-1220TU-SL VIlin'—/0932C003 3222 = 2780 - = - - = - - = -
581H 612| B 178-281 |Y=—/ATL#ICLI-4-4GB 7'7v9/ICD-UX560F /B 12613 = 11,880 - = - - = - - = -
5818 612 EF5HER 178-282 |Y=—/A7LAICLI-#—4GB Y)lin'—/ICD-UX560F/S 12,613 = 11,880 - = - - = - - = -
5A1H 612| EFEHER 178-283 |Y=—/ATL#ICLI-4—8GB 7'7v9/ICD-UX565F/B 15800 = 14,880 - = - - = - - = -
5A1H 612 | B 178-284 |Y=—/ATLAICLI—%—8GB VIl.,n'—/ICD-UX565F/S 15800 = 14,880 - = - - = - - = -
5A1H 612| EFEHER 607-472 |Y)=—/ATL#*ICLA—4—/ICD-PX470F B 7980 = 7,880 - = - - = - - = -
6A1H 612 | B 585-167 |)=—/+%)—h—FLa-4"—/ICD-LX31 9075 = 9,864 - = - - = - - = -
5A1H 612| AR 192-569 V9V L/7'%' =K' - £/BB-1GX/0 3480 = 3280 - = - - = - - = -
5A1H 612 | B 192-568 |9V Lh/7' ¥ K-} FH/BB-1GX71 3480 = 3280 - = - - = - - = -
5A1H 612| EFEHER 192-567 |09V /7% =K'=} £'v9/BB-1GXEY 3480 = 3280 - = - - = - - = -
6A1H 613 kF—-12Y 190-694 |I7Yv/IREEHEHEN — MPMR™ 7°599/LPC3T36KV 38,800 = 40,089 - = - - = - - = -
6A1H 613|bF—- 12 190-695 |I7"v/IRIEHESEM — MYMR" Y TFY/LPC3T36CV 33,800 = 34869 - = - - = - - = -
6A1H 613 kF—-129 190-696 |I7°Yv/IREEHEMEN — MPMR" ¥H V4/LPC3T36MV 33,800 = 34,869 - = - - = - - = -
6R1H 613 k—-4>% 190-697 |17°v/IRIEHEHEN— MYMR" {10—/LPC3T36YV 33,800 = 34,869 - = - - = - - = -
6A1H 613 kF—-129 671-834 | 177/ R&StiK1=yb/LPC3K15 23920 = 23920 23,442 (2~) = 23680 (2~) - = = - = =
6818 613/ F—-A12% 657-790 |177Y/BEM—K'v)A/LPC3H15 2634 = 2634 2581 2~) = 2,607 (2~) - = = - = =
6818 613 kF—-A12% 667-373 |17°YY/E&E1Zyb/LPC3TCU15 30,900 = 31,022 - = - - = - - = -
51H 613/ b F—- 1% 183-662 |I7YY/ETh—MyY 7°799 MYAR'/LPC3T33K 15,865 = 14,751 - = - - = - - = -
5818 613 kF—-A12% 183-661 |I7Yv/ETh—M)yY" Y7V M¥4A'/LPC3T33C 21,280 = 19,701 - = - - = - - = -
51H 613/ b F—- 1% 178-933 |I7YY/ETH-MyY 3€'U% M¥{R'/LPC3T33M 21,280 = 19,701 - = - - = - - = -
5818 613 kF—-A12% 183-663 |I17Yv/ETh—M)yY" 11A— M¥#4R"/LPC3T33Y 21,280 = 19,701 - = - - = - - = -
5A1H 613 k—-14>% 184-255 |17")v/IRIEHEEM— 7799 MP{R'/LPC3T33KV 12,730 = 11,871 - = - - = - - = -
5818 613 kF—-A12% 183-659 |17/ IRIBHEMEM— 779 MY4R™ 2{E A /LPC3T33KPV 21,090 = 19,602 - = - - = - - = -
5A1H 613/ b F—- 1% 184-252 |17°v/IRIEHESEN— V7Y MP{AR'/LPC3T33CV 16,990 = 15971 - = - - = - - = -
5818 613 kF—-A12% 183-658 |I7°Yv/IRIEHEMEN — V7Y MYMR" 2{ELA/LPC3T33CPV 28,500 = 26,533 - = - - = - - = -
5A1H 613/ b F—-12% 184-253 |17 V/IREEHEHEN — Y U8 MPMR'/LPC3T33MV 16,990 = 15971 - = - - = - - = -
5818 613 kF—-A12% 183-660 |17y /IRIEHEEN — YE' V8 MYAR" 2B A /LPC3T33MPV 28,500 = 26,533 - = - - = - - = -
5A1H 613 kF—-14>% 184-254 |17°)y/IRIBHESEN— /10— MH{R'/LPC3T33YV 16,990 = 15971 - = - - = - - = -
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5A1H 613 kF—-142% 138-298 |I7")y/BRiEHEEEN— 1I0— M¥MR" 2/ A/LPC3T33YPV 28,500 = 26,533 - = - - = - - = -
6R1H 613|bF—- 127 662-457 |177)v/RESAR1=yb H5—/LPC3K17 10,505 = 10,505 10,295 (2~) = 10,400 (2~) - = = - = =
6818 613|hF—- 129 662-456 |17°v/E&FAIZyIK 7599 F/LPC3K17K 10505 = 10,505 10,295 2~) = 10400 (2~) - = = - = =
6H1H 613/ b F—- 127 662-458 |177)0/BEb—k'v)A/LPC3H17 1,750 = 1,750 1,715 2~) = 1,732 (2~) - = - - = =
5A1H 613 k+—-14>% 178-519 |17°YY/ETM=h—F)yY" 7599 MY4R’/LPC3T35K 15961 = 15543 - = - - = - - = -
5818 613/ b F—- 127 178-520 |I7YY/ETh=h—Myy Y7V MR /LPC3T35C 17575 = 17,325 - = - - = - - = -
5A1H 613/ b F—-12% 178-521 |17°YY/ETh—h—)yy ¥£'V4 M#{R’/LPC3T35M 17575 = 17,325 - = - - = - - = -
5818 613/ b F—-12 % 178-522 |I7°YY/ETh=h—M)yy" 11A— MY{R'/LPC3T35Y 17575 = 17,325 - = - - = - - = -
5818 613|hF—- 12 178-523 |17°Y/IRIBHEHEN— 7799 MY#4R/LPC3T35KV 12,921 = 12,790 - = - - = - - = -
5A1H 613 kF—-A2% 178-527 |17/ BRIBEHEEM— 7799 MY4R™ 2{8 A /LPC3T35KPV 21471 = 20,790 - = - - = - - = -
5A1H 613 k+—-142% 178-524 |17°)y/IRIBHEHEN— YTV MY{R/LPC3T35CV 11,780 = 11,662 - = - - = - - = -
5A1H 613|hF—- 127 178-525 |17")v/IRIEHESEM— V2 V% MY4R/LPC3T35MV 11,780 = 11,662 - = - - = - - = -
5A1H 613|FF—-12% 178-526 |17°v/IRIEHEHEM — 11A— MY{R"/LPC3T35YV 11,780 = 11,662 - = - - = - - = -
6R1H 613|hF—- 127 662-457 |177)y/RESARI1=yb H5—/LPC3K17 10,505 = 10,505 10,295 (2~) = 10,400 (2~) - = = - = =
6818 613|bF—- 12 662-456 |17°V/E&FAIZYIK 7599 F/LPC3K17K 10,505 = 10,505 10,295 2~) = 10400 (2~) - = = - = =
6R1H 613|hF—- 127 662-458 |177)Y/BEM—K'v)A/LPC3H17 1,750 = 1,750 1,715 2~) = 1,732 (2~) - = = - = =
6818 614|bF—- 129 626-939 |I7°YV/BEFARIZYh vEVE/LPCAKIM 22,800 = 23,940 - = - - = - - = -
581H 614 bF—-A12% 664-527 |41 —/LPCA3T12K 8215 = 7335 - = - - = - - = -
5A1H 614k F—-427 620-751 |I7°YY/ETh—F)yY" 7°594 2{EA/LPCA3T12KP 19,609 = 19413 - = - - = - - = -
581H 614 bF—-A12% 662-459 |17"Y/ETh-F)yY" 7°59%/LPCA3T19K 6,648 = 6581 - = - - = - - = -
6A1H 614 b F—-A42% 620-745 |177)Y/ETh—b)yY" ¥T7v/LPCA3T11C 12,295 = 12295 12,049 2~) = 12171 (2~) - = = - = =
581H 614 bF—-A12% 620-749 |17°YY/ETh—M)yY" Y7U/LPCA3T12C 20,790 = 20,581 - = - - = - - = -
5A1H 614\ bF—-12 % 662-460 |I7°)Y/ETH—F)yy" ¥7v/LPCA3T19C 7,886 = 7,806 - = - - = - - = -
6R1H 614 \bF—-12% 620-746 |I77)/ETH—M)yY ¥£'U4/LPCA3IT1IM 12,295 = 12,295 12049 2~) = 12171 (2~) - = = - = =
5A1H 614\ bF—-12% 620-752 |I7°YU/ETh-H)yY 3£'U4/LPCA3T12M 20,790 = 20,581 - = - - = - - = -
5A1H 614 \bF—-12% 662-461 |17")/ETH—F)yy ¥£'U4/LPCA3ITI9M 7,886 = 7,806 - = - - = - - = -
6818 614 b F—- A% 620-747 |17°YY/ETh—b)yy" 410—/LPCA3T11Y 12,295 = 12295 12,049 (2~) = 12171 (2~) - = - - = -
581H 614 bF—- 4124 620-753 |17°YY/ETh—b)yY" 41A—/LPCA3T12Y 20,790 = 20,581 - = - - = - - = -
5A1H 614 kF—-1429 662-462 |17")/ETH—}F)yY" 4IA—/LPCA3T19Y 7886 = 7,806 - = - - = - - = -
6A1H 614 bF—-A42% 620-744 | 177/ REItARI=yb/LPCA3K9 28,020 = 28,020 27,460 2~) = 27,739 (2~) - = = - = =
5A1H 614 b F—-A12% 697-784 |177Y/ETh—F)y¥" YTV SH{R'/LPC3T20C 7591 = 7508 - = - - = - - = -
5A1H 614 \bF—-12% 697-785 |I7YU/ETh—M)yy ¥t V4 SH{R'/LPC3T20M 7591 = 7508 - = - - = - - = -
5818 614 kF—-A12% 697-786 |I7"YV/ETH—}F)yY 41IA— SH4R/LPC3T20Y 7591 = 7508 - = - - = - - = -
5A18 614|bF—-4279 697-790 |I7°YY/ETH—F)9Y 7799 MYAR 2ARn"y9/LPC3T21KP 23420 = 23,162 - = - - = - - = -
5A1H 614 kF—-A12% 697-787 |I7°YV/ETH—H)yY Y¥T7Y M¥4R/LPC3T21C 23591 = 23353 - = - - = - - = -
5A1H 614 \bF—-12% 697-791 |I7°YU/ETh—b)yy" ¥t V8 MR /LPC3T21M 23,591 = 23353 - = - - = - - = -
5818 614 b F—-A12% 697-792 |17°Y/ETH-F)yY 4IA— MH{R'/LPC3T21Y 23591 = 23353 - = - - = - - = -
6R1H 614|bF—-1279 620-744 | 177/ REItARI=yb/LPCA3K9 28,020 = 28,020 27460 2~) = 21,739 (2~) - . = - = =
6818 615 kF—-A12% 620-736 |I77YY/ETh—b)yY" 7°59%/LPC3T10K 15641 = 15641 15328 2~) = 15485 (2~) - = = - = =
6818 615 bF—-A12% 620-734 |177)/ETH-M)yY Y¥72/LPC3T10C 16,425 = 16,425 16,097 2~) = 16,261 (2~) - = = - = =
6818 615 kF—-A12% 620-738 |I7°YY/ETh—b)yY" It V4/LPC3T10M 16,425 = 16,425 16,097 (2~) = 16,261 (2~) - = = - = =
6818 615 kF—- 4124 620-741 |I7°YY/ETh—bM)y¥" 41A-/LPC3T10Y 16,425 = 16,425 16,097 2~) = 16,261 (2~) - = = - = =
5A1H 615k F—-1>% 620-731 |177)0/BESF{Ra=yyb 7°599/LPC3K10K 28,952 = 28572 - = - - = - - = -
5818 615 bF—-A12% 620-730 |177v/BE&FiRI=yMeyh ¥T7Y/LPC3K10C 30,520 = 30,119 - = - - = - - = -
5A1H 615k F—-1>% 620-732 | 177/ REStARIZy My TEY4/LPC3K10M 30,520 = 30,119 - = - - = - - = -
5A18 615 bF—-A12% 620-733 |177y/ RS4RI =y Myt 410—/LPC3K10Y 30,520 = 30,119 - = - - = - - = -
6A1H 615k F—-12% 648-578 |177)Y/LPC3K10KV/BEH A1y MHIRIBHEHEN—(T'799) 28,432 = 28,432 27,863 (2~) = 28147 (2~) - = = - = =
6818 615|hF—- 1% 648-579 |I7°YY/LPC3K10CV/BES iR 1y MIRIEHEHE M —(CTY) 29,970 = 29,970 293711 2~) = = - = = - = =
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6818 615|hF—- 129 648-580 |I7°Y/LPC3KIOMV/ BRIy HIRBHEEN -1 V) 29,970 = 29,970 293711 2~) = = - = = - = =
681H 615k F—- 1% 648-581 |177)Y/LPC3K10YV/REF A1y MIRIEHELE M —(110-) 29,970 = 29970 29371 2~) = - - = = - = =
5A1H 615 FF—-1>% 648-583 |I7°)V/LPC3T13KV/BIEHHEN—(7'799) 20981 = 20,282 - = - - = - - = -
6A1H 615 kF—-A12% 648-592 |I7°YY/LPC3T14KV/IRIEHAEN—(T'T9) 37,467 = 37,467 36,718 2~) = = - = = - = =
6A1H 615 b F—-12% 585-638 |I7"/ETH-b)yY Y72/LPC3T30C 9,959 = 10,324 - = - - = - - = -
681H 615 kF—-A12% 585-643 |I7"YY/ETh—b)yy" ¥ 7Y/LPC3T31C 21,780 = 22,096 - = - - = - - = -
6A1H 615 b F—-12% 585-640 |I7°YY/ETH—M)yY ¥£'V4/LPC3T30M 9,959 = 10,324 - = - - = - - = -
681H 615 kF—-A12% 585-644 |177/ETh—b)yY" It V4/LPC3T3IM 21,780 = 22,096 - = - - = - - = -
6818 615|bF—-q1% 585-641 |I7°YY/ETH—H)yY" 4IA—/LPC3T30Y 9959 = 10,324 - = - - = - - = -
6R1H 615/ bF—-12 % 585-645 |17"YV/ETh—M)yy" {1A—/LPC3T31Y 21,780 = 22,096 - = - - = - - = -
6818 615|hF—- 129 585-651 | 177/ IRIEHERENF— 7'599/LPC3T31KV 11,418 = 11,829 - = - - = - - = -
581H 615 bF—-A12% 585-655 | 177/ IRIEHEHE N — 7997 2K /LPC3T31KPV 20,543 = 18,800 - = - - = - - = -
6818 615|hF—- 129 585-647 | 177 /IRIEHEHE N~ ¥T7Y/LPC3T31CV 16,998 = 17,610 - = - - = - - = -
5A1H 615 b F—- 127 585-652 |177v/IRIEHEHE N — YTV 24K/LPC3T31CPV 27,698 = 25800 - = - - = - - = -
6A1H 615 k+—-1429 585-649 | 177/ IRIEHEHE M — V£ U9/LPC3T31IMV 16,998 = 17,610 - = - - = - - = -
5A1H 615 b F—- 127 585-653 | 177 /IRIBHEAEM— Y£' U 2K/LPC3T3IMPV 27,698 = 25800 - = - - = - - = -
6A1H 615 hF—-1>% 585-650 | 177/ IRIEHEHE M — {I0—/LPC3T31YV 16,998 = 17,610 - = - - = - - = -
581H 615 kF—-429 585-654 | 177 /IREEHEHENF— 110— 2K /LPC3T31YPV 27,698 = 25800 - = - - = - - = -
6818 615|hF—- 129 662-456 |17°V/ &A1=y 7599 F/LPC3K17K 10,505 = 10,505 10,295 2~) = 10400 (2~) - = = - = =
6R1H 615 b F—- 127 662-457 |177)y/RESAR1=yb H5—/LPC3K17 10,505 = 10,505 10,295 (2~) = 10,400 (2~) - = = - = =
6H1H 615 b F—-12% 662-458 |17°)v/BEM—k'y)R/LPC3H17 1,750 = 1,750 1,715 2~) = 1,732 (2~) - = = - = =
6H1H 615/ kF—-12% 817-956 |17°Yu/br=h—M)yy $IE/LPA4ETCT 7947 = 7960 - = - - = - - = -
6818 615 kF—-A42% 820-404 AR/ =h—M)yY ' /LPAAETCT 6,876 = 6,876 6,738 2~) = 6,800 (2~) - = = - = =
5A1H 615/ b F—- 127 684-350 |I17°YU/ETh—M)yy” MYAR" 7°399/LPB4T15 8,700 = 8617 - = - - = - - = -
5818 615 kF—-A12% 647-160 | AL F/LPBAT15 ETA—M)yY 8,077 = 7981 - = - - = - - = -
5A1H 615/ b F—- 127 684-349 |17°YU/ETh—H)yy" SHAR" 7'799/LPB4T14 3990 = 3950 - = - - = - - = -
5818 615 kF—-A12% 669-424 |17°YU/ETh—}F)yY /LPB4T12 13,680 = 13475 - = - - = - - = -
5A18 615 b F—- 129 450-662 |I7)v/LPBAT12VE /IRIEHEHE M — 10,609 = 10,505 - = - - = - - = -
6818 616/ bF—- 129 662-415 |Q)I7"V/IREEHEAEN— 7799 MP{R/LPCATIKV 8,778 = 9063 - = - - = - - = -
6R1H 616 k+—-4>% 662-416 |G)I7"V/IREHEAE N — Y7V MY(R'/LPC4TICV 10,458 = 10,458 10249 (2~) = 10,343 (2~) - = = - = =
6A1H 616 k+—-129 662-417 |Q)I7Yy/IREEHAEN— £ U8 MJ(R/LPCATIMV 10,458 = 10,458 10,249 2~) = 10,343 (2~) - = = - = =
6R1H 616 k+—-4>% 662-419 |G)I7"V/IRIEHE A — 11— MYP{R/LPCATTYV 10,458 = 10,458 10249 (2~) = 10,343 (2~) - = = - = =
6818 616 bF—- 129 662-428 | 177/ BEStAIzyh BBM—HKvIZA— 1K /LPC4K6 13,181 = 13,181 12917 (2~) = 13,048 (2~) - = = - = =
6R1H 616 b F—-12% 684-356 |17°U/ETh—M)yY" 7°799/LPCAT8K 8476 = 8476 8,306 (2~) = 8,391 (2~) - = = - = =
6818 616 kF—-A12% 684-353 |I7°YY/ETh—F)y¥" ¥ 7Y/LPCATSC 7123 = 7123 6,981 2~) = 7,052 (2~) - = = - = =
6R1H 616 b F—-12% 684-354 |177)Y/ETH—b)yY ¥£'U4/LPCATEM 7,123 = 7123 6,981 (2~) = 7,052 (2~) - = = - = =
6818 616 kF—-A12% 684-355 |I7°YY/ETh—b)yY" {10—/LPCAT8Y 7123 = 7123 6,981 2~) = 7,052 (2~) - = = - = =
6A1H 616 k+—-4>0 684-360 | 177/ IRIEHEHE N~ 7'799/LPCATEKV 6,800 = 6,800 6,664 2~) = 6,731 (2~) - . = - = =
6818 616 kF—-A12% 684-357 |177)v/IRIEHEHE N — ¥TY/LPC4TECV 5409 = 5409 5301 2~) = 5355 (2~) - = = - = =
6A1H 616 b F—-12% 684-358 |177)y/IRIEHEAE M — YE U/ LPCATEMV 5409 = 5409 5301 (2~) = 5,355 (2~) - = = - = =
6A1H 616|bF—-12% 684-359 |177y/IRIBHEAE M — 110—/LPC4T8YV 5409 = 5409 5301 2~) = 5355 (2~) - = = - = =
51H 616 b F—-12% 647-200 |;RFA/LPCATIK ETA-M)yY 7399 11,410 = 11,220 - = - - = - - = -
6818 616 kF—-A12% 690-750 |I77Yu/M—h—M)yy" 2 28N "yY/LPCATIKP 27,800 = 29429 - = - - = - - = -
5818 616 bF—-A12% 690-751 |I7°Yu/M—h—MyY" YTU/LPC4TIC 16,391 = 16,143 - = - - = - - = -
5818 616 kF—-A12% 647-201 |3 F/LPCATIC ETA—M)yY" Y7V M- 12,362 = 12267 - = - - = - - = -
5A18 616 bF—-A12% 690-752 |I7°YY/bF—h—M)yY" T V4/LPCATIM 16,391 = 16,143 - = - - = - - = -
5818 616 kF—-A12% 647-228 | F/LPCATOM ETH—M)vY" vE'V4 M- 12,362 = 12267 - = - - = - - = -
581H 616 bF—-12% 690-753 |I7°YY/bF—h—M)yY" 4IR—/LPCATIY 16,391 = 16,143 - = - - = - - = -
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5818 616 bF—-12% 647-229 |ALF/LPCATIY ETH—N)yy" 410— bf— 12,362 = 12267 - = - - = - - = -
681H 616 kF—-A12% 683-337 |177v/IRIEHEHE N — YT Y/LPC4TICY 12,650 = 12848 - = - - = - - = -
6A1H 616 k+—-14>9 683-338 | 177 /IRIEHEHEN— VE'V4/LPCATIMY 12,650 = 12848 - = - - = - - = -
681H 616 kF—-A12% 432-966 |I7°)V/LPCATOYV/IO—/IRIEHE M — 12,650 = 12848 - = - - = - - = -
5818 616 bF—-A12% 603-273 |177)Y/LPA3ETC16 23242 = 22893 - = - - = - - = -
681H 616 kF—-A12% 603-274 |17")/LPA3ETC17 32428 = 32428 31,779 (2~) = 32,086 (2~) - = = - = =
5818 616 bF—-A12% 648-606 |I7"Y/LPB3T20 27835 = 27465 - = - - = - - = -
581H 616 kF—-A12% 648-607 |177)»/LPB3T21 36,960 = 36,562 - = - - = - - = -
6818 616 bF—-A12% 648-608 |I7°)V/LPB3T20V/IBiEHE M — 22274 = 22274 21,829 (2~) = 21,988 (2~) - = = - = =
5A1H 616 hF—-129 648-609 |I7°YV/LPB3T21V/IEiEHE - 28,553 = 28,134 - = - - = - - = -
6A1H 616 b F—-12% 667-363 |I7°YV/ETH—M)yY 7°3949/LPB3T24 32,767 = 32767 32,112 (2~) = 32439 (2~) - = = - = =
6818 616 bF—-A12% 667-364 |17°YY/ETh—M)yY" 7'599/LPB3T25 43,767 = 43,767 42,892 (2~) = 43286 (2~) - = = - = =
6818 616|bF—- 129 667-365 |177V/IRIFHERE N — 7F99/LPB3T24V 26,231 = 26,231 25706 2~) = 25969 (2~) - = = - = =
6818 616 bF—-A12% 934-860 |I7"YV/ETh—b)yy /LPB3T28 31,077 = 32,254 - = - - = - - = -
6A1H 616 k+—-14>9 934-861 | 177/ IRIEHEHE NS —/LPB3T28V 25326 = 28,622 - = - - = - - = -
6818 616 bF—-A12% 934-862 |I7"YV/ETh—b)yY /LPB3T29 58,635 = 60,836 - = - - = - - = -
6A1H 616 k+—-14>9 934-863 | 177 /IRIEHEHE NS —/LPB3T29V 46,530 = 52585 - = - - = - - = -
581H 616 bF—-A12% 937-204 |17"YV/ETh—b)yY /LPB3T26 33,000 = 29,800 - = - - = - - = -
5A1H 616 b F—-12% 937-206 |I7"V/ETh—}F)yy ' /LPB3T27 51,000 = 48,025 - = - - = - - = -
5A1H 616 hF—-129 937-207 | 177/ IR HEHEN—/LPB3T27V 42,500 = 40,246 - = - - = - - = -
6818 617 kF—-A42% 612-555 |17°)Y/LPCA3ETCIK/7'394 27,086 = 27,086 26544 2~) = = - = = - = =
6818 617 bF—-A42% 612-552 |I7")Y/LPCA3ETCOC/Y7Y 22560 = 22,560 22109 2~) = = - = = - = =
6H1H 617\ bF—-12% 612-553 |I7")v/LPCA3ETCOM/t V4 22560 = 22560 22,109 (2~) = = - = = - = =
6818 617 bF—- 4124 612-554 |17")Y/LPCA3ETCOY/{10— 22560 = 22,560 22109 2~) = = - = = - = =
6818 617|bF— 42 662-429 | 177/ IRIEHEHE N — 7999 SR /LPC3T17KV 7,120 = 7120 6,978 2~) = 6,991 (2~) - = = - = =
6818 617|hF—- 12 662-433 |177)y/IRIBHEAEN— 7799 MR /LPC3T18KV 12,886 = 12,886 12,628 2~) = = - = = - = =
6818 617|bF— 42 662-443 |177)Y/ETh—F)y¥" YTV SH#4R'/LPC3T17C 6,731 = 7980 - = - - = - - = -
6818 617\ b F—-12 % 662-430 |177)V/IRIBHEAEN— YTV SH{R/LPC3T17CV 6,711 = 6,711 6577 (2~) = 6,637 (2~) - = = - = =
6A1H 617 kF—-1429 662-434 | 177/ IRIEHEAE N — VTV MYAR'/LPC3T18CV 17,219 = 17219 16,875 (2~) = = - = = - = =
5A1H 617 k—-4>0 662-439 | 177 /IRBHEAEN— TV MR 2 A/LPC3T18CPV 27,029 = 26,759 - = - - = - - = -
6818 617|bF— 42 662-444 |17°YU/ETH-H)yy 3€'U% SH4A/LPCIT1TM 6,731 = 7980 - = - - = - - = -
6R1H 617 k—-4>0 662-431 |177)/IRIBHEAEM— £V SH4R/LPC3TITMV 6,711 = 6,711 6,577 2~) = 6,637 (2~) - = = - = =
6A1H 617 kF—-1429 662-435 |177)v/IRiEHEAEN— £ U8 MR /LPC3T18MV 17,219 = 17219 16,875 (2~) = = - = = - = =
5A1H 617 k—-4>0 662-440 |177)v/IREEHAEN— Y U8 MR 2B A/LPC3T18MPV 27,029 = 26,759 - = - - = - - = -
6818 617|bF— 42 662-446 |17")/ETH—F)yY 4IA— SH4R/LPC3T17Y 6,731 = 7980 - = - - = - - = -
6R1H 617 k—-4>0 662-437 |177)V/IRIEHEHEN— {10— MP{R/LPC3T18YV 17,219 = 17219 16,875 (2~) = = - = = - = =
5818 617 kF—-A42% 662-441 |177)v/BREHEAEN— /10— MYMR" 2{BA/LPC3T18YPV 27,029 = 26,759 - = - - = - - = -
6R1H 617\ b F—-427 662-456 |177v/BE&FAIZyIK 7599 F/LPC3K17K 10,505 = 10,505 10,295 (2~) = 10,400 (2~) - . = - = =
6RA1H 617k F—-12%Y 662-457 |17")v/RESR1=yb H5—/LPC3K17 10,505 = 10,505 10,295 2~) = 10400 (2~) - = = - = =
6R1H 617\ b F—-427 662-458 | 177/ BEb—KvJA/LPC3H17 1,750 = 1,750 1,715 2~) = 1,732 (2~) - . = - = =
6818 617 kF—-A12% 671-834 |177)y/ RS {R1=y}/LPC3K15 23,920 = 23,920 23442 2~) = 23680 (2~) - = = - = =
6A1H 617 k+—-14>0 671-848 | 177/ IRIEHEHEN— 7'599/LPC3T16KV 36,758 = 36,758 36,023 2~) = 36390 (2~) - . = - = =
6818 617 kF—-A42% 671-850 |177)/IRIBHEAEN— Y T7V/LPC3T16CV 31,131 = 31,131 30508 (2~) = 30820 (2~) - = = - = =
6A1H 617\ b F—-12 % 671-846 |177)v/IRIEHEAEM— Y£V/LPC3T16MV 31,131 = 31,131 30,508 (2~) = 30,820 (2~) - = = - = =
6A1H 617|bF—- 124 671-844 |177)v/IRIEHEA N~ /110—/LPC3T16YV 31,131 = 31,131 30508 (2~) = 30820 (2~) - = = - = =
6R1H 617k F—-427 657-790 |177)Y/BEbF—1k"yJA/LPC3H15 2634 = 2634 2581 2~) = 2,607 (2~) - = = - = =
6818 618 kF—-A12% 614-549 |$¥/0/br—h—t)vY 307 7°59%/9424A005 6,181 = 6,181 6,057 2~) = 6,120 (2~) - = = - = =
6818 618 bF—-A12% 614-550 |¥4/0/b—h—F)yY 307 ¥72/9423A005 7164 = 7,164 7,021 2~) = 7,092 (2~) - = = - = =
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6A1H 618/ FF—-12% 614-551 |%¥/»/M—h—M)y'307 ¥+'~4/9422A005 7,164 = 7,164 7021 2~) = 7,002 (2~) - = = - = =
6R1H 618 bF—- 427 614-552 |¥¥/»/M—h—M)y$'307 110-/9421A005 7,164 = 7,164 7021 2~) = 7,092 (2~) - = = - = =
5A1H 618/ FF—-1>% 191-076 |G)CANON/—h—FJyY 045 7°399 CRG-045BLK/1242C003 5000 = 4905 - = - - = - - = -
5A1H 618 bF—- 127 191-080 |G)CANON/++—h—FJyy 045H 7°5v CRG-045HBLK/1246C003 | 7,800 = 7,683 - = - - = - - = -
5A1H 618/ FF—-12% 191-077 |G)CANON/bF=h—H)y3 045 ¥7» CRG-045CYN/1241C003 6,200 = 6,107 - = - - = - - = -
5A1H 618 bF—- 127 191-081 |G)CANON/M—h—})y 045H ¥ 7Y CRG-045HCYN/1245C003 | 9,000 = 8,845 - = - - = - - = -
5A1H 618/ FF—-12% 191-078 |G)CANON/M—h—FJyy 045 ¥¥'v% CRG-045MAG/1240C003 | 6,200 = 6,107 - = - - = - - = -
5A1H 618 bF—- 127 191-082 |G)CANON/M—h—FJy¥'045H vH'v% CRG-045HMAG/1244C003 | 9,000 = 8,845 - = - - = - - = -
5818 618|hF—- 129 191-079 |G)CANON/M—h—F)y>'045 1I10— CRG-045YEL/1239C003 6,200 = 6,107 - = - - = - - = -
5A1H 618 b F—- 127 191-083 |G)CANON/++—h—FJy> 045H /10— CRG-045HYEL/1243C003 | 9,000 = 8845 - = - - = - - = -
51H 618/ b F—-12% 191-088 |G)CANON/r—h—F)v 046 7°799 CRG-046BLK/1250C003 7,100 = 6,993 - = - - = - - = -
5A1H 618 b F—- 127 191-084 |G)CANON/M—h—M)y¥ 046H 7'599 CRG-046HBLK/1254C003 | 16,400 = 16,154 - = - - = - - = -
5A1H 618/ FF—-12% 191-089 |G)CANON/+F—h—H)y 046 ¥7» CRG-046CYN/1249C003 10,000 = 9,830 - = - - = - - = -
5A1H 618 b F—-A42% 191-085 |G)CANON/M—h—F)yY 046H Y7 CRG-046HCYN/1253C003 | 18,000 = 17,533 - = - - = - - = -
5A1H 618/ FF—-12% 191-090 |G)CANON/bF—h—H)y3 046 v+'»% CRG-046MAG/1248C003 | 10,000 = 9,830 - = - - = - - = -
5A1H 618 b F—-A42% 191-086 |G)CANON/M—h—bJyY 046H YH'v% CRG-046HMAG/1252C003 | 18,000 = 17,533 - = - - = - - = -
5A1H 618/ FF—-12% 191-091 |G)CANON/}F—h—M)y>'046 {I0— CRG-046YEL/1247C003 | 10,000 = 9,830 - = - - = - - = -
5A1H 618 b F—-A42% 191-087 |G)CANON/}+—h—FJy> 046H /10— CRG-046HYEL/1251C003 | 18,000 = 17,533 - = - - = - - = -
5A1H 618/ FF—-12% 971-730 | CANON/M—h—HM)y 039 CRG-039/0287C001 31,200 = 30,888 - = - - = - - = -
5A1H 618 b F—-A42% 971-740 |CANON/M—h—FJyY 039H CRG-039H/0288C001 41,200 = 40,788 - = - - = - - = -
5A1H 618/ FF—-12% 191-072 |G)CANON/+—h—FJyY'041 CRG-041/0452C003 30,000 = 29,353 - = - - = - - = -
6R1H 618 b F—- 127 191-073 |G)CANON/b+=h—t)y¥ 041H CRG-041H/0453C003 53,400 = 53978 - = - - = - - = -
5A1H 618/ FF—-12% 191-075 |G)CANON/M—h—F)y'042VP CRG-042VP/0466C003 45500 = 44798 - = - - = - - = -
5A1H 618/ kF—-A42% 679-243 |G)¥¥/v/M—h—-)yY CRG-524/3481B004 18,543 = 18,358 - = - - = - - = -
5A1H 618/ b F—-12% 679-244 |G)¥Y/v/b=h—M)yy CRG-52411/3482B004 35115 = 34762 - = - - = - - = -
5A1H 618|bF—- 12 691-427 & A/CANON hr—h—}y3/ 52411(3241)347°/5241(3241) 28,504 = 26,648 - = - - = - - = -
5A1H 618/ FF—-12% 698-883 |G)¥¥/v/M—h—M)yY 33111 7°594 CRG-3311IBLK/6273B003 7,134 = 6,880 - = - - = - - = -
5A18 618 b F—-A12% 698-882 |G)¥¥/u/b—h—M)y¥ 331 Y7V CRG-331CYN/6271B003 6,658 = 6,380 - = - - = - - = -
5A1H 618|FF—-12% 698-881 |G)¥¥/u/b—h—M)yy 331 ¥+ V% CRG-331MAG/6270B003 6,658 = 6,380 - = - - = - - = -
5A1H 618k F—- 1% 698-880 |G)¥¥/v/b—h—M)yY 331 110— CRG-331YEL/6269B003 6,658 = 6,380 - = - - = - - = -
5A1H 618/ FF—-12% 134-333 |#ii A CANONM—h—)yY'533H(333H)447"/CN-EP533-WJY | 38,000 = 32,145 - = - - = - - = -
5A1H 618/ kF—-A42% 639-249 |¥¥v/v/M—h—M)vY'335BK 7°7v%9/8673B001 35,600 = 30,467 - = - - = - - = -
6A1H 618/ FF—-12% 639-250 |¥¥/»/M—h—-})y$'335C ¥T7/8672B001 37,554 = 38,705 - = - - = - - = -
6R1H 618/ kF—-A42% 639-251 |¥¥/0/M—h—F)yY'335M ¥+'»%4/8671B001 37,554 = 38,705 - = - - = - - = -
6A1H 618/ FF—-12% 639-253 |¥¥/v/M—h-})vY'335Y 110—/8670B001 37,554 = 38,705 - = - - = - - = -
5A18 618/ b F—-A42% 432-956 |©%¥/2/3932B001/EIRM—KyIR WT-722 4180 = 3816 - = - - = - - = -
6A1H 618/ F—-12% 678-467 |¥¥/v/M—h—1)yY 328 CRG-328/3500B003 6,765 = 6,765 6,630 2~) = = - = = - = =
5818 618/ pF—-12% 668-870 |G)¥¥/v/M—h—bJvYy" 328VP/3500B004 11,303 = 11,181 - = - - = - - = -
5A1H 618/ F—-12% 668-875 |G)¥¥/v/br—h—M)yy" 320/2617B003 16,104 = 15928 - = - - = - - = -
6818 619|bF—- 1% 921-562 |%¥/v/M—h—M)y>'337/CRG-337 7,727 = 8,400 - = - - = - - = -
5A1H 619/ F—-12% 138-275 |G)¥¥/v/br=h—}F)yy 337VP(337 X 2{&)/CRG-337VP 15010 = 14,543 - = - - = - - = -
5A1H 619 b F—-12% 332-779 |G)Y)Ja—/RICOH SP }— 4500L/600546 10,300 = 10,075 - = - - = - - = -
5A1H 619k F—-12% 332-777 |G))3—/RICOH SP +¥— 4500/600545 16,667 = 16,500 - = - - = - - = -
5A1H 619 b F—-12% 332-778 |G))a—/RICOH SP }— 4500H/600544 27593 = 27317 - = - - = - - = -
5A1H 619k F—-12% 332-781 |)3—/RICOH SP F3A1=y}k 4500/512560 9074 = 8984 - = - - = - - = -
6R1H 619k F—-127 178-428 |')a—/SP}+—/6400H 26,350 = 26,533 - = - - = - - = -
5A1H 619k F—-12% 332-782 |Y3—/RICOH SP }7A41Zyh 6400/512684 10,800 = 10,692 - = - - = - - = -
5A1H 619k F—-12% 173-507 |G)Ya—/SPk+— 7'3v% C740/600588 7400 = 7326 - = - - = - - = -
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5818 619 bF—-A12% 173-511 |G)Ya—/SPk— 7'3y% C740H/600584 14,800 = 14,652 - = - - = - - = -
581H 619 kF—-A12% 173-504 |G)Ya—/SPk+— Y7 G740/600589 6,509 = 6,443 - = - - = - - = -
5818 619 bF—-A12% 173-508 |G)YJa—/SPh— 7Y C740H/600585 13,200 = 13,068 - = - - = - - = -
581H 619 kF—-A12% 173-505 |G)Ya—/SPh— ¥¥'v% C740/600590 6,509 = 6,443 - = - - = - - = -
5818 619 bF—-A12% 173-509 |G)Ya—/SPh— vt'»% C740H/600586 13,200 = 13,068 - = - - = - - = -
581H 619 bF—- A% 173-506 |G)Y)a—/SP— {1IA— C740/600591 6,509 = 6,443 - = - - = - - = -
5818 619|bF—-q% 173-510 |G)Y3—/SPh— {I0- C740H/600587 13,200 = 13,068 - = - - = - - = -
6R1H 620 b F—-A427 663-452 |)3—/IPSiOM—h—FJy¥" 447°2500L /NERE7799/515162 8,093 = 8360 - = - - = - - = -
6A1H 620 b F—-1>% 663-454 |)J3—/IPSiOrF—h—b)yY" 447°2500L /NEEYTY/515163 10,224 = 10,560 - = - - = - - = -
6R1H 620 b F—-A42Y 663-455 |)3—/IPSiOM—h—M)y¥" 447°2500L /N Et V4/515164 10,224 = 10,560 - = - - = - - = -
6A1H 620 k+—-142Y 663-456 |)J3—/IPSiOFF—h—tYyy" 447°2500L /NERE(I0—/515165 10,224 = 10,560 - = - - = - - = -
6H1H 620 kF—-42% 615-316 |)3—/IPSIOM—947°9800 7'79%/636075 32,067 = 32,067 31426 2~) = - - = = - = =
6818 620 bF—-A2% 615-317 |)3—/IPSIO—447°9800 ¥7/636078 22540 = 22540 22089 2~) = = - = = - = =
6H1H 620 bF—-42Y 615-318 |3—/IPSIOM—447°9800 ¥t'%/636077 22,540 = 22540 22,089 2~) = - - = = - = =
6818 620 kF—-A42%Y 615-319 |))J3—/IPSIOM—447°9800 {1I10—/636076 22540 = 22540 22089 2~) = = - = = - = =
6A1H 620 bF—-42Y 615-320 |)3—/R&ItiR1=9b 7599 517°9800/509502 13,746 = 13,746 13471 2~) = - - = = - = =
6A1H 620 k+—-1429 615-323 |)J3—/IPSIOM—447°9800 E7&E1=y+/509503 46,771 = 46,771 45836 2~) = = - = = - = =
6R1H 620\ b F—- 129 603-467 |)3—/947°51 BRIz yb 12918 = 12918 12,660 (2~) = - - = = - = =
6818 620 kF—-A42% 615-324 |')J3—/IPSiOkF— 417°60/509430 6572 = 6,942 - = - - = - - = -
6R1H 620 b F—-A427 648-872 |)3—/447°60/ RSt iRI=yb 17,800 = 19,000 - = - - = - - = -
5A1H 620 k+—-1429 615-325 |)3—/B&SH K-yt 447°810/307796 58,831 = 56,149 57,654 2~) = = - = = - = =
581H 620 b F—-A42Y 690-742 |G))3—/47"4 SPM+— 3400L/308857 7,790 = 1677 - = - - = - - = -
6818 620 bF—-A2% 603-469 |)3—/447°85A 24415 = 24415 23,927 2~) = = - = = - = =
5A18 620 bF—-A2% 648-874 |)3—/447°85B 42,662 = 42229 - = - - = - - = -
6818 620 kF—-A12%Y 620-950 |')J3—/IPSiO SPM— C810 7'59%/635016 19,446 = 19,446 19,057 (2~) = = - = = - = =
6818 620 bF—-A2% 620-951 |))3—/IPSiO SPM— C810H XZEE7 5v9/635008 31,953 = 31,953 31,314 2~) = 31,633 (2~) - = = - = =
6818 620 kF—-A12%Y 620-952 |')J3—/IPSiO SP— C810 ¥7/635019 19,105 = 19,105 18723 (2~) = = - = = - = =
6R1H 620 b F—-12 % 620-953 |)3—/IPSiO SPh— C810H KB EY7>/635011 30,086 = 30,086 29484 (2~) = 20785 (2~) - = = - = =
6818 620 kF—-A12%Y 620-954 |)J3—/IPSiO SPHM— C810 ¥+'»4/635018 19,105 = 19,105 18723 (2~) = = - = = - = =
6818 620 bF—-A2% 620-956 |))3—/IPSiO SPM— C810H KEEVt V4/635010 30,086 = 30,086 29,484 (2~) = 29785 (2~) - = = - = =
6818 620 kF—-A12%Y 620-957 |')J3—/IPSiO SPM— C810 {IA—/635017 19,105 = 19,105 18723 (2~) = = - = = - = =
6R1H 620 b F—-12 % 620-958 |)3—/IPSiO SPh— C810H K& E4IA—/635009 30,086 = 30,086 29484 (2~) = 20785 (2~) - = = - = =
6A1H 620 k—-142Y 620-959 |)3—/IPSiO SP B {kh7h1=yh C810 7°5v9/515265 14560 = 14,560 14269 2~) = 14415 (2~) - = = - = =
6R1H 620 kF—-4>0 620-960 |')J3—/IPSiO SP B&Jeikk7L1=yb C810 #7—-/515264 42,180 = 42,180 41,336 (2~) = 41,758 (2~) - = = - = =
6818 620 kF—-A12%Y 620-961 |))J3—/IPSiO SP EEM—iMlL C810/515266 1,550 = 1,550 1,450 3~) = 1,545 (3~) - = = - = =
6818 621 bF—-A2% 637-615 |)3—/C820h— 7°5v9/515586 19,896 = 20,324 - = - - = - - = -
5818 621 kF—-A42% 637-619 |))3—/C820HM— 7'7v%9/515582 33,030 = 32,708 - = - - = - - = -
5818 621 bF—-A42% 637-620 |!)3—/C820HM— ¥T7/515585 31,324 = 31,010 - = - - = - - = -
5818 621 kF—-A42% 637-621 |))3—/C820HM— Vt'V%/515584 31,324 = 31,010 - = - - = - - = -
5818 621 bF—-A42% 637-622 |!)3—/C820HM— {IA—/515583 31,324 = 31,010 - = - - = - - = -
5A1H 621 |k F—-12% 637-624 |)3—/C820EILAKRN T4 7°794/515595 15229 = 15077 - = - - = - - = -
5818 621 bF—-A42% 637-625 |!)J1—/C820&S (AN 74 H7— (CMY)/515594 44,039 = 43598 - = - - = - - = -
6818 621 kF—-A42% 603-393 |[NEC/PR-L1700C-18 KB EV7Y 10,909 = 10,909 10,691 2~) = = - = = - = =
6818 621 | bF—-12 % 603-392 INEC/PR-L1700C-17 KBREvt /3 10,909 = 10,909 10,691 2~) = = - = = - = =
6818 621 kF—-A42% 603-391 |[NEC/PR-L1700C-16 KB E(I0— 10,909 = 10,909 10,691 2~) = = - = = - = =
681H 621 b F—-412%9 603-395 |[NEC/PR-L1700C-31 F'FLN—M)yY 29,785 = 29,785 29,189 2~) = = - = = - = =
5A1H 622 kF—-42Y 681-803 |G)7 7% —/ KRB EHMIE M — 7'7v9/TN-395BK 6,501 = 6,430 - = - - = - - = -
5A1H 622 |k F—-A42Y 681-805 |G)7 7% —/ KB EHMIFM— ¥7Y/TN-395C 10,039 = 9932 - = - - = - - = -
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5A1H 622 b F—-42Y 681-806 |G)7' 7% —/ KB =M IEM— 7£'V4/TN-395M 10,039 = 9932 - = - - = - - = -
581H 622k F—-q12Y 681-807 |G)7 7% —/ KB EMIE M — 1IA—/TN-395Y 10,039 = 9,932 - = - - = - - = -
5A1H 622 b f—-A127 931-763 |7°'7%'=/M—=h—M)v¥" (7'79%9)/TN-391BK 5461 = 5405 - = - - = - - = -
5A1H 622|bf—- A2 931-767 |7°7% =/M=h—M)vY" (7'39%9)/TN-396BK 6931 = 6,862 - = - - = - - = -
51H 622\ bF—-12 Y 931-760 |7'7% =/ M—h—My, (V7Y)/TN-391C 6,931 = 6,862 - = - - = - - = -
5A1H 622|bf—- A2 931-764 |7'7% =/b=h—M)y¥" (Y7Y)/TN-396C 10,491 = 10,386 - = - - = - - = -
51H 622\ bF—-12 Y 931-761 |7'7% =/b=5-M)yY ItE'V4)/TN-391M 6,931 = 6,862 - = - - = - - = -
5A1H 622|bf—- A2 931-765 |7'7% =/b=h—-My¥ (ItE'V%)/TN-396M 10,491 = 10,386 - = - - = - - = -
5818 622 |k f—-A427 931-762 |7°'5% —/M—=h—-F)y¥" (4TA-)/TN-391Y 6931 = 6,862 - = - - = - - = -
5A1H 622 |bF—-A42Y 931-766 |7°'3% =/ M=h—-F)y¥" (4TA-)/TN-396Y 10,491 = 10,386 - = - - = - - = -
5A1H 622 b F—-142Y 931-768 |7°'7%"—/FM34h1=yl/DR-391CL 14061 = 13,920 - = - - = - - = -
6R1H 622 |bF—-A42Y 931-770 |7'7%'=/A"ILb2Zyb/BU-320CL 21,147 = 25000 - = - - = - - = -
51H 622\ bF—-12 Y 678-532 |7 7% =/b—=h—M)yy /TN-27J 7371 = 7191 6,901 (2~) = 6,901 (2~) - = = - = =
6R1H 622 |bF—-A42Y 931-758 |7°'7%'—/M—h—-M)yY'/TN-28J 6,598 = 7,065 - = - - = - - = -
5A1H 622 b F—-142Y 931-759 |7°'7%=/F74h31Zy}/DR-23J 8004 = 7924 - = - - = - - = -
5A1H 622 |bF—-A42Y 697-420 |7°7%'—/M—h—F)yY'/TN-53J 7618 = 6816 - = - - = - - = -
5A1H 622 b F—-142Y 697-422 |7°'7%=/F74h31Zyb/DR-51J 18,791 = 18,586 - = - - = - - = -
581H 623 b F—-A2Y 166-474 |OKI/M—h—F)yY" 7599 K/TC-C4AK2 9780 = 9585 - = - - = - - = -
51H 623\ b F—-12% 166-469 |OKI/M—h—I)vY" 7°599/TC-C4AK1 7,603 = 7,029 - = - - = - - = -
581H 623 b F—-A2Y 166-477 |OKI/M—h—F)yY" ¥7» K/TC-C4AC2 14,200 = 13916 - = - - = - - = -
5818 623 b F—-A42¥Y 166-473 |OKI/b—h—k)yy" ¥7Y/TC-C4ACT 9,780 = 9682 - = - - = - - = -
581H 623 b F—-A2Y 166-476 |OKI/M—h—M)yY" €'V K/TC-C4AM2 14,200 = 13916 - = - - = - - = -
51H 623\ b F—-12% 166-472 |OKI/M—h—bJyY" T£'44/TC-C4AMI 9,780 = 9,682 - = - - = - - = -
5A18 623 b F—- A2y 166-475 |OKIl/M—h—1)yY" {10— K/TC-C4AY2 14200 = 13916 - = - - = - - = -
5818 623 b F—-A12Y 166-471 |OKI/b—h—b)yY" 4I0—/TC-C4AY1 9,780 = 9682 - = - - = - - = -
5A18 623 b F—- A2y 673-360 |OKI/M—h—M)y¥ /TNR-M4E1 14,953 = 14,789 - = - - = - - = -
5818 623 b F—-A12Y 673-363 |OKI/{A=¥"F'3Ah1=yh/ID-M4AE 16,915 = 16,729 - = - - = - - = -
5A18 623 b F—-A12 Y 606-434 |OKI/M=h—F)y¥" 7599/ TNR-C4KKT 7,353 = 7,267 - = - - = - - = -
5A1H 623 b F—-12Y 625-297 |OKI/ KRB =EM—h—Myy" 7'799/TNR-C4KK2 10,181 = 10,077 - = - - = - - = -
5A18 623 b F—- A2y 606-455 |OKI/M—h—M)y¥" ¥ T7Y/TNR-C4KC1 10,181 = 10,077 - = - - = - - = -
5A1H 623\ bF—-12% 625-296 |OKI/ KB=EM—h—Myy ¥74/TNR-C4KC2 14,791 = 14,639 - = - - = - - = -
5A18 623 b F—- A2y 625-294 |OKI/ KB=2M—h—Myy ¥ 48/TNR-C4KM2 14791 = 14,639 - = - - = - - = -
5A1H 623\ b F—-12% 606-449 |OKI/bF=h—M)yy" 11A—/TNR-C4KY1 10,181 = 10,077 - = - - = - - = -
5A1H 623 b F—-42Y 625-290 |OKI/ KB =M —h—-M)yY" {1A—/TNR-C4KY2 14791 = 14,639 - = - - = - - = -
5818 623 b F—-A12Y 659-262 |OKI/ KB =EM—1-MyY" Y7 #760004/TNR-C4FC2 13,496 = 13,360 - = - - = - - = -
5A1H 623 bF—-A2Y 659-263 |OKI/ KEEM—h-F)yY" vE'v% $560004K/ TNR-CAFM2 13,496 = 13,360 - = - - = - - = -
5818 623 b F— 1Y 659-264 |OKI/ KB EM—h-MyY" 110- $5600042/TNR-C4FY2 13,496 = 13,360 - = - - = - - = -
5818 624|bF—-A42Y 453-225 |OKI/TNR-C3LK27' 394/ bF=h—F)y’" 21058 = 20,839 - = - - = - - = -
5818 624|bF— 1Y 625-114 |OKI/M=h—F)y¥" ¥72/TNR-C3LCT 14,105 = 13823 - = - - = - - = -
581H 624 bF—-42H 453-226 |OKI/TNR-C3LC2Y7V/M—h—HyY’ 22,495 = 22267 - = - - = - - = -
5818 624|bF— 1Y 625-112 |OKI/M—h—M)y¥" I£"3/TNR-C3LM1 14,105 = 13823 - = - - = - - = -
581H 624|bF—- 1Y 453-227 |OKI/TNR-C3LM2v+ v4/M—h—H)yYy’ 22,495 = 22267 - = - - = - - = -
5818 624|bF— 1Y 625-100 | OKI/M=h—F)y¥" {1A—/TNR-C3LY1 14,105 = 13823 - = - - = - - = -
581H 624 bF—-42H 453-228 |OKI/TNR-C3LY2410—/M—h—M)yY 22,495 = 22267 - = - - = - - = -
5818 624|bF— 1Y 586-416 |OKI/{2=¥"+'3h 7°399/ID-C4RK 16,955 = 15,900 - = - - = - - = -
51H 624 bF—-12 % 586-417 |OKI/4/=Y'F'34 ¥7Y/ID-CARC 16,955 = 15,900 - = - - = - - = -
5818 624k F— 42 586-418 |OKI/{A=Y'F5h ¥¥'¥%4/ID-CARM 16,955 = 15,900 - = - - = - - = -
581H 624 bF—-A2Y 586-419 |OKI/{*=Y'+'54 /10—/ID-C4RY 16,955 = 15,900 - = - - = - - = -
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(20184F) 2SRl TEK A THEK Z A TEE Z A TEE
6A1H 624 bF—-4A42Y 616-367 |HP/Q7516A M—h—FJy¥’ 24844 = 24844 24,090 2~) = - - = = - = _
5A1H 624 bF—-42Y 453-978 |HP/CE390AZR/+—h—F)yY" HPI0A 16,726 = 16,469 - = - - = - - = _
681H| 625|hf—-A427 648-526 |hY1/N30-TSK-GEIURIEH /7599 12,063 = 12,063 11,822 2~) = = - = - - = =
6A1H 625 bF—-A42Y 648-528 |4 /N30-TSC-GEIUIHH/VTY 12,063 = 12,063 11,822 2~) = = - = = - = _
6818 625 bf—-A12Y 648-529 |h4/N30-TSM-GEIURH /vt V4 12,063 = 12,063 11,822 (2~) = - - = - - = _
6A1H 625 bF—-A42Y 648-527 |h¥4/N30-TSY-GEIRZ /110 12,063 = 12,063 11,822 2~) = = - = - - = =
6H1H| 625|hF—-A427 648-530 |h¥t/N60-TSK-GEIURIFEH /799 25877 = 25877 25359 (2~) = = - = - - = =
5A1H 626 bF—-A2¥Y 190-406 | E L&/ b—h—t)yY" LB320A/0899110 28,880 = 28,591 - = - - = - - = _
5A1H 626 kF—-427 190-407 |EL@/M—h—b)yy LB320B/0899120 32,440 = 32,115 - = - - = - - = -
5A1H 626 bF—-A42Y 190-409 |E &/ IRIFEH £ - LB320BF/0899124 25589 = 25333 - = - - = - - = _
5A1H 626 FF—-42Y 190-410 |E L&/ 74h—M)yY" LB320/0899130 11,886 = 11,767 - = - - = - - = _
5A1H 626 bF—-A2¥Y 195-302 |E L&/ b—h—M)yY LB321A/0899210 26,950 = 26,680 - = - - = - - = _
5A1H 626 kF—-427 065-522 |© = £18/0899220/+—h—b)yy" LB321B 41,688 = 41612 - = - - = - - = -
5A1H 626 bF—-A42Y 190-411 |E+@&/IREH £ M- LB321AF/0899214 21,778 = 21,560 - = - - = - - = _
5818 626k F—-127 190-412 |E 1@ /IRIEH A M- LB321BF/0899224 33,756 = 33418 - = = - = - _ = _
5A1H 626 bF—-A42Y 127-194 |E+3&/LB321 F'IAH—}F)yy /0899230 11,343 = 11,229 - = - - = - - = _
6A1H 626 FF—-42Y 583-020 |Q)ELi&/7'0tAH—-+)yY" LB319A/0896110 30,353 = 33,388 - = - - = - - = _
6A1H 626 bF—-A42Y 451-104 |E+&/7 REAh—-+)yY" LB319B/0896120 40,260 = 43,780 - = - - = - - = _
6H1H 626 b F—-12Y 648-739 |EL@/LB317A 27123 = 29835 26581 (2~) = - - = - _ = _
6A1H 626 bF—-A42Y 648-741 |E+i#/LB317B 36,305 = 39,936 35579 (2~) = 30947 (2~) - = = - = -
5A1H 626 kF—-125 638-689 | & 13&/7 BtAN—})yY 0892120/.B318B 41,248 = 40,835 - = = - = - - = _
6A1H 626 bF—-A42Y 627-808 | E i /CL113KM—A-}F)y¥" 759%/0809150 11,039 = 12,143 - = - - = - - = _
6A1H 626 FF—-429 627-809 | E+i@/CL113CH—h—t)yY" ¥72/0809180 11,886 = 13,075 - = - - = = - = -
6818 626 F—-A42Y 627-810 | E L i&/CL113MM—A—}F)yY" ¥+£'4/0809170 11,886 = 13,075 - = - - = = - = _
6A1H 626 bF—-129 627-811 |E1i@/CL113YM—H—M)yY" {IA—/0809160 11,886 = 13075 - = - - = - - = _
518 627|bF—-A12Y 583-043 |E i/ —h—-M)yY CL115A ¥7Y/0800140 7070 = 6,791 - = - - = = - = -
5A1H 627 b F—-42Y 583-042 |Et+&/M—H—F)yy CL115A It '4/0800130 7,070 = 6,791 - = - - = - - = -
5A1H 627 b F—-427Y 583-041 |Eti&/M—h—1JyY CL115A 110—/0800120 7070 = 6,791 - = - - = = - = _
5A1H 627 bF—-A42% 691-291 | £’ Av)A/N 74/ M—h—)yY (6K) fililE /CT350871 25515 = 25229 - = - - = - - = _
5A1H 627 bF—-4>0 691-292 |£'AyYR/F 7L/ b=h—MyY (10K) #HI1E/CT350872 33991 = 33610 - = - - = - - = _
6A1H 627 bF—-A42Y 620-448 |’ 0y)A/M—=h—t)yy /CT202077 16,286 = 16,896 - = - - = - - = _
681H 627 bF—-4>0 620-449 |’ Av)A/ KB EM—h-I)y, /CT202078 32,572 = 33,800 - = - - = - - = _
5A1H 629 b F—-12% 684-215 | +734/TK-591K M— 7399 8,180 = 8,099 - = - - = - - = _
5A1H 629 kF—-A2Y 684-217 |FH+534/TK-591C M— Y7V 11,420 = 11,305 - = = - = - - = _
5A1H 629 kF—-420 684-218 |FRt334/TK-591M M— Tt'U4 11,420 = 11,305 - = - - = = - = -
5A1H 629 bF—-A2¥ 684-219 |F+534/TK-591Y by— (10— 11,420 = 11,305 - = = - = - - = _
6A1H 629 bF—-A2Y 657-763 | IR+534/M— 2{8/TK-361 22,800 = 22,991 - = = - = - - = _
5A1H 629 bF—-A2¥ 582-000 |JR+7/M— 24/TK-3131 29,991 = 25800 - = - - = - - = _
6A1H 629 bF—-A42Y 657-764 | IRt534/M— 2{8/TK-451 22,800 = 22,991 - = - - = - - = _
5A1H 631 b F—-A42% 603-106 | ¥¥/0/H—M)yY' W bF—h—b)yd 10,853 = 10,853 10,636 (2~) = 10,191 (2~) - = = - = -
6A1H 631 kF—-A12% 618-722 | ¥¥/v/PPCk— h—}JyY 406/0264B004 16,753 = 16,753 16418 2~) = 16,501 (2~) - = = - = -
5A1H 631 b F—-42% 690-743 |G)¥Y/u/b—h—M)y 420/2617B005 17,096 = 16,867 - = -~ - = - - = -
5A1H 631 kF—-A12% 814-491 |¥¥/v/h—M)yY'B(7'7v9)/1481A001 21,410 = 21,410 20,982 (2~) = 20,788 (2~) - = = - = -
5A1H 631 b F—-A42% 814-527 |¥¥/u/h—hJyY'E CRG-EBLK/1492A001 10,248 = 9,927 - = -~ - = - - = -
5A1H 631 kF—-A12% 814-536 |¥¥/v/h—M)y¥'E30 CRG-E30BLK/1491A001 16,021 = 15,780 - = - - = - - = _
6A1H 631 bF—-A42% 603-119 |¥¥/Y/NPG-25 14,143 = 14,143 13,860 2~) = - - = = - = _
6A1H 631 kF—-A12% 649-480 |¥¥/¥/NPG-35b+— 7394 13,991 = 13,991 11,418 2~) = 13827 (2~) - = = - = -
6A1H 631 bF—-A42% 649-481 |¥¥/Y/NPG-35bF— YTV 17,810 = 17810 17454 2~) = 17542 (2~) - = - - = -
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6818 631 |kF—-12% 649-482 |¥¥/V/NPG-35bF— Yt'U4 17,810 = 17,810 17,454 2~) = 17542 (2~) - = = - = =
681H 631 |k F— 1% 649-483 |¥¥///NPG-35hF— /10— 17,810 = 17810 17454 2~) = 17542 (2~) - = = - = =
6818 631 |kF—-12% 603-120 |¥¥/2/NPG-26 16,029 = 16,029 15708 2~) = 15788 (2~) - = = - = =
681H 631 |k F— 1% 649-560 |!)3—/imagioMPh—})yY"C1500/7°54 11,400 = 11,400 11172 2~) = = - = = - = =
5818 632\ F—-127 668-861 |G))3—/43Y" 1+ MPM— C2201 7°7v%/600148 4800 = 4538 - = - - = - - = -
581H 632 b F—-A12% 668-862 |G))3—/43Y"+ MPF— C2201 ¥72/600150 2816 = 2723 - = - - = - - = -
5818 632\ F—-127 668-863 |)3—/43¥'+ MPM— C2201 Yt'4/600151 2816 = 2723 - = - - = - - = -
581H 632 b F—-A12¥ 668-864 |G))3—/43Y"+ MPM— C2201 /I0—/600149 2816 = 2723 - = - - = - - = -
6818 632|bF—-12Y 605-981 |')3—/imagiob—Fvyb 447°28 22,606 = 22,606 22,154 2~) = = - = = - = =
6818 632|bF—- 127 819-594 |)3—/43Y #M—447"264#1E/63-6423 13591 = 13,591 12870 2~) = = - = = - = =
51H 632\ bF—-12% 638-539 |G)¥¥/Y/BX-95 H—M)yy 3,100 = 2972 - = - - = - - = -
581H 632|bF—- 127 603-106 |¥¥/0/h—Myy'W M—h—Fjyy 10,853 = 10,853 10,636 2~) = 10,191 (2~) - = = - = =
5818 632 kF—-A12%Y 638-540 |G)¥¥/v/h—b)yY" FX-12/1153B003 16,134 = 15896 - = - - = - - = -
581H 632 kF—-A2Y 638-542 |G)¥¥/V/FX-131—M)yY" FX-13/3178B001 32,300 = 31,654 - = - - = - - = -
5A1H 632 kF—-142Y 669-560 |#IA/NTY=y) UG-3380(DE-3380447°)/UG-3380 18,480 = 16,480 - = - - = - - = -
6R1H 632|bF—- A1V 819-783 |nN+Y=yh/7' 0EAN—M)yY" $E1E/DE1004 36,096 = 36,096 35374 2~) = - - = = - = =
51H 632\ b F—-12% 814-788 |Y3—/Y7799AM =BV V9472 12527 = 11,904 - = - - = - - = -
6818 633 b F—- 12y 814-797 |)a—/V77v)AM =8V ¥517°3/33-9191 12,650 = 12,896 - = - - = - - = -
6818 633|bF—- 1Y 649-552 | A5794/TS30B 15981 = 15981 15661 (2~) = = - = = - = =
6818 633 b F—- 12y 814-941 | k374 /V-850F 7 Lh—})yY /DK20B 14,105 = 14,105 13823 2~) = = - = = - = =
6H1H 633/ b F—-12% 814-941 |L579%/V-850+ 3 L0—F)yY /DK20B 14105 = 14,105 13,823 2~) = = - = = - = =
581H 633 b F—- 12 646-983 |7'5%'—/DR-10J}F FA1=yh 17111 = 17111 16,748 2~) = 16461 (2~) - = = - = =
5A1H 633 kF—-125 820-449 |7°'7%=/F74h31Zy}/DR-20J 9,787 = 0,688 - = - - = - - = -
6818 633 b F—- A2 654-372 |G)7'7%'—/M—h—-M)vY'/TN-26J 7436 = 6,690 6,569 2~) = 6,570 (2~) - = = - = =
6818 633|bF—- 1Y 654-371 |7°7%"—/F741=yk/DR-21J 10,750 = 10,750 10535 2~) = 10630 (2~) - = = - = =
5A18 633 b F—- A2 824-886 |7'7% —/br—h—M)yY HHIE/TN-33J 6,177 = 6,177 6,053 2~) = 5845 (2~) - = = - = =
5818 633|bF— 1Y 824-904 |7°3%'=/F3Ah31Zyh $lilE/DR-30J 15878 = 15357 - = - - = - - = -
6R1H 633 kF—-1>% 664-440 |G)IIYH/VY19MA0H A5 — KR! /ECI-E45B 2703 = 2743 - = 2,629 (2~) - = = - = =
5818 634 b F—-A12Y 607-841 |G)EPSON/{Y9h—M)y¥" 7°59%/KUI-BK 697 = 666 - = 653 (2~) - = = - = =
5A18 634|bF—- 1Y 607-832 |G)EPSON/{Y9h—-M)yy" 75y #8/KUI-BK-L 1,286 = 1,235 - = 1,190 (2~) - = = - = =
5818 634 b F—-A12Y 607-843 |G)EPSON/4v9h—M)yY" ¥FU/KUI-C 697 = 666 - = 653 (2~) - = = - = =
5A18 634|bF—- 12 607-835 |G)EPSON/4v9h—M)yy" Y7V 8 /KUI-C-L 1,286 = 1,235 - = 1,210 (2~) - = = - = =
5818 634 b F—-A12Y 607-845 |G)EPSON/{Y9h—b)yy" It Y4/KUI-M 697 = 666 - = 653 (2~) - = = - = =
5A1H 634\ bF—-12 % 607-836 |G)EPSON/4Y9h—M)yy" vt V4 S /KUI-M-L 1,286 = 1,235 - = 1,210 (2~) - = = - = =
5A1H 634\ bF—-12% 607-881 |G)EPSON/4Y9h—M)yy" 11A—/KUI-Y 697 = 666 - = 653 (2~) - = = - = =
5A1H 634|bF—- 1Y 607-837 |G)EPSON/{Y9h—)yy" 410- S /KUI-Y-L 1,286 = 1,235 - = 1,210 (2~) - = = - = =
5818 634k F— 1Y 607-899 |G)EPSON/AY9h—M)yY" 54+70/KUI-LC 697 = 666 - = 653 (2~) - = = - = =
5A1H 634|bF—- 127 607-838 |G)EPSON/4v9h—M)yYy" 34+/7y 8 /KUI-LC-L 1286 = 1,235 - = 1,210 (2~) - = = - = =
5818 634k F— 1Y 607-900 |G)EPSON/{Y9h—b)yy" 543t 4/KUI-LM 697 = 666 - = 653 (2~) - = = - = =
5818 634|bF—- 129 607-839 |G)EPSON/4V9h—M)yYy" 743’4 2 /KUI-LM-L 1,286 = 1,235 - = 1,210 (2~) - = - - = -
5818 634k F— 1Y 607-901 |G)EPSON/{Y9h—b)yy" 6N "vH/KUI-6CL 3881 = 3803 - = - - = - - = -
5818 634|bF—- 1Y 607-840 |G)EPSON/4Y9A—M)yYy" 6f8n"y) 18 /KUI-6CL-L 7,182 = 7,039 - = - - = - - = -
5818 634k F— 1Y 607-902 |EPSON/*yT+YAK yYR/EPMBI 1056 = 960 - = 941 (2~) - = = - = =
5818 634|bF—- 127 607-818 |G)EPSON/4Y9h—)vY" 7'59%/1TH-BK 953 = 911 - = 886 (2~) - . = - = =
5818 634k F— 1Y 607-820 |G)EPSON/AY9h—M)yY" ¥7V/ITH-C 953 = 911 - = 893 (2~) - = = - = =
5A18 634 |k F—- 1279 607-825 |G)EPSON/4Y9h—)yY" 34 V4/1ITH-M 953 = 911 - = 893 (2~) - = = - = =
5818 634k F— 1Y 607-826 |G)EPSON/4Y9h—)yY" 41A=/ITH-Y 953 = 911 - = 893 (2~) - = = - = =
5A18 634k F—- 127 607-827 |G)EPSON/AY9h—M)yy" 54+7V/ITH-LC 953 = 911 - = 893 (2~) - = = - = =
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5818 634\ F—-127 607-828 |G)EPSON/4v9h—bM)yY" 34b3% V4 /ITH-LM 953 = 911 - = 893 (2~) - = - - = -
5818 634\ bF—-12% 607-831 |G)EPSON/4Y9h—M)yy" 61 "y4/ITH-6CL 5302 = 5,196 - = - - = - - = -
5A1H 634 bF—-142Y 966-970 |G)I7"Yy/AVIh—M)yY 7 F9) 18 E447°/ICBK8OL 1,260 = 1,260 1,248 2~) = 1218 (2~) - = = - = =
5818 634\ bF—-12 % 177-950 |G)EPSON/AYyh—F)yy" 6f8nN"y% flilE /IC6CLSOM 4518 = 4518 - = 4,468 (2~) - = - - = =
5A1H 634 bF—-142Y 696-594 | 17°YY/4V9h—MN)yY" 739918 2 /ICBK70L 974 = 974 938 2~) = 908 (2~) - = = - = =
581H 634|bF—- 127 177-951 |G)EPSON/AYyh—t)yy" 6f8nN"y% #lilE /IC6CLTOM 3968 = 3968 - = 3,928 (2~) - = = - = =
51H 634 bF—-12 % 616-413 |I7°Y0/409h—Myy" 7°399/1CBK50 1017 = 1,017 985 2~4) = 955 (2~) 955 (5~) = = - = =
581H 635 b F—- 12 649-320 |17°)v/Y7Y/ICTM70C-S 1072 = 1,061 - = 1,050 (2~) - = = - = =
5A1H 635 b F—-12% 649-321 |17°)/3%'Y4/ICTM70M-S 1072 = 1,061 - = 1,050 (2~) - = = - = =
581H 635 b F—- 12 649-322 |17"»/410-/ICTM70Y-S 1072 = 1,061 - = 1,050 (2~) - = = - = =
6A1H 635 kF—-1429 812-601 |I7°Y/MJICT 7'J9% #EIE 1,167 = 1,480 - = - - = - - = -
6H1H 635 b F—-12Y 812-781 |17°Jv/MJICOY /10— #ifilE 3,180 = 3376 - = - - = - - = -
6A1H 635 kF—-1429 812-601 |I7°Y/MJICT 7'39% #EIE 1,167 = 1,480 - = - - = - - = -
6818 635 b F—- 12y 812-637 |I7°YV/4V9Y 19MUY h5—58/PMIC1C 1,142 = 1480 - = - - = - - = -
6818 635|hF—- 1Y 812-781 |I7°YY/MJICOY (10— FHiiE 3,180 = 3376 - = - - = - - = -
6H1H 635 b F—-12Y 812-826 |I77YU/4V9 tyM Yy 12 V47483t 43/MJIICILM 3,180 = 3376 - = - - = - - = -
5818 635|hF—- 1Y 138-659 |G)I7/AV9h—M)yY" 7°59%/YTH-BK 799 = 799 - = 782 (2~) - = = - = =
581H 635 b F—- 12y 138-658 |G)L7™u/4vh—Myy" ¥7Y/YTH-C 799 = 799 - = 782 (2~) - = = - = =
5818 635/ b F—- 1Y 138-657 |G)L7YU/AVh—b)yY" 3E'V4/YTH-M 799 = 799 - = 782 (2~) - = = - = =
5818 635 b F—-12Y 138-656 |G)I7"v/4v9h—M)yY" {10-/YTH-Y 799 = 799 - = 782 (2~) - = - - = =
5818 635|hF—- 1Y 138-654 |G)L7"/AVh—b)yY" Lyb' /YTH-R 799 = 799 - = 782 (2~) - = = - = =
5A1H 635 b F—- 12 138-655 |G)I7V/4V9h—MvY" 5 L—/YTH-GY 799 = 799 - = 782 (2~) - = = - = =
51H 635 b F—-12% 191-043 |G)I7u/4v9h—Myy" 7°39%9/1CBK83 2970 = 2788 - = - - = - - = -
5A1H 635 bF—-A2¥ 191-048 |G)I7Y/1Vh—F)yy KB E 7'7v9/ICBK84 4970 = 4659 - = - - = - - = -
5818 635 b F—- 129 191-044 |G)I7™Yu/4Av9h—Myy ¥74/1CC83 1,540 = 1458 - = - - = - - = -
5A18 635 b F—-A12Y 191-049 |Q)I7Y/AV9h—Myy KB=E Y70/1CC84 3290 = 3088 - = - - = - - = -
5A1H 635 bF—-12% 191-045 |G)I7Yu/4Av9h—Myy TE'V4/1CM83 1,540 = 1458 - = - - = - - = -
5A18 635 b F—- 12 191-050 |G)I7™u/4vh—Myy KB E vt V4/ICM84 3290 = 3088 - = - - = - - = -
5818 635 b F—- 12 191-046 |G)I7Y/AV9h—bM)yy" 410-/I1CY83 1,540 = 1458 - = - - = - - = -
5A18 635 b F—-A12Y 191-051 |G)I7u/4vh— My KB E {10-/ICY84 3290 = 3,088 - = - - = - - = -
5818 635 b F—- 12 191-047 |G)I7YU/AV9h—bM)yy" 4EN'y)/1CACLS3 6,990 = 6,885 - = - - = - - = -
5A18 635 b F—-A12Y 191-052 |G)I7Yu/4Avh—Myy KBRE 4BN"y)/IC4CL84 13,700 = 13495 - = - - = - - = -
5A1H 635 bF—-12% 191-053 | 170/ }uTFHUAK yIR/PXMBT 2260 = 2230 - = - - = - - = -
5A18 636 b F—-A12Y 178-555 |I7YY/4v9h—M)vYy" 7°399/RDH-BK 1,070 = 1,009 - = 988 (2~) - = = - = =
5A1H 636 k+—-1429 178-554 |17°u/409h—Myy" 7599 88 /RDH-BK-L 1828 = 1,725 - = 1,678 (2~) - = = - = =
5A18 636 b F—-A12Y 178-556 |17Yv/4v9h—M)yY" ¥ 7»/RDH-C 1070 = 1,009 - = 988 (2~) - = = - = =
5818 636 bF—- 1Y 178-557 |17°v/4Y9h—M)yy" T€'V4/RDH-M 1,070 = 1,009 - = 988 (2~) - = = - = =
5818 636 FF—-12% 178-558 |I7YY/4v9h—M)yY" 410—/RDH-Y 1,070 = 1,009 - = 988 (2~) - = = - = =
5818 636 b F—- 1Y 178-553 |17°v/4v9h—M)yy 481N y)/RDH-4CL 4156 = 3,841 - = - - = - - = -
51H 636 b F—-12% 696-552 | 177YY/4V9h—MNyY" 739918 2 /ICBK6IL 1,663 = 1,663 1,590 2~4) = 1,540 (2~) 1,540 (5~) = = - = =
5A1H 636 k+—-1429 173-740 |G)I77/AV9h— vy 7'39%9/1CBK82 1,650 = 1,634 - = - - = - - = -
5A1H 636 | bF—- 1Y 173-741 |G)I7"0/4Y9h— M)y h7—/1CCL82 1,190 = 1,178 - = - - = - - = -
5818 636 bF—- 1Y 178-365 |17/ ATV AK vIR/PXMB5 499 = 480 - = - - = - - = -
51H 636 b F—-12% 684-363 |G)IIYA/ Y191y 7°59%9/ECI-E59B 781 = 781 - = 753 (2~) - = = - = =
6818 637\ b F— 1Y 663-371 |17/ (07U AN—M)yY'/ICMTI 1,700 = 2,000 - = - - = - - = -
6818 637\ b F—-127 816-984 |I7°YU/AV9Y 19MUY 7487 594 /1CBK24 3521 = 3485 32718 2~) = 3448 (2~) - = - - = -
6818 637\ b F— 1Y 817-002 |I7°Yu/409 1yMY) 9bT'594/1CMB24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
6818 637 |k F—-127 817-029 |I7°Y/409Y 19MY) 5 L—/I1CGY24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
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6818 637 bF—-12 % 817-056 |I77Yv/4V9Y 1y YY) YTU/1CC24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
6H1H 637 b F—-125 817-047 |177Y/409Y 19MYY 3£ V4/I1CM24 3521 = 3485 32718 2~) = 3448 (2~) - = - - = -
6818 637\ bF—-12% 817-092 |17°Yu/4109Y 19M YUY 34T 2/ICLC24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
6H1H 637 b F—-125 817-074 |177YU/409V 19MYY 3403t°V%/1ICLM24 3521 = 3485 32718 2~) = 3448 (2~) - = - - = -
6818 637 b F—-12% 817-065 |I7°YY/4109 1yMU) 41A-/1CY24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
6R1H 637\ b F—- 427 817-002 |17°YU/409Y 19M YUY I987°799/ICMB24 3521 = 3485 32718 2~) = 3,448 (2~) - = = - = =
6818 637 bF—-12% 817-056 |I7°Yv/4V9Y 1y YY) YTV/1CC24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
6H1H 637 b F—-12Y 817-047 |177YU/409Y 19MYY 3£ V4/ICM24 3521 = 3485 32718 2~) = 3448 (2~) - = - - = -
6818 637 bF—-12% 817-065 |I7°YY/419 1y YY) 41A-/1CY24 3521 = 3485 32718 2~) = 3448 (2~) - = = - = =
5A1H 637|hF—- 127 649-335 |G)I7")V/ICMB24A/T9M7 594 3521 = 3485 - = 3,448 (2~) - = = - = =
5A1H 637 |k F—-1>% 649-336 |G)I7")V/ICC24A/YTY 3521 = 3485 - = 3,448 (2~) - = = - = =
5A1H 637|hF—- 127 649-337 |G)17")Y/ICM24A/3t V% 3521 = 3485 - = 3,448 (2~) - = = - = =
5A1H 637 |k F—-127 649-338 |G)I7")V/ICY24A/410~ 3521 = 3485 - = 3448 (2~) - = = - = =
6R1H 637|bF—- 427 817-002 |I77YY/49Y 1yMUy I9bT799/1ICMB24 3521 = 3485 32718 2~) = 3,448 (2~) - = = - = =
5A1H 637 |k F—-1>% 649-335 |G)I7")V/ICMB24A/9+7'599 3521 = 3485 - = 3,448 (2~) - = = - = =
5A1H 637|bF—- 427 684-363 |G)IIYH/ VY19 4H 7599 /ECI-E59B 781 = 781 - = 753 (2~) - = = - = =
5A1H 638|bF—- 1Y 649-357 |G)I7")»/ICBK38A/74+7°594 110ml 3569 = 3,486 - = - - = - - = -
5A1H 638 b F—- A2 649-358 |G)I7"/v/ICMB40A/3y+7"594 110ml 3569 = 3486 - = - - = - - = -
5A1H 638|bF—- 1Y 649-360 |G)I7"/v/ICC38A/YTY 110ml 3569 = 3,486 - = - - = - - = -
5A1H 638 b F—- A2 649-361 |G)I7"/¥/ICM38A/It V4 110ml 3569 = 3486 - = - - = - - = -
5A1H 638|bF—- 1Y 649-362 |G)I7"Y/ICY38A/410— 110ml 3569 = 3,486 - = - - = - - = -
5A1H 638 b F—- 1Y 649-363 |G)I7")v/ICLC38A/54}/TY 110ml 3569 = 3486 - = - - = - - = -
5A1H 638|bF—- 1Y 649-364 |G)I7"/v/ICLM38A/74F3t V% 110ml 3569 = 3,486 - = - - = - - = -
5A18 638 b F—-A2Y 658-376 |G)I7™Y/4Y9h—M)yY EE YN I V4/ICVM3BA 3569 = 3486 - = - - = - - = -
5A1H 638 b F—- 1Y 658-378 |G)I7YU/Av9h—MyY" E'EYN 34t V5/ICVLM38A 3569 = 3486 - = - - = - - = -
5A18 638 b F—-A2Y 649-365 |G)I7/v/ICGY38A/% L— 110ml 3569 = 3486 - = - - = - - = -
5A1H 638 b F—- 1Y 649-366 |G)I7")V/ICLGY38A/34M'L— 110ml 3569 = 3486 - = - - = - - = -
5A18 638 b F—-A2 Y 649-367 |G)I7")V/ICBK39A/74+7°5y4 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 649-369 |G)I7/v/ICMB41A/Iy+7"594 220ml 6,207 = 6,082 - = - - = - - = -
5A18 638 b F—-A2Y 649-370 |G)I7")v/ICC39A/YTY 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 649-371 |G)I7Y/ICM39A/It U4 220ml 6,207 = 6,082 - = - - = - - = -
581H 638 b F—- 12 649-372 |G)I7")v/ICY39A/4I0— 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 649-373 |G)I7")V/ICLC39A/F1M/7Y 220ml 6,207 = 6,082 - = - - = - - = -
5A18 638 b F—-A2Y 649-374 |G)I7")V/ICLM39A/F4 3t V4 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 658-374 |G)I7YY/4V h—b)yY" EE YN IEV4/ICVM39A 6,207 = 6,082 - = - - = - - = -
5A18 638 b F—-A2Y 658-375 |G)I7™/AV9h—MyY" E'E YN 74t 4/ICVLMI9A 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 649-375 |G)I7")Y/ICGY39A/Y L— 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638k F—-12Y 649-376 |G)I7)v/ICLGY39A/74 7 L— 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b —- 1Y 649-358 |G)I7"/¥/ICMB40A/3y+7"54 110ml 3569 = 3486 - = - - = - - = -
5A1H 638 b F—-A12Y 649-379 |G)I7")V/ICC40A/YTY 110ml 3569 = 3486 - = - - = - - = -
5A1H 638 b —- 1Y 649-380 |G)I7"/¥/ICM40A/3It V% 110ml 3569 = 3486 - = - - = - - = -
5A1H 638 b F—- 124 649-381 |G)I7")v/ICY40A/4I0— 110ml 3569 = 3486 - = - - = - - = -
5A1H 638 b F—- 1Y 649-369 |G)I7")Y/ICMB41A/39+7°59% 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638k F—-12Y 649-383 |G)I7")V/ICC41A/YTY 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 1Y 649-384 |G)I7/v/ICM41A/3It V% 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 b F—- 12 649-385 |G)I7")v/ICY41A/4I0— 220ml 6,207 = 6,082 - = - - = - - = -
5A1H 638 bF—- 1Y 645-862 |177/109h—MyY" 7599 M R’/ICBK92M 1,980 = 1,961 - = - - = - - = -
6R1H 638 FF—-A12 7 645-866 |177V/1V9h—M)yY" 7599 LA /ICBKI2L 5920 = 6,272 - = - - = - - = -
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(20184F) ZEHEI THE% Al THEE AT rHE% AT rHE%
51H 638 b F—-12% 645-863 |I77Y/AV9h—MyY YU M#{R'/ICCI2M 1,980 = 1,961 - = - - = - - = -
581H 638 b F—- A2y 645-868 |I77Yu/109h—MyY" YTY LR’ /ICCI2L 5920 = 53801 - = - - = - - = -
51H 638 b F—-12% 645-864 | I77Y/4V5h—M)yY" U8 MYF4R'/ICMI2M 1,980 = 1,961 - = - - = - - = -
581H 638 b F—- A2 645-869 |I177Y0/109h—M)yY" I U4 LA /ICM92L 5920 = 53801 - = - - = - - = -
51H 638 b F—-12 % 645-865 |I77/Av9h—M)yY" 4I10— MH{A/ICYI2M 1,980 = 1,961 - = - - = - - = -
5818 638 b F—-12 % 645-870 |I7°YU/4V9h—M)yy 11— LY{R'/ICY92L 5920 = 5801 - = - - = - - = -
6818 638 b F—-12 % 596-465 |I77Y/4V5h—MyY" 7399 M¥{ A /ICBKISM 4676 = 4749 - = - - = - - = -
681H 638 b F—- A2 596-470 | 177YY/4Y9h—MyY" 7599 Li{A'/ICBK9I3L 6,898 = 7010 - = - - = - - = -
6818 638 b F—-12 % 596-467 |I77Y/AV9h—MNyY" YTV M#{R'/ICCI3M 3880 = 3933 - = - - = - - = -
6818 638 b F—- 1Y 596471 |I77Y/109h—MyY" YTV LR’ /ICCI3L 6220 = 6,316 - = - - = - - = -
6818 638|bF—- 1Y 596-468 |I77YY/4V5h—M)yY" 3£ U8 MYF4R'/ICMI3M 3,880 = 3,933 - = - - = - - = -
6818 638 b F—- 1Y 596-472 |1770/409h—MyY" 34 L4 A /ICMI3L 6220 = 6,316 - = - - = - - = -
6818 638|bF—- 1Y 596-469 |I77YY/4V9h—M)yY" 4I0— M¥4R’/ICYIIM 3,880 = 3,933 - = - - = - - = -
6818 638 b F—- A2 596-473 |177Y/409h—M)yY" 410- LH¥4R/ICY9I3L 6220 = 6,316 - = - - = - - = -
6818 638 b F—-12% 596-474 |77/ FUTTVARYIA/PXMB4 2972 = 3,080 - = - - = - - = -
5818 638 b F—-A12Y 667-403 |1772/7'399409h—M)yY M/ICBKIOM 2076 = 1972 - = - - = - - = -
5818 638|bF—- 1Y 667-405 |I770/YToAv9h—M)yy M/ICCIOM 2361 = 2239 - = - - = - - = -
5818 638 b F—-A12Y 667-406 | 177)Y/3t V44V 9h—}F)yY M/ICMIOM 2361 = 2239 - = - - = - - = -
5818 638|bF—- 1Y 667-407 |177)>/410—4Y7h—H)yY M/ICYIOM 2,361 = 2239 - = - - = - - = -
5818 638 b F—-A12Y 667-408 |1770/7'399109h—M)yY L/ICBKIOL 4732 = 4496 - = - - = - - = -
5818 638|bF—- 1Y 667-409 |I770/YTu4U9h—M)yY L/ICCI0L 5208 = 4943 - = - - = - - = -
5818 638 b F—-A12Y 667-410 | 1770/t V44 09h— M)y L/ICMIOL 5208 = 4,943 - = - - = - - = -
5818 638|bF—- 1Y 667-411 |17°Y0/410—4Y9h—M)yY L/ICY90L 5208 = 4943 - = - - = - - = -
5A18 638 b F—-A2Y 637-912 |G)I7"YY/4Y9h—M)yY" 7447599 350ml/ICBK57 10,648 = 10,541 - = - - = - - = -
5A1H 638 k+—-12Y 637-922 |G)I7"YY/4V9h—M)yY" T9b7'594 350ml/ICMB57 10,648 = 10,541 - = - - = - - = -
5A18 638 b F—-A2Y 637-913 |G)I7Yu/4¥9h—b)yY" YTV 350ml/ICC57 10,648 = 10,541 - = - - = - - = -
5A1H 638 bF—-12% 637-914 |GQ)I7YU/AV9h—Myy" EE 9N TE V% 350ml/ICVYM5T 10,648 = 10,541 - = - - = - - = -
581H 638 bF— 12 637-915 |G)I7Yu/Av9h—M)yY" 410- 350ml/ICY57 10,648 = 10,541 - = - - = - - = -
5818 638 b F—- 1Y 637-923 |G)I7"YY/4V9h—M)yY" 7467°F9H 700mI/ICBK58 18,018 = 17,750 - = - - = - - = -
5A18 638 b F—-A2Y 637-934 |G)I7"/4V9h—M)yY" Ivb7'F9% 700ml/ICMB58 18,018 = 17,750 - = - - = - - = -
5818 638 b F—- 1Y 637-924 |G)I7"Y/4Y9h—M)yY" YTV 700ml/ICC58 18,018 = 17,750 - = - - = - - = -
5A18 638 b F—-A2Y 637-925 |G)I7"YY/1V9h—MyY" E'E 3£V 700mI/ICVM58 18,018 = 17,750 - = - - = - - = -
5818 638 b F—- 1Y 637-926 |G)I7"YY/4Y9h—M)yY" 4I0— 700mI/ICY58 18,018 = 17,750 - = - - = - - = -
5A18 639 |bF—- 1Y 696-970 |177Y0/7' 3994090~y M#{R"/ICBKITM 4743 = 4610 - = - - = - - = -
5818 639 |bF—- 1Y 696-968 |I77YY/7'399409h—M)yY L{R"/ICBKI1L 16,572 = 16,000 - = - - = - - = -
6R1H 639 b F—-12Y 117-422 |G)I77Y/AV9h—MyY M 7°3949/1CBK95M 4770 = 4930 - = - - = - - = -
6818 639 |hF—- 1Y 117-421 |G)I77/4V9h—MyY' L 7°39%9/1CBK95L 15,340 = 17,052 - = - - = - - = -
5A1H 639 k+—-14>0 637-912 |G)I7"Yv/4vIh—M)yY" 74b7°595 350mI/ICBK57 10,648 = 10,541 - = - - = - - = -
5818 639 |bF—- 1Y 637-913 |G)I7Y/Av9h—MyY" ¥ 7Y 350ml/ICC57 10,648 = 10,541 - = - - = - - = -
5A1H 639|hF—- 1Y 637-916 |G)I7"Y/4Y9h—M)yY" 34M7Y 350ml/ICLC57 10,648 = 10,541 - = - - = - - = -
5818 639 |bF—- 1Y 637-914 |G)I7YU/Av9h—MyY" EE 9N TE V4 350ml/ICYM5T 10,648 = 10,541 - = - - = - - = -
5A1H 639 k+—-14>0 637-917 |G)I7YV/1v9h—MyY" E'E 9N 74t "% 350ml/ICVLM57 10,648 = 10,541 - = - - = - - = -
5818 639 |bF—- 1Y 637-915 |G)I7"YY/409h—M)yY" 410 350ml/ICY57 10,648 = 10,541 - = - - = - - = -
5A1H 639 |bF—- 1Y 637-922 |G)I7"Y/4Y9h—M)yY" T9b7'59% 350ml/ICMB57 10,648 = 10,541 - = - - = - - = -
5818 639 |bF—- 1Y 637-918 |G)I7YY/A09h—M)yY" §'L— 350mI/ICGY57 10,648 = 10,541 - = - - = - - = -
5A1H 639 k+—-14>0 637-919 |G)L7"Y»/41v7h—M)yY" 5445V~ 350ml/ICLGY57 10,648 = 10,541 - = - - = - - = -
5818 639 | bF—- 1Y 637-923 |G)I7"Y/4Y9h—M)vY 7447599 700mI/ICBK58 18,018 = 17,750 - = - - = - - = -
5A1H 639 |bF—-12Y 637-924 |G)I7Y/Av9h—M)yY" YTV 700ml/ICC58 18,018 = 17,750 - = - - = - - = -

17/26




ARSEMR TR R BT,

RYa—LTAZAYEQIRFEAMIE S 1E LY DIRFEMIETT .

RYa—LTAAHIUD

RY1—LTARN 9D

RY1—LTARHIUQ)

£EH f%vjﬁﬁu AXES BREW IR Se 4% BRSEIEE (#=) HR5EifitE (=) HR5EifitE (%=) AR SE(fE (=) HR5EffitE (%=) AR SE(fE (=)
(20184F) ZEHEI THE% Al THEE AT rHE% AT rHE%
5A1H 639 kF—-1425 637-927 |G)I7"YY/4Y9h—b)yY" 34bT Y 700ml/ICLC58 18,018 = 17,750 - = - - = - - = -
5A1H 639|bF—- 127 637-925 |G)I7Yu/4v9h—M)yY" E'EYNYE Y4 700mI/ICVM58 18,018 = 17,750 - = - - = - - = -
51H 639\ b F—-12% 637-928 |G)I7Y/1V9h—MyY" E'E YN 4Mt% 700ml/ICVLM58 18,018 = 17,750 - = - - = - - = -
581H 639|bF—- 127 637-926 |G)I7"Y/409h—M)yY" 410— 700ml/ICY58 18,018 = 17,750 - = - - = - - = -
5A1H 639 kF—-142% 637-934 |G)I7"YY/4Y9h—t)yY" Iyk7'39% 700ml/ICMB58 18,018 = 17,750 - = - - = - - = -
581H 639|bF—- 127 637-930 |G)I7"YY/4V9h—M)yY" §'L— 700mI/ICGY58 18,018 = 17,750 - = - - = - - = -
5818 639 |hF—- 1Y 637-931 |G)I7"Yv/41v7h—M)yY" 54+5°— 700ml/ICLGY58 18,018 = 17,750 - = - - = - - = -
581H 639 b F—- 127 637-912 |G)I7"YY/4Y9h—MN)yY" 7447599 350ml/ICBK57 10,648 = 10,541 - = - - = - - = -
5818 639 |hF—- 1Y 637-913 |G)I7YV/Av9h—M)yY" YTV 350ml/ICC57 10,648 = 10,541 - = - - = - - = -
5A1H 639 b F—- 127 637-916 |G)I7™Y/AV9h—MyY" 54+7 > 350ml/ICLC57 10,648 = 10,541 - = - - = - - = -
51H 639\ bF—-12 % 637-914 |Q)I7YU/AU9h—M)yY" E'E 9N TE V4 350ml/ICVM57 10,648 = 10,541 - = - - = - - = -
5A1H 639 b F—- 127 637-917 |Q)IFYu/4v9h—Myy EEYN 74 V4 350mI/ICVLM57 10,648 = 10,541 - = - - = - - = -
5A1H 639 k+F—-1429 637-915 |G)I7"YY/4Y9h—M)yY" 410— 350ml/ICY57 10,648 = 10,541 - = - - = - - = -
5A1H 639|bF—- 127 637-920 |G)I7YY/AV9h—MyY” LYY 350ml/ICOR57 10,648 = 10,541 - = - - = - - = -
5A1H 639 k+F—-1429 637-921 |G)I7"YY/4Y9h—M)yY" 471)=Y 350ml/ICGR57 10,648 = 10,541 - = - - = - - = -
5A1H 639|bF—- 127 637-923 |G)17"Y/4Y9h—M)vY 7406755 700mI/ICBK58 18,018 = 17,750 - = - - = - - = -
5818 639 |bF—- 1Y 637-924 |G)I7Y/Av9h—M)yY" YTV 700ml/1ICC58 18,018 = 17,750 - = - - = - - = -
5A1H 639|bF—- 127 637-927 |G)I7"/AV9h—MyY" 34+T Y 700ml/ICLC58 18,018 = 17,750 - = - - = - - = -
51H 639 b F—-12% 637-925 |G)I7Y/4v9h—MyY" E'EYN £V 700mI/ICVM58 18,018 = 17,750 - = - - = - - = -
5A1H 639|bF—- 127 637-928 |G)I7Yu/41v9h—Myy EEYN74bE U4 700mI/ICVLM58 18,018 = 17,750 - = - - = - - = -
51H 639 bF—-12 % 637-926 |G)I7"/4v9h—M)yY" 4IA— 700ml/ICY58 18,018 = 17,750 - = - - = - - = -
5A1H 639 b F—- 127 637-932 |G)I7YY/1V9h—MyY” 4Ly 700ml/ICOR58 18,018 = 17,750 - = - - = - - = -
5A1H 639 k+F—-1429 637-933 |G)I7"YY/4Y9h—t)yY" 471)=Y 700ml/ICGR58 18,018 = 17,750 - = - - = - - = -
5A18 639 b F—-A12Y 623-366 |I77Yu/4v9h—MyY 7°599/SC1BK11 5686 = 5629 - = - - = - - = -
5818 639 |bF—- 1Y 623-470 |I7°Y0/409h—MvY" T9b7'599/SCIMBI1 5686 = 5629 - = - - = - - = -
5A18 639 b F—-A12Y 623-471 |17°Y/409h—MyY" YTU/SCI1C11 5686 = 5629 - = - - = - - = -
5818 639 |bF—- 1Y 623-473 |I77Y0/409h—MyY' vE£'V4/SCIMI1 5686 = 5629 - = - - = - - = -
581H 639 bF— A1 623-476 |177Y/4v9h—M)yY" 410-/SC1Y11 5686 = 5629 - = - - = - - = -
5A1H 639 | b F—-12% 623-531 |I7°YY/409h—MNyY" 74+7°399/SC1BK35 14877 = 14,728 - = - - = - - = -
5A18 639 b F—-A12Y 623-633 |I77YY/AV9h—MyY" I9k7'399/SC1MB35 14877 = 14,728 - = - - = - - = -
5818 639 |bF—- 1Y 623-634 |I77Y/4V9h—MyY" Y TU/SC1C35 14,877 = 14,728 - = - - = - - = -
5A1H 639 b F—-12Y 623-635 |I7YU/4AV9h—Myy 3 U4/SC1M35 14877 = 14,728 - = - - = - - = -
5818 639 |bF—- 1Y 623-636 |I7°Y/1v9h—M)yY" 410—/SC1Y35 14,877 = 14,728 - = - - = - - = -
5A18 639 b F—-A12Y 623-639 | 177Y/4Vh—M)yY" 74k7°39%/SC1BKT0 24063 = 23822 - = - - = - - = -
5A1H 639 kF—-12Y 623-640 | I77YY/409h—MyY" ¥9+7'59%/SC1MBT0 24,063 = 23822 - = - - = - - = -
5A18 639 b F—-A12Y 623-641 |I7°Yu/Av9h—MyY" YTY/SC1CT0 24063 = 23822 - = - - = - - = -
5818 639 |hF—- 1Y 623-642 |177)/109h—M)yY" It 449/SCIMT0 24063 = 23822 - = - - = - - = -
5818 639 |k F—-12% 623-647 |17°)0/4v9h—Myy 41A—/SC1Y70 24,063 = 23822 - = - - = - - = -
6818 640 b F—- 1Y 663-371 |I77YY/ruT TV AN—M)yY /ICMTI 1,700 = 2,000 - = - - = - - = -
6A1H 640 k+—-4>0 138-604 |G)L7™u/4Vh—M)yy 74b7°79%9/SCIBK15 5821 = 5970 - = - - = - - = -
6818 640 b F—- 1Y 138-605 |G)I7Yu/4v9h—Myy" ¥7Y/SCIC15 5821 = 5970 - = - - = - - = -
6A1H 640 b F—-12 % 138-607 |G)I7™Yu/AV9h—MyY 9 L—/SCIGY15 5821 = 5970 - = - - = - - = -
6818 640 b F—- 1Y 138-608 |G)L7Yu/Av9h—Myy 34b/TV/SCILCI5 5821 = 5970 - = - - = - - = -
6A1H 640|bF—- 1Y 138-609 |G)L7u/4vh—M)yy ¥9b7'599/SCIMB15 5821 = 5970 - = - - = - - = -
6818 640 b F—- 1Y 138-611 |G)I7Yu/4v9h—Myy E'EYE54bE V4/SCIVLM15 5821 = 5970 - = - - = - - = -
6A1H 640 k+—-4>% 138-612 |G)I7™Y/AV9h—bM)yy E'EYM It V4/SCIVM15 5821 = 5970 - = - - = - - = -
6818 640k F—- 1Y 138-613 |G)I7Yu/4v9h—M)yy 4IA—/SCIY15 5821 = 5970 - = - - = - - = -
6A1H 640 b F—-12 Y 138-615 |G)I7u/4vh—Myy” 34M°L—/SCILGY15 5821 = 5970 - = - - = - - = -
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6A1H 640 k+—-14>Y 138-616 |G)L7u/4Vh—M)yy 74b7°79%9/SCIBK35 11,295 = 11,584 - = - - = - - = -
681H 640 b F—-A127 138-617 |G)I7™V/4V9h— M)y ¥T7»/SCIC35 11,295 = 11,584 - = - - = - - = -
6818 640 bF—-12 % 138-619 |G)I7YV/AV9h—MyY 5 L—/SCIGY35 11,295 = 11584 - = - - = - - = -
6R1H 640 b F—-A127 138-620 |G)L7Yu/Av9h—Myy 34b/TV/SCILCI5 11,295 = 11,584 - = - - = - - = -
6A1H 640 k+—-142Y 138-621 |G)I7Yu/4v9h—M)yy ¥9+7'599/SCIMB35 11,295 = 11,584 - = - - = - - = -
6R1H 640 b F—-A127 138-623 |G)L7u/4v9h—MyY E'E Y I4heE Y4/SCIVLM3S 11,295 = 11,584 - = - - = - - = -
6818 640 bF—-12 % 138-624 |G)I7™u/4Vh—Myy E'EyE It 4/SCIVM3I5 11,295 = 11584 - = - - = - - = -
6R1H 640 b F—-A127 138-625 |G)L7"v/4v9h—M)yy" 410—/SCIY35 11,295 = 11,584 - = - - = - - = -
6A1H 640 k+—-42Y 138-627 |G)I7u/4vh—Myy" 34b°L—/SCILGY35 11,295 = 11,584 - = - - = - - = -
6818 640 b F—-A12 7 138-628 |G)I7Yu/AV9h—M)yY" 74+7°59%9/SCIBKT0 19,116 = 19,602 - = - - = - - = -
6818 640 kF—-A42% 138-629 |G)I7Yu/4Avh—Myy" ¥74/SCICT0 19,116 = 19,602 - = - - = - - = -
6R1H 640 b F—-A427 138-631 |G)I7YV/AV9h—MyY §'L—/SCIGYT0 19,116 = 19,602 - = - - = - - = -
6A1H 640 b F—-12% 138-632 |G)L7"/AVh—b)yy” F4bTY/SCILCTO 19,116 = 19,602 - = - - = - - = -
6818 640 b F—-A427 138-633 |G)L7u/4Vh—Myy ¥9b7'F99/SCIMBT0 19,116 = 19,602 - = - - = - - = -
6A1H 640 b F—-12% 138-635 |G)I7Yu/4v9h—Myy E'EYhI4heE Y4/SCIVLMTO 19,116 = 19,602 - = - - = - - = -
6818 640 b F—-A427 138-636 |G)I7V/4V9h—Myy By It V4/SCIVMT0 19,116 = 19,602 - = - - = - - = -
6A1H 640 b F—-127 138-637 |G)I7Yv/4v9h—M)yy" 4IA—/SCIY70 19,116 = 19,602 - = - - = - - = -
6R1H 640 b F—-A427 138-639 |G)L7™v/4vh—Myy” 34M°L—/SCILGYT0 19,116 = 19,602 - = - - = - - = -
6A1H 640 bF—-12 % 138-603 |17/ AuTFVAK YIR/SCIMB 5213 = 6,000 - = - - = - - = -
581H 640 b F—-A427 638-484 |177Yu/4v9h—MyY YTU/PJICIC 4913 = 4806 - = - - = - - = -
5818 640|bF—- 1Y 638-486 | I77YY/4V9h—MyY" 34 TFY/PJIC2LC 4913 = 43806 - = - - = - - = -
5818 640 kF—-12% 638-489 |177Y/109h—MyY" 34+’ V4 /PJIC3LM 4913 = 4806 - = - - = - - = -
51H 640 b F—-12 % 638-491 |I7°Yu/409h—MyY" 3t V4/PJIICAM 4913 = 4806 - = - - = - - = -
581H 640 bF—-q12%H 638-493 |177Yu/41v9h—M)yY" 410—/PJICEY 4913 = 4806 - = - - = - - = -
5A1H 640 b F—-12% 638-494 |17°0/4V9h—MvY" 7°394/PJICEK 4913 = 4806 - = - - = - - = -
6818 641 |k F—-A127Y 921-585 |17°YY/4109h—MyY" 7407°F99/ICBK79 2275 = 2315 - = - - = - - = -
6818 641 | bF—-12% 921-586 |I7°YY/4V9h—MvY" ¥9+7'3949/ICMBT9 2275 = 2315 - = - - = - - = -
6818 641 |k F—-A127Y 921-587 |17°YY/409h—M)yYy" ¥ TY/ICCT9 2275 = 2315 - = - - = - - = -
6A1H 641 |k F—-12%9 921-590 |I7°YY/4Y9h—M)yY" 34/ F2/ICLCT9 2275 = 2315 - = - - = - - = -
6818 641 |k F—-A127Y 921-588 |177Yu/4v9h—MyY" £ yME V4/ICVMT9 2275 = 2315 - = - - = - - = -
6818 641 | bF—-12 % 921-591 |I7°Yu/409h—MyY" EE Y54 V4/ICVLMT9 2275 = 2315 - = - - = - - = -
6818 641 b F— 4124 921-589 |17°Yv/4v9h—M)yY" {10—/I1CYT9 2275 = 2315 - = - - = - - = -
6818 641 | bF—-12% 921-592 |I7°Yu/409h—MyY" §'L—/ICGYT9 2275 = 2315 - = - - = - - = -
6818 641 |k F—-A127Y 921-593 |17°YY/4109h—M)yY" 34+ L—/ICLGYT9 2275 = 2315 - = - - = - - = -
6818 641 | bF—-12% 921-594 |17°YY/409h—MyYy" 98N Y9/1CICLTY 19,500 = 19,715 - = - - = - - = -
6R1H 641 bF—-12% 812-862 |G)¥¥/0/409Y 19M VY 7399 /BCI-3eBK 781 = 843 - = 825 (2~) - = = - = =
6818 641 |k F—-12%9 812-871 |GQ)¥¥/v/BJM)50% BCI-3eCY7/4480A001 745 = 792 - = 780 (2~) - = = - = =
6818 641 b F—-42% 812-889 |G)¥¥/v/BJ1UY4v) BCI-3eMvt 4/4481A001 745 = 792 - = 780 (2~) - = = - = =
6818 641 kF—-A12%Y 812-898 |G)¥¥/v/BJIM)4vY BCI-3eY{10—/4482A001 745 = 792 - = 780 (2~) - = = - = =
6818 641 b F—-1279 616-334 |G)¥¥/Y/BCl-3e 43 FNy)(BK/C/M/Y)/1776B001 2991 = 3177 2931 2~) = 3,138 (2~) - = - - = -
6818 641 |k F—-12%9 668-871 |G)¥¥/V/FINEA—M)vY" 7'5v% BC-340/5213B001 1597 = 1,696 1565 2~) = 1,609 (2~) - = = - = =
51H 641 | bF—-12 % 636-946 |G)IIYA/ VY19 41Y 7°59%9(9800154)/ECI-C340B-V 1,124 = 1,124 - = 1,086 (2~) - = = - = =
6818 641 |k F—-12%9 668-872 |G)¥¥/V/FINEA—M)yY 7 799( KB E) BC-340XL/5211B001 2345 = 2490 2247 2~) = 2,387 (2~) - = = - = =
6818 641 b F—-42% 921-581 |13//BC-340XLE #1414 5h—H)yY /ECI-C340XLB-V 1,500 = 1,550 - = 1,512 (2~) - = = - = =
6A1H 641 |k F— 1Y 668-873 |G)¥¥/»/FINEA—M)yY" 3H7— BC-341/5215B001 1,787 = 1,905 1,695 2~) = 1,808 (2~) - = = - = =
581H 641 b F—- 1249 636-947 |G)ITVN/VH1HN41vY 3815—(9800155)/ECI-C341C-V 1,286 = 1,286 - = 1,229 (2~) - = = - = =
6818 641 |k F—-12% 668-874 |G)¥¥/U/FINEA—M)yY 3BNT—(KBEE)BC-341XL/5214B001 | 2,534 = 2,690 2419 2~) = 2,569 (2~) - = = - = =
6818 641 |k F—-127 921-582 |13h/BC-341XLE YY1 I 1V 9h—F)yY'/ECI-CI41XLC-V 1652 = 1,762 - = 1,705 (2~) - = = - = =
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6818 641 kF—-425 697-793 |¥¥/v/41,9%% BCI-351BK 7°3v%/6503B001 740 = 797 - = 779 (2~) - = = - = =
6H1H 641 bF—-125 697-798 |¥¥/u/194v%) BCI-351XLBK(KAE) 7'799/6438B001 1,179 = 1,257 - = 1,210 (2~) - = - - = -
5A1H 641 |bF—- 129 667-131 |G)IIYA/ Y1904 YY 7°59%9/ECI-C351XLB 919 = 919 - = 839 (2~) - = = - = =
6R1H 641 b F—- 127 696-621 |%¥/0/41959BCI-350PGBK(Z4E) 7°5v%/6495B001 931 = 987 915 2~) = 970 (2~) - = = - = =
6A1H 641 |k F—-127 696-622 |¥¥/0/1,95,9BCI-350XLPGBK(ABE) 7'774/6430B001 1290 = 1,374 - = - - = - - = -
6R1H 641 b F—- 127 696-623 |¥V/0/1094v9BCI-350XLPGBK2P2EN YY) - KB &) 7599 2,498 = 2651 2,467 2~) = 2,619 (2~) - = = - = =
6818 641 |bF—-12 % 667-130 |G)IIYA/ Y1904 YY 7°59%9/ECI-C350XLB 1013 = 1,020 - = 1,005 (2~) - = = - = =
6R1H 641 b F—- 127 620-672 |¥¥/v/4195) BCI-355XXLPGBK(F KR £)7 7v9/8048B001 | 1,780 = 1,870 - = - - = - - = -
6A1H 641 |k F—-127 697-794 |¥¥/v/4195v% BCI-351C ¥7v/6504B001 740 = 797 724 2~) = 779 (2~) - = - - = -
6H1H 641 b F—-125 697-799 |¥¥/v/194v) BCI-351XLC(KBE) ¥7V/6439B001 1,179 = 1,257 1134 2~) = 1,210 (2~) - = - - = -
5A1H 641 kF—-1429 667-132 |G)IIYA/ VY19 1Y YTY/ECI-C351XLC 919 = 919 - = 839 (2~) - = = - = =
6H1H 641 b F—-125 697-796 |¥¥/U/1,9%%9 BCI-351M ¥t'%4/6505B001 740 = 797 724 2~) = 779 (2~) - = - - = -
6A1H 641 |k F—-127 697-801 |%¥/0/40942%) BCI-351XLM(KEE) v ~%/6440B001 1179 = 1257 1,134 2~) = 1210 (2~) - = = - = =
5818 641 bF—-125 667-151 |G)IIYA/ VY190 4VY 3£ V4/ECI-C351XLM 919 = 919 - = 839 (2~) - = - - = -
6A1H 641 |k F—-1279 697-803 |¥¥/v/4195v% BCI-351Y 110—/6506B001 740 = 797 724 2~) = 779 (2~) - = = - = =
6818 641 bF—-42Y 697-802 |¥¥/v/41v95v%) BCI-351XLY(KEE) 110—/6441B001 1,179 = 1257 1,134 2~) = 1,210 (2~) - = = - = =
5A1H 641 kF—-1429 667-153 |G)IIYA/ ¥4I 4I—/ECI-C351XLY 919 = 919 - = 839 (2~) - = = - = =
6H1H 641 bF—-125 697-795 |¥¥/v/194v%9 BCI-351GY 9'L—/6507B001 740 = 797 - = 779 (2~) - = - - = -
6A1H 641 |k F—-1279 697-800 |¥¥/v/41v95v%9 BCI-351XLGY(KBE ¥'L—/6442B001 1179 = 1210 - = - - = - - = -
5818 641 bF—-125 667-157 |G)IIVA/ VY190 AYY 4 L—/ECI-C351XLGY 919 = 919 - = 839 (2~) - = - - = -
6A1H 641 kF—-1429 696-624 |¥/0/1959BC1-351+350/5MPYILFN"yI(1Z%E)/6552B003 | 3,750 = 3,987 3705 2~) = 3,938 (2~) - = = - = =
6R1H 641 bF—-4>9 696-625 |¥¥/0/41959BCI-351+350/6MPVILFN'yI(1EHE)/6552B004 | 4,418 = 4,688 4372 2~) = 4,638 (2~) - = = - = =
6A1H 641 |bF—-12% 605-765 |¥¥/0/41,94v)BCI-351XL+350XL/5MP VIV FN Y ) KRBE 5625 = 50975 5593 2~) = 5941 (2~) - = = - = =
6818 641 |k F—-A127Y 940-417 |G)I3Yh/%+/VBCI-351XL+350XL5MP 41719 3550 = 4280 - = 4,195 (2~) - = = - = =
6818 641 | bF—-12% 605-766 |¥¥/0/41,94vJBCI-351XL+350XL/6MP VI FN Y ) (KRB E 6571 = 6,978 6,536 2~) = 6,941 (2~) - = = - = =
5818 641 | bF—-12Y 192-506 |G)CANON/4Y94v9 7594 INRE BCI-381sBK/2342C001 780 = 720 - = 713 (2~) - = = - = =
5A1H 641 |k F—-127 192-505 |G)CANON/4v94v%9 7'39% NS E BCI-380sPGBK/2338C001 990 = 900 - = 891 (2~) - = = - = =
5A18 641 |k F—-A127Y 192-500 |G)CANON/4v%94v% 7°79% BCI-381BK/2336C001 1,100 = 1,010 - = 1,000 (2~) - = = - = =
5A1H 641 |k F—-12%9 192-499 |G)CANON/4Y%44% 7°39% BCI-380PGBK/2332C001 1,300 = 1,190 - = 1,178 (2~) - = = - = =
5A1H 641 |bF—- 12 192-498 |G)CANON/4v495v%9 7599 K2 E BCI-380XLPGBK/2326C001 | 1,750 = 1,600 - = 1,584 (2~) - = = - = =
5A1H 641 kF—-1429 192-507 |G)CANON/4v%4v%9 Y7 INRE BCI-381sC/2339C001 780 = 720 - = 713 (2~) - = = - = =
5A18 641 |k F—-A127Y 192-501 |G)CANON/4v%4v9 ¥ 7> BCI-381C/2333C001 1,100 = 1,010 - = 1,000 (2~) - = = - = =
5A1H 641 |k F—-12% 192-508 |G)CANON/4v94v% 3£'v% INES & BCI-381sM/2340C001 780 = 720 - = 713 (2~) - = = - = =
5A18 641 |k F—-A127Y 192-502 |G)CANON/4>%4% 34'»% BCI-381M/2334C001 1,100 = 1,010 - = 1,000 (2~) - = = - = =
5A1H 641 |k F—-12% 192-509 |G)CANON/4v%4v% 410— INAE BCI-381sY/2341C001 780 = 720 - = 713 (2~) - = = - = =
5A1H 641\ F—-12% 192-503 |G)CANON/4 %49 41IA— BCI-381Y/2335C001 1,100 = 1,010 - = 1,000 (2~) - = = - = =
5A1H 641 |k F—-12%9 192-510 |G)CANON/4Y94549 4'L— INBFEBCI-381sGY/2343C001 780 = 720 - = 713 (2~) - = = - = =
5A1H 641 |k F—-1279 192-504 |G)CANON/4>%42% 4L— BCI-381GY/2337C001 1,100 = 1,010 - = 1,000 (2~) - . = - = =
5A1H 641 |k F—-12% 192-514 |G)CANON/4Y94v9 INFN'yY) INSE BCI-381s+380s/5MP 3980 = 3623 - = - - = - - = -
5A1H 641 |k F—- 129 192-513 |G)CANON/4Y9509 IWFNyHINE & BCI-381s+380s/6MP 4780 = 4307 - = - - = - - = -
5A1H 641 |k F—-12%9 192-512 |G)CANON/4Y94v9 IVFi'yH BCI-381+380/5MP+L$I304K 5580 = 5019 - = - - = - - = -
5A1H 641 |k F—- 1249 192-511 |G)CANON/4Y%4v%9 TFN ') BCI-381+380/6MP+L¥$|304% 6,580 = 5089 - = - - = - - = -
5A1H 642 b F—-42Y 192-517 |G)CANON/FINEA—})yY" 7599 BC-345/2159C001 1,820 = 1,663 - = - - = - - = -
5818 642 b F—-42Y 192-515 |G)CANON/FINEA—M)vY" 7599 KRB E BC-345XL/2158C001 2700 = 2445 - = - - = - - = -
5818 642|bF— 42 192-518 |G)CANON/FINEA—I)yY" 3h7— BC-346/2161C001 2,050 = 1861 - = - - = - - = -
5A1H 642|bF—- 1Y 192-516 |G)CANON/FINEA—)yY" 3BH5— KB EBC-346XL/2160C001 | 2,480 = 2247 - = - - = - - = -
5A1H 642 b F—-42Y 192-491 |G)CANON/4Y%4Y%9 7°39% XKI-N11BK/2042C001 760 = 700 - = 693 (2~) - = = - = =
5A1H 642|bF—- 12y 192-485 |G)CANON/4V94v%) 7°799 KA E XKI-N11XLBK/1988C001 1,020 = 930 - = 920 (2~) - = = - = =
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(20184F) ZEHEI THE% Al THEE AT rHE% AT rHE%
5A1H 642 b F—-4279 192-490 |G)CANON/4Y%94Y% 7°39% XKI-N10PGBK/2022C001 990 = 900 - = 891 (2~) - = = - = =
5A1H 642|bF—- 427 192-484 |G)CANON/4v495v%9 7599 KBE XKI-N10XLPGBK/1968C001| 1,140 = 1,040 - = 1,029 (2~) - = = - = =
5A1H 642 b F—-4279 192-492 |G)CANON/4Y94v%9 Y7 XKI-N11C/2039C001 760 = 700 - = 693 (2~) - = = - = =
581H 642\ b F— 1Y 192-486 |G)CANON/AY94v%9 Y7y KR E XKI-N11XLC/1985C001 1020 = 930 - = 920 (2~) - = = - = =
5A1H 642 b F—-1279 192-493 |G)CANON/4 Y9429 3t 8 XKI-N11M/2040C001 760 = 700 - = 693 (2~) - = = - = =
581H 642\ b F— 1Y 192-487 |G)CANON/4V940) 3108 KRB E XKI-N11XLM/1986C001 1020 = 930 - = 920 (2~) - = = - = =
5818 642k F—-A2% 192-494 |G)CANON/4v%4v% 4IA— XKI-N11Y/2041C001 760 = 700 - = 693 (2~) - = = - = =
5A1H 642|bF—- 427 192-488 |G)CANON/4Y94v9 410— KB E XKI-N11XLY/1987C001 1020 = 930 - = 920 (2~) - = = - = =
5A1H 642 b F—-1279 192-495 |G)CANON/4Y94Y% 7447 )b— XKI-N11PB/2043C001 760 = 700 - = 693 (2~) - = = - = =
5A1H 642\ b F—- 427 192-489 |G)CANON/Av949v9 7407 1h— KB E XKI-N11XLPB/1989C001 | 1,020 = 930 - = 920 (2~) - = - - = -
5A1H 642 bF—-42Y 192-497 |G)CANON/4Y%45%9 TFNyY XKI-N11+N10/6MP/2172C004 | 4,680 = 4208 - = - - = - - = -
5818 642 b F—-42Y 192-496 |G)CANON/4Y9849 XKI-NT1XL+N10XL/6MP YLFNyIKR= | 6,080 = 5464 - = - - = - - = -
681H 642 b F—-42Y 134-787 |G)¥¥/v/4v9%% BCI-371BK 7°5v%/0380C001 798 = 852 - = 843 (2~) - = - - = -
6A1H 642 bF—-A2Y 134-792 |G)¥Y/v/1v9%0% BCI-3TIXLBK 7599 KA E/0326C001 1,205 = 1,270 - = - - = - - = -
581H 642 |k F—-12% 158-476 |G)I1YH/BCI-371XLBKE #)# 4L 1»9h—}F)yY /ECI-CITIXLB 980 = 723 - = = - = = - = -
6R1H 642\ b F—- 427 134-786 |G)¥¥/v/14942% BCI-371C ¥72/0381C001 798 = 852 - = 843 (2~) - = = - = =
6818 642\ bF—-12 Y 134-791 |G)¥¥/v/4109%% BCI-371XLC Y7V KZEE/0327C001 1,205 = 1,270 - = - - = - - = -
5818 642 b F—-42Y 158-477 |G)I1Y#/BCI-37T1XLCE 1IN 1Y 7h—M)yY'/ECI-CITIXLC 980 = 723 - = - - = - - = -
6A1H 642 b F—-427Y 134-785 |G)¥¥/v/1U9%% BCI-371M ¥+'»4/0382C001 798 = 852 - = 843 (2~) - = = - = =
6R1H 642\ b F—- 427 134-790 |G)¥¥/V/4109%% BCI-371XLM ¥¥'V4 KB E/0328C001 1,205 = 1,270 - = - - = - - = -
51H 642\ bF—-12 Y 158-479 |G)I2Yh/BCI-37TIXLME H#YH 1942 9h—M)yY /ECI-CITIXLM 980 = 723 - = - - = - - = -
6R1H 642\ b F—- 427 134-784 |G)*¥¥/v/4v9%% BCI-371Y 410—/0383C001 798 = 852 - = 843 (2~) - = = - = =
6H1H 642\ bF—-12 Y 134-789 |G)X¥/v/4109%%9 BCI-371XLY 4I0— K& E/0329C001 1,205 = 1,270 - = - - = - - = -
5A1H 642 b F—-42Y 158-480 |G)I1Y#/BCI-3T1IXLY A #4941 h—M)yy /ECI-C3TIXLY 980 = 723 - = - - = - - = -
6A1H 642 b F—-12Y 134-783 |G)¥¥/v/41,49%% BCI-371GY 4'L—/0384C001 798 = 852 - = 843 (2~) - = = - = =
6R1H 642 b F—-42Y 134-788 |G)¥¥/v/19%0%9 BCI-37T1XLGY ¥'L— K& E/0330C001 1,205 = 1,270 - = - - = - - = -
5818 642 b F—-12% 158-481 |G)I2YH/BCI-3TIXLGYE Y494V 9h—M)yY'/ECI-C3TIXLGY 980 = 723 - = = - = = - = =
6R1H 642 b F—-42Y 134-794 |G)¥¥/v/19%%9 BCI-370PGBK 7°39%/0371C001 1,009 = 1,068 - = 1,058 (2~) - = = - = =
5A1H 642 \bF—-12 Y 158-471 |G)I3)h/BCI-370XLPGBKE #! % 194V Ih— )y 1,100 = 815 - = - - = - - = -
681H 642|bf—- A1y 134-793 |G)%¥/V/41094Y9BCI-370XLPGBK2P7 39/ K B £ 2/E 2587 = 2727 - = - - = - - = -
6A1H 642 b F—-12Y 134-780 |G)%¥/v/10494% BCI-371+370/5MPYLF 1 "y4,/0732C003 4096 = 4307 - = - - = - - = -
6818 642\ b F—-A427Y 134-782 |G)¥¥/v/BCI-371XL+370XL/5MP LFN'y) KR E/0732C001 | 5859 = 6,150 - = - - = - - = -
6A1H 642 b F—-127Y 134-779 |G)%¥/v/10940% BCI-371+370/6MP VILFNv5/0732C004 4880 = 5132 - = - - = - - = -
6818 642\ b F—-A427Y 134-781 |G)¥¥/v/BCI-371XL+370XL/6MP YL FN'y) KZRE/0732C002 | 6,840 = 7,180 - = - - = - - = -
6A1H 642 b F—-12Y 674-984 |G)¥Y/v/1v959 BCI-325PGBK 7°5v%/4528B001 994 = 1,053 - = - - = - - = -
6818 642\bF—-12 Y 670-808 |G)IIYh/YH19N4VY 7°59%9/ECI-C325B 752 = 753 - = 696 (2~) - = = - = =
6A1H 642 b F—-42Y 681-298 |¥¥/v/4094v%) BCI-325PGBK2P7"3y% 2{@n"y%9/4713B007 1,867 = 1,979 1842 2~) = 1,953 (2~) - = = - = =
6818 642 b F—-42Y 674-985 |G)¥Y/v/1v9509 BCI-326BK 7°7v4/4535B001 898 = 954 - = 919 (2~) - = = - = =
5A1H 642 b F—-42Y 670-809 |G)IIYA/VY19MLY 7°399/ECI-C326B 705 = 680 - = 648 (2~) - = = - = =
6818 642 b F—-42Y 674-986 |G)¥Y/v/1v94% BCI-326C ¥T2/4536B001 900 = 954 866 2~) = 919 (2~) - = = - = =
5A1H 642 b F—-42Y 670-810 |G)IIYh/YH¥19N40Y ¥T72/ECI-C326C 705 = 680 - = 648 (2~) - = = - = =
6818 642 b F—-42Y 674-987 |G)¥Y/v/41v95v9 BCI-326M ¥¥'»%4/4537B001 900 = 954 866 2~) = 919 (2~) - = = - = =
5A1H 642 b F—-42Y 670-811 |G)IIVH/ VY19 4H 3+ ~4/ECI-C326M 705 = 680 - = 648 (2~) - = = - = =
6818 642 b F—-42Y 674-988 |G)¥Y/v/1v949 BCI-326Y {IA—/4538B001 900 = 954 866 2~) = 919 (2~) - = = - = =
5A1H 642 b F—-42Y 670-812 |G)I3Yh/V¥41941H 110—/ECI-C326Y 705 = 680 - = 648 (2~) - = = - = =
6818 642 b F—-425 674-989 |G)¥¥/v/4v950) BCI-326GY H'L—/4539B001 900 = 954 - = 919 (2~) - = = - = =
5A1H 642 b F—-42Y 670-813 |G)IIYH/ V¥4 41) §'L—/ECI-C326GY 705 = 680 - = 648 (2~) - = = - = =
6R1H 642\ b F—-A427Y 674-983 |G)¥¥/U/1v950) BCI-326+325/5MP 3 LF1\"y%/4713B001 4437 = 4708 4285 (2~) = 4,547 (2~) - = = - = -
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(20184F) ZEHEI THE% Al THEE AT rHE% AT rHE%
51H 642 b F—-12 Y 631-857 |G)Tah/ 44129 58N "yH/ECI-C325+3265P/BOX 3505 = 3280 - = 3240 (2~) - = = - = =
6H1H 642 bF—-125 674-981 |G)¥¥/v/4v940) BCI-326+325/6MP LFN"y%9/4713B002 5195 = 5514 5019 2~) = 5328 (2~) - = - - = -
51H 642 b F—-12 Y 685-533 |G)IIYA/JH1IMVY 6N 'yH/ECI-C325+3266P/BOX 3981 = 3780 - = 3,704 (2~) - = = - = =
5A1H 642|bF—- 427 616-397 |¥¥/2/BCI-19 Color h5— 10952%/1510B001 1547 = 1531 1516 3~) = 1515 (3~) - = = - = =
6A1H 642 b F—-1279 649-648 |G)¥Y/V/4109Y 1ybh—M)yYy" BC-3107'79%/2967B001 2219 = 2358 2,195 2~4) = 2,150 (2~) 2,150 (5~) = = - = -
5A1H 642|bF—- 427 684-379 |G)IIYA/JH19MVY 7°79%9/ECI-C310B-V 1,695 = 1,695 - = 1,639 (2~) - = = - = =
681H 642|bF—- 129 649-646 |G)¥¥/V/4VY  tybh—M)yY" 3EH7— BC-311/2968B001 2380 = 2528 2355 2~) = 2,501 (2~) - = = - = =
5A1H 643 b F—- 127 696-641 | ¥¥/0/4v9929 T9+7'79% PGI-39MBK/4856B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—-12Y 696-642 |¥¥/0/40942%9 74475949 PGI-39PBK/4857B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—- 127 696-647 |¥¥/0/40945v%9 YTV PGI-39C/4861B001 2435 = 2362 - = - - = - - = -
51H 643\ bF—-12 Y 696-648 |¥/u/10940%9 3t'U% PGI-39M/4862B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—- 127 696-649 |¥v/u/1V9%v%9 11A— PGI-39Y/4863B001 2435 = 2362 - = - - = - - = -
51H 643\ bF—-12 Y 696-650 |¥¥/0/109495%9 7467 PGI-39PC/4864B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—- 12y 697-664 |¥¥/0/109509 74h2E Y% PGI-39PM/4865B001 2435 = 2362 - = - - = - - = -
51H 643\ bF—-12 % 697-665 |¥V/0/109454%9 Lyt PGI-39R/4866B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—- 12y 696-644 |¥¥/0/1095%9 4 L— PGI-39GY/4859B001 2435 = 2362 - = - - = - - = -
51H 643\ bF—-12 % 696-643 |¥V/0/4109409 =99’ L— PGI-39DGY/4858B001 2435 = 2362 - = - - = - - = -
5A1H 643 b F—- 12y 696-646 |¥¥/0/10959 748°L— PGI-39LGY/4860B001 2435 = 2362 - = - - = - - = -
51H 643\ bF—-12 % 697-666 |¥¥/0/109509 4nv47°T434% — PGI-39C0/4867B001 2435 = 2362 - = - - = - - = -
5818 643 b F—-12Y 697-818 |¥¥/0/194v) PGI-13MBK ¥y+7°79%/6392B001 848 = 848 - = 838 (2~) - = - - = -
5A1H 643 b F—-12Y 697-819 |%¥/0/4v94v%) PGI-73PBK 74+7°34/6393B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—- 127 697-813 |¥¥/0/4094v%9 PGI-13C ¥7/6394B001 848 = 848 - = 838 (2~) - = = - = =
51H 643\ bF—-12 Y 697-817 |¥¥/u/1v9%v%9 PGI-13M ¥+ »4/6395B001 848 = 848 - = 838 (2~) - = = - = =
5A18 643 b F—- 12 697-823 |¥¥/v/41940%9 PGI-73Y 11A—/6396B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—-12Y 697-820 |¥¥/v/40942%) PGI-73PC 74b/7/6397B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—-12Y 697-821 |¥¥/0/194v%9 PGI-13PM 74bv+'V%/6398B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—-12Y 697-822 |¥¥/v/409%v9 PGI-73R Ly} /6400B001 848 = 848 - = 838 (2~) - = = - = =
5A18 643 b F—-A12 Y 697-816 |¥¥/v/41094v%9 PGI-73GY 4'L—/6399B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—-12Y 697-814 |¥¥/v/41955%9 PGI-73C0O Y0v347°7434% —/6401B001 848 = 848 - = 838 (2~) - = = - = =
5A1H 643 b F—-12Y 627-889 |G)¥¥/0/4109 1yMUH PFI-102BK7'59%/0895B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 627-890 |G)¥V/V/419 190 V) PFI-102CYT72/0896B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 627-891 |G)¥¥/0/109Y 1y V) PFI-102MYt"~4/0897B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 627-892 |G)¥Y/V/4v9Y 19M Y% PFI-102Y{/1I0—/0898B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 627-889 |G)¥¥/0/4109 1yM YUY PFI-102BK7'59%/0895B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 627-890 |G)¥V/V/19 190 V) PFI-102CYT2/0896B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-12Y 637-855 |G)¥¥/v/4v94)PFI-104M/3631B001 6,029 = 50913 - = - - = - - = -
5A1H 643 kF—-142Y 627-892 |G)¥Y/V/4v9Y 19M YUY PFI-102Y{/I0—/0898B001 6,029 = 50913 - = - - = - - = -
5A1H 643 b F—-A12Y 637-858 |%¥/Y/1320B013/+07+VAN—M)yY MC-10 5300 = 5244 - = - - = - - = -
5A1H 643 kF—-12Y 698-003 |¥¥/u/1094v)EEFTyM7"59%9 700ml PFI-706MBK/6680B001 | 30,286 = 28,750 - = - - = - - = -
51H 643 b F—-A425 698-005 |¥¥/v/41v94v%) EEFL7 599 700ml PFI-706BK/6681B001 30,286 = 28,750 - = - - = - - = -
5A1H 643 kF—-12Y 698-006 |¥¥/v/4v94v% EEFIYTY 700ml PFI-706C/6682B001 30,286 = 28,750 - = - - = - - = -
5A1H 643k F—-12% 698-007 |¥¥/u/409450% BERIYE VS 700ml PFI-706M/6683B001 30,286 = 28,750 - = - - = - - = -
5A1H 643 kF—-142Y 698-008 |¥¥/v/4109450% EB¥M 10— 700ml PFI-706Y/6684B001 30,286 = 28,750 - = - - = - - = -
51H 643 b F—-A425 698-009 |¥¥/v/10945v% EBFI 74TV 700ml PFI-706PC/6685B001 30,286 = 28,750 - = - - = - - = -
5A1H 643 kF—-142Y 698-010 |¥¥/v/4195v% #7431 % 700ml PFI-706PM/6686B001 | 30,286 = 28,750 - = - - = - - = -
51H 643 b F—-125 698-011 |¥¥/0/40945% EBFILYE 700ml PFI-706R/6687B001 30,286 = 28,750 - = - - = - - = -
5A1H 643 kF—-12Y 698-012 |¥¥/v/1v94v%) EBFLY™)—> 700ml PFI-706G/6688B001 30,286 = 28,750 - = - - = - - = -
51H 643 b F—-125 698-014 |¥¥/0/4v94v%) EBF7 )b— 700ml PFI-706B/6689B001 30,286 = 28,750 - = - - = - - = -
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51H 643 b F—-42 Y 698-015 |¥¥/0/4v94v% EBFHY L— 700ml PFI-706GY/6690B001 30,286 = 28,750 - = - - = - - = -
5A1H 643 b F—- 127 698-016 |¥V/u/1094v) EE¥ 749 L— 700ml PFI-706PGY/6691B001 | 30,286 = 28,750 - = - - = - - = -
5818 643 b F—- 124 649-420 |¥V/0/h7—4109/~N=N—Eyb LH{12"10848 KL-36IP 3PACK 2429 = 2429 2380 2~) = 2376 (2~) - = = - = =
5A1H 644 b F—- 427 624-882 |7'7% /1 9h—bM)yy KB E 7'799/LC3129BK 2,790 = 2740 - = - - = - - = -
51H 644 b F—-42 Y 626-405 |7 7% —/41v9h—Myy KB = ¥74/LC3129C 1490 = 1470 - = - - = - - = -
5A1H 644 b F—- 427 626-406 | 774 —/109h—M)yy RBE ¥t4/LC3129M 1,490 = 1470 - = - - = - - = -
5818 644|bF—-AY 626-408 | 734 —/41v9h—M)yy KB E 110-/LC3129Y 1490 = 1470 - = - - = - - = -
5A1H 644 b F—- 427 604-250 |7'7%'=/4v9h—M)yy B/LC3117BK 1284 = 1,170 - = - - = - - = -
581H 644k F—-A42% 604-265 |7'7% =/4v9h—Myy KEBEE E/LC3119BK 4490 = 4380 - = - - = - - = -
5A1H 644|bF—- 429 604-254 |7'7% =/4v9h—Myy ¥7Y/LC3117C 1284 = 1,170 - = - - = - - = -
5A1H 644 b F—-427Y 604-266 |7 7% —/1v9h—M)yy KB = ¥74/LC3119C 2190 = 2140 - = - - = - - = -
5A1H 644|bF—- 429 604-255 |7'7% =/4v9h—M)yy € V4/LC311TM 1284 = 1,170 - = - - = - - = -
5818 644 bF—-A42Y 604-267 | 774 —/41v9h—Myy KRB=E It 49/LC3119M 2,190 = 2140 - = - - = - - = -
5A1H 644 b F—- 42 604-257 |7'7% =/4v9h—M)yy 410—-/LC3117Y 1,284 = 1,170 - = - - = - - = -
5A1H 644 b F—-42Y 604-270 | 774 —/4Y9h—M)yy” KB E /1A—/LC3119Y 2190 = 2140 - = - - = - - = -
5A1H 644 b F—- 42 604-264 | 774 =/109h—bM)yY" 4EBNYH/LC3117-4PK 4490 = 4410 - = - - = - - = -
5818 644 bF—-A42Y 604-271 |7°'3% ' =/4109h— vy KRBE24En1v)/LC3119-4PK 10,390 = 10,190 - = - - = - - = -
5A1H 644 b F—- 42 616-322 |7'7%'=/4v9h—Myy" 7°399/LC10BK 2056 = 1898 - = - - = - - = -
51H 644 \bF—-12 Y 616-323 |7 7% =/4v9h—M)yy" ¥7»/LC10C 1,206 = 1,025 - = - - = - - = -
5A1H 644 b F—- 42 616-324 |77 =/4V9h—Myy T V4/LC10M 1,206 = 1,025 - = - - = - - = -
51H 644 \bF—-12 Y 616-325 |7 7% =/4v9h—M)yy" 41A—/LC10Y 1,206 = 1,025 - = - - = - - = -
5A1H 644|bF—- 429 636-581 |7'7% =/4v9h—MNyy 7399 248n'9H/LC10BK-2PK 3523 = 3376 - = - - = - - = -
51H 644 \bF—-12 Y 616-326 | 774 —=/4109h—M)yY" 4BN"YH/LC10-4PK 4942 = 4597 4843 2~) = = - = = - = =
5A18 644|bF—-A42Y 683-558 |7'7% =/4v9h—Myy 7°399/LC12BK 1,338 = 1238 - = - - = - - = -
5A1H 644 \bF—-12 Y 683-560 |7 7% =/4v9h—M)yy ¥FU/LC12C 1,148 = 1,050 1,125 2~) = = - = = - = =
5A18 644|bF—-A42Y 683-561 |7'7% =/4v9h—Myy T V4/LC12M 1,148 = 1,050 1,125 2~) = = - = = - = =
5A1H 644 \bF—-12 Y 683-562 |7 7% =/4v9h—M)yy" 41A—/LC12Y 1,148 = 1,050 1,125 2~) = = - = = - = =
5A18 644 b F—-A42Y 628-189 | 774 —/4v9h—M)yY” HERAE2{ENy)/LC12BK-2PK 2628 = 2375 2613 (2~) = = - = = - = =
6818 644 bF—-12 Y 683-563 |7°7% =/409h—MyY" INFNYH/LC12-4PK 4150 = 4,150 4112 2~) = = - = = - = =
6818 644|bF—-A42Y 683-564 | 774 —/4V9h—M)vy KB E 7'599/LC17BK 4356 = 4356 4269 2~) = = - = = - = =
5A1H 644 \bF—-12 Y 683-565 |7 7% =/4v9h-MNyy RB=E ¥7Y/LC17C 2071 = 1891 2030 (2~) = = - = = - = =
5A18 644|bF—-A42Y 683-566 |7 7% —/4V9h—M)yy KBEE vt V4/LC1IM 2071 = 1,891 2030 2~) = = - = = - = =
5A1H 644 \bF—-12 Y 683-567 |7 7% —/1v9h—M)yy KB E 410—/LC17Y 2071 = 1891 2030 (2~) = = - = = - = =
5A18 644|bF—-A42Y 697-423 |77 =/4V9h—Mvy 7'399/LC113BK 1,366 = 1,261 - = - - = - - = -
5A1H 644 \bF—-12 Y 697-424 |7'7% =/4v9h—Myy Y7/LC113C 1,366 = 1,261 - = - - = - - = -
5A18 644|bF—-A42Y 697-425 |77 =/4V9h—MN)yy € U4/LC113M 1,366 = 1,261 - = - - = - - = -
5818 644|bF— 1Y 697-426 | 734 =/409h—M)yY" 410-/LC113Y 1,366 = 1,261 - = - - = - - = -
51H 644 b F—-42Y 631-877 |Q)7 34 —/4v9h—b)yy” 2/LC110BK 914 = 841 - = - - = - - = -
5A1H 644 b F—-142Y 631-888 |G)7' 7% —/109h—M)yy” HEAE2{ENY)/LC110BK-2PK 1,756 = 1,631 - = - - = - - = -
581H 644 bF—-A2Y 631-878 |G)7' 7% —/4¥9h—b)yY" 4I0—/LC110Y 914 = 841 - = - - = - - = -
5818 644|bF— 1Y 631-885 |G)7' 3% =/109h—M)yYy" ¥FV/LC110C 914 = 841 - = - - = - - = -
51H 644 b F—-42Y 631-887 |G)7 7% =/49h—b)yy" ¥ V8/LC110M 914 = 841 - = - - = - - = -
5A1H 644 b F—-142Y 631-886 |G)7' 7% —/109h—MyY" HER4ENYY/LCT110-4PK 3388 = 3209 - = - - = - - = -
51H 644 b F—-420 629-267 |7 7% =/4V9h—M)yYy" B/LC111BK 1,064 = 980 - = - - = - - = -
5818 644|bF— 1Y 629-133 |7°'3%'=/4v9h—M)yY" 410-/LC111Y 1064 = 980 - = - - = - - = -
5A18 644 |k F—-A42Y 629-337 | 734 =/4v9h—M)yY" YFU/LC111C 1064 = 980 - = - - = - - = -
5818 644|bF— 412 629-355 | 734 /49—y R UE/LCIT1IM 1064 = 980 - = - - = - - = -
5A1H 644 b F—-A42Y 629-228 | 774 —/4v9h—M)vy BEFAE2{ENY)/LC111BK-2PK 2,037 = 1,891 2017 2~) = - - = - - = -
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6818 644 \bF—-12 % 629-134 |7'7%'=/4109h—M)yY" BER4ENYY/LC111-4PK 3760 = 3760 3597 (2~) = = - = = - = =
5A1H 645 b F—- 42 918-655 |7 7% —/19h—M)yy' KREE447° £/LC217BK 2372 = 2300 - = - - = - - = -
5A1H 645 b F—-1279 946-615 | Q)7 7% —/1U9h—Myy KB E547° 7°59%/LC219BK 3,100 = 3,000 - = - - = - - = -
5A1H 645 b F—- 42 918-651 |7'7%' =/4v9h—Myy ¥74/LC213C 1,390 = 1,261 - = - - = - - = -
5A1H 645 FF—-129 918-656 | 774 —/4V9h—b)yy KRB E547° ¥T/LC215C 2,063 = 2,000 - = - - = - - = -
5A1H 645 b F—- 42 918-652 |7'7% =/4V9h—M)yy 3£ V4/LC213M 1,390 = 1,261 - = - - = - - = -
5A1H 645 FF—-129 918-657 | 774 —/4V9h—b)yy KRB E547° Y 'V4/LC215M 2,063 = 2,000 - = - - = - - = -
5A1H 645 b F—- 42 918-653 |7'7%'=/4v9h—M)yy 4110—/LC213Y 1,390 = 1,261 - = - - = - - = -
5818 645 b F—-A1Y 918-658 |7'5% —/4voh—Myy" KB ES7 110-/LC215Y 2,063 = 2,000 - = - - = - - = -
5A1H 645 b F—-A42 Y 129-854 |G)7' 7Y% =/4v9h—b)yy" B/LC211BK 1,064 = 981 - = - - = - - = -
5818 645|bF—- 1Y 129-858 |G)7' 7% =/4v7h—M)yy" B 2{@n’yY/LC211BK-2PK 2,037 = 1891 - = - - = - - = -
5A1H 645 b F—-A42 Y 129-855 |G)7' 7Y% —/4v9h—M)yy" ¥74/LC211C 1,064 = 981 - = - - = - - = -
5A1H 645 k+—-1429 129-856 |G)7' 7% —/4V9h—M)yY" I€'V4/LC211M 1,064 = 981 - = - - = - - = -
5A1H 645 b F—-A42Y 129-857 |G)7' 7Y% —/4vh—M)yy" 410—/LC211Y 1,064 = 981 - = - - = - - = -
6818 645 bF—-A42Y 603-183 |HP/4v9h—M)yy" ¥72/11(C4836A) 4785 = 4800 4378 2~) = = - = = - = =
6818 645 b F—-A42 Y 603-184 |HP/4Y9h—M)yY" T£'4/11(C4837A) 4785 = 4800 4378 2~) = = - = = - = =
6818 645 bF—-A42Y 817-551 |HP/4Y9Y 1yh VY 410-/82(C4913A) 4512 = 4845 - = - - = - - = -
6818 645 b F—-A42 Y 817-515 |HP/4Y9Y 1yM Y9 7°599/10(C4844A) 4800 = 4800 4370 2~) = = - = = - = =
6818 645 bF—-A42%Y 603-183 |HP/4v9h—b)yy" ¥72/11(C4836A) 4785 = 4800 4378 2~) = = - = = - = =
6818 645 b F—-A42 Y 603-184 |HP/4Y9h—M)yY" T£'4/11(C4837A) 4785 = 4800 4378 2~) = = - = = - = =
6818 645 bF—-A42Y 603-185 |HP/4»9h—b)yy" 4110—/11(C4838A) 4785 = 4800 4378 2~) = = - = = - = =
6818 645 b F—-A42 Y 817-515 |HP/4Y9Y 1yM Y 7°599/10(C4844A) 4800 = 4800 4370 2~) = = - = = - = =
6H1H 645 bF—-12 637-878 |HP/4v9h—M)yY" 7°599/CH565A HP82 4227 = 4587 - = - - = - - = -
6818 645 b F—-A42 Y 817-542 |HP/4Y9Y 1yM YY) YT70/82(C4911A) 4512 = 4845 - = - - = - - = -
6818 645 bF—-A42Y 817-524 |HP/4V4Y 1ybM YY) 31°5/82(C4912A) 4512 = 4845 - = - - = - - = -
6818 645 b F—-A42 Y 817-551 |HP/4Y9¥ 1y Y% 4110—/82(C4913A) 4512 = 4845 - = - - = - - = -
6818 645 bF—-A42Y 818-946 |HP/4Y9Y 1yM Y% 7°39% #H1E/15(C6615DA) 3,498 = 4,000 - = - - = - - = -
6R1H 645 b F—-12 % 813-393 |HP/{v9Y 1yM Uy h7—348/78(C6578DA) 4747 = 4820 43711 2~) = = - = = - = =
6818 645 kF—-A42Y 615-299 |HP/7°uMh—F)yy" B/27(C8727AA#003) 2,700 = 2871 - = - - = - - = -
6818 645 b F—-A42 Y 820-683 |HP/4Y9Y 1yMM VY 7' 5991 E4547°/130(C8767HJ) 4475 = 4495 4323 2~) = = - = = - = =
6818 645 bF—-A42Y 820-674 |HP/4v9¥ 1yM YUY h3—/135(C8766HJ) 3335 = 3335 2929 2~) = = - = = - = =
6R1H 645 b F—-12 % 818-946 |HP/4Y9¥ 1y Y% 7°399 $HI1E/15(C6615DA) 3,498 = 4,000 - = - - = - - = -
6818 645 bF—-12 Y 813-393 |HP/1V9Y 1yM YY) h7—348/78(C6578DA) 4747 = 4820 4371 2~) = = - = = - = =
6818 645 b F—-A42 Y 616-351 |HP/7"Jubh—M)yy" /129(C9364HJ) 2775 = 2775 2552 2~) = = - = = - = =
6818 645 bF—-A42Y 820-674 |HP/4v9¥ 1yM YUY ©h3—/135(C8766HJ) 3335 = 3335 2929 2~) = = - = = - = =
6R1H 645 b F—-12 % 616-355 |HP/7"Uubhi—b)yy" 3BA7—(/1N)/136(C9361HJ) 2,960 = 2960 2818 (2~) = - - = = - = =
6818 645 b F— 1Y 622-811 |HP/HPT1149h—M)yY" 7599 38ml/CZ129A 3238 = 3325 - = - - = - - = -
5818 645 b F—-429 622-880 |HP/HP71149h—M)yY" 7599 80ml/CZ133A 5544 = 5229 - = - - = - - = -
6818 645 b F— 1Y 622-813 |HP/HP7114Y9h—)yY" Y7V 29ml/CZ130A 2,751 = 23841 - = - - = - - = -
6818 645 b F—-129 622-876 |HP/HP7114 9h—M)yY" T€'U4 29ml/CZ131A 2751 = 23841 - = - - = - - = -
6818 645 b F— 1Y 622-867 |HP/HP7114Y9h—M)yY" 4I0— 29ml/CZ132A 2,751 = 23841 - = - - = - - = -
6818 646 FF—-129 627-865 |G)HP/4Y9h—M)yY" ¥9b7'795/HPT2(C9403A) 8293 = 8760 - = - - = - - = -
6818 646 bF—- 1Y 627-866 |GHP/AU9h—)vy" 7407'59%/HP72(C9370A) 8293 = 8760 - = - - = - - = -
6818 646 FF—-12Y 627-868 |GHP/4Y9h—M)vY" ¥7Y/HPT2(C9371A) 8,000 = 8380 - = - - = - - = -
6818 646 bF—- 1Y 627-869 |GHP/4Y9h—M)vY" 14 Y4/HP72(C9372A) 8,000 = 8380 - = - - = - - = -
6818 646 ~F—-42Y 627-870 |GHP/4Y9h—)yY" 110—/HP72(C9373A) 8,000 = 8380 - = - - = - - = -
6818 646 b F—- 1Y 627-871 |GHP/4Y9h—M)vY" 4'L—/HPT2(C9374A) 8293 = 8760 - = - - = - - = -
6818 646 ~F—-429 616-351 |HP/7"Jubh—M)yy" B/129(C9364HJ) 2775 = 2775 2552 2~) = = - = = - = =
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6818 646 bF—-A12%Y 820-674 |HP/4%Y 19k Y% Hh5—/135(C8766HJ) 3335 = 3335 2,929 2~) = = - = = - = =
681H 646 bF—-A2 Y 616-355 |HP/7ubi—b)yy" 38H5—(/1N)/136(C9361H) 2960 = 2960 2818 2~) = = - = = - = =
6818 646 bF—-A2Y 616-351 |HP/7"uMh—H)yy" B/129(C9364HU) 2775 = 2775 2552 2~) = = - = = - = =
6R1H 646 bF—-42Y 820-683 |HP/4Y9Y 1M VY 75991 E45477/130(C8767HJ) 4475 = 4495 4323 2~) = - - = = - = =
6818 646 bF—-A12%Y 820-674 |HP/4%Y 19k Y% Hh5—/135(C8766HJ) 3335 = 3335 2,929 2~) = = - = = - = =
681H 646 bF—-A12¥Y 638-444 HP/4v9h—M)yY" 7°3949/HP178(CB316HJ) 1070 = 1,115 - = - - = - - = -
6A1H 646 FF—-129 677-575 |HP/4v9h—M)vY" 7°39%9 A L& = /HP178XL(CN684HJ) 1,967 = 1,995 1827 2~) = - - = - - = -
6R1H 646 bF—-A42Y 638-450 |HP/4Y9h—M)vY" 740759 (HEE)/HP178XL(CB322HJ) 1,555 = 1,555 1,420 2~) = - - = = - = =
6818 646 bF—-A12%Y 638-452 |HP/4v9h—M)yy" Y7U(HEE)/HP178XL(CB323HJ) 1555 = 1555 1,420 2~) = = - = = - = =
6R1H 646 bF—-A42Y 638-453 |HP/4V9h—F)yy" vt V34 E)/HP178XL(CB324HJ) 1555 = 1555 1,420 2~) = - - = = - = =
6H1H 646 bF—-12 4 638-454 |HP/{ 9h—b)yY" 4110—(1E=)/HP178XL(CB325HJ) 1555 = 1555 1420 2~) = = - = = - = =
6818 646 bF—-A2¥Y 818-946 |HP/4Y9Y 1y Y% 7°399 $H1E/15(C6615DA) 3,498 = 4,000 - = - - = - - = -
6H1H 647 bF—-12 Y 813-393 |HP/1Y9Y 1yM YY) Hh5—348/78(C6578DA) 4747 = 4820 43711 2~) = = - = = - = =
6818 647 bF—-A2Y 818-946 |HP/4Y9Y 1yM Y% 7°399 $HI1E/15(C6615DA) 3,498 = 4,000 - = - - = - - = -
6818 647 bF—-12 Y 813-393 |HP/1Y9Y 1yM YY) Hh5—348/78(C6578DA) 4747 = 4820 43711 2~) = = - = = - = =
6818 647 bF—-A2Y 615-299 |HP/7Jubh—1)yy" B/27(C8727AA#003) 2,700 = 2871 - = - - = - - = -
6A1H 647 bF—-142Y 819-378 |HP/4Y9¥ 1y YY) 7°59% #Hi1E /56(C6656A) 2970 = 3,040 2,827 (3~) = = - = = - = =
6R1H 647 | b F—- 427 819-387 |HP/4Y9¥ 1y YY) h7—3F FHIE/57(C6657A) 4696 = 4840 4452 2~) = - - = = - = =
6818 647 bF—-A42%Y 615-299 |HP/7"uMh—k)yy" B/27(C8727AA#003) 2,700 = 2871 - = - - = - - = -
6818 647 |k F— 1Y 659-290 |Ya—/GXH—My¥" 7'799GC31KH L¥{R" #93000A=%'/515747 | 5370 = 5370 5201 2~) = - - = = - = =
6A1H 647 bF—-142Y 657-757 |)3—/IPSiO GXBE{VI K v)A 447°€3300/515737 1,151 = 1,151 1,128 2~) = = - = = - = =
6H1H 647 b F—-A425 659-294 |)3—/IPSiO GXBE{)H'vIA 447°¢5500/515738 1,151 = 1,151 1,128 2~) = - - = = - = =
5818 648 bF—-A12%Y 589-397 |ILAL/I7YURISEE X 1YY 6B 3yMS[E %)/ THE-50KITN 6,171 = 5806 - = - - = - - = -
5A18 648 b F—-A42 Y 640-225 |ILIL/FX/ %t EEEE1V)(5[E5)56 tyb/THC-351350SET5 | 3,542 = 2,838 - = - - = - - = -
5818 648 kF—-A12Y 640-226 |ILaL/3Y /UG EEE1V9(5[E 53 £yh/THC-351CSETS 2352 = 1886 - = - - = - - = -
5A18 648 b F—-A42 Y 640-228 |ILaL/3Y /Ut EEE1V9(5[E 57 799/ THC-351BK5 924 = 698 - = - - = - - = -
5818 648 b F—-A12Y 589-370 |ILIL/YTY ¥¥/URiIG SEE A9 5[E/THC-351C5 783 = 698 - = - - = - - = -
5A18 648 b F—-A42 Y 589-371 |ILaL/Y'L— ¥¥/Uxtit FEE X1V 5E/THC-351GY5 783 = 698 - = - - = - - = -
5818 648 kF—-A12 Y 589-372 |ILaL/3E'VE %)Y EEE Z4VY 5E1/THC-351M5 783 = 698 - = - - = - - = -
5A18 648 b F—-A42 Y 589-373 |ILaL/M10- $¥/v B X {VY 5E]/THC-351Y5 783 = 698 - = - - = - - = -
5A1H 648 kF—-142Y 640-227 | ILAL/3¥ /U5t IGEE 109 (5EI7)ERF 7' 7v)/THC-350PGBK5 | 1,400 = 1,124 - = - - = - - = -
5A18 648 b F—-A42 Y 589-376 |ILaL/7'5v) ¥¥/Uxtit 55 2 1Y% 8[E/THC-340BK8 1,760 = 1,600 - = - - = - - = -
5A1H 648 bF—-12Y 589-404 |ILaL/7 7% —RIGEEE R 1V 4B Eyl/THB-11BCSET 3437 = 20938 - = - - = - - = -
6818 649 b F—-A427Y 820-773 |7°'3% /=Y FIWFAXAYE vh—M)yY /PC-551 1172 = 1172 1,149 (6~) = = - = = - = =
6A1H 649 kF—-142Y 819-738 |7'7% —/HHIE 5K V/PC-404RF(PC-400RF4{E A) 3560 = 3560 3489 2~) = = - = = - = =
5A1H 649 b F—-42Y 138-277 |Yv—7"/FAXFAVY)K Y A4 22K A UXNRSGWE #2/UXNRIGW | 2,676 = 2,280 - = - - = - - = -
6818 649 b F—- 1Y 616-438 |V 4—7/ZBHMFAXFAIUY)E Y 2R A /UXNRIA4W 2072 = 2072 2031 2~) = = - = = - = =
6818 649 b F—-12 Y 627-750 |V 4—7"/FAXE1Y9VE Y 2{8 A/UX-NR5A4W 1,488 = 1,488 1458 2~) = = - = = - = =
6RA1H 649 kF—-142Y 627-748 |Y%—7 "/ BHFAXFAYY)EY 2{8 A/UX-NR3A4W 2,096 = 2096 1,969 2~) = = - = = - = =
6818 650 bF—-A12% 603-094 |Panasonic/4Y474b450m/KX-FAN141 1,086 = 1,086 1,064 3~) = = - = = - = =
6818 650 b F—- 12 620-717 |NTY=99/ET=o<TF1U974b b 278 A/KX-FAN190W 1,058 = 1,058 1,033 2~) = = - = = - = =
5A1H 650 k+—-4>% 682-676 |NTYZy)/EBIMFAXFEAVI740 L 22 /KX-FAN191W 1246 = 1,180 - = - - = - - = -
6818 650 b F—- 12 603-095 |Panasonic/{%74Il130m/KX-FAN200 1,000 = 1,000 980 2~) = = - = = - = =
6818 652 bF—-A12% 817-011 |I7°Y0/7 Y 3K Y AIAK/#7753(7Q1VP8OK) 1232 = 1425 - = - - = - - = -
6A1H 652 kF—-42Y 815-778 |JA.A/7) )k viE# /VP-130K/VP-80 567 = 762 - = - - = - - = -
6818 652 bF—-A12% 816-975 |I77YY/7 V3K VAR /#7754(7Q1VP13K) 1,717 = 1,900 - = - - = - - = -
5A1H 652 kF—-42Y 815-769 |LFH/7VY3VF vAA/VP-130K 1,280 = 762 - = - - = - - = -
6R1H 652 k—-4>Y 815-778 |JAA/7 ) )k VEEE /VP-130K/VP-80 567 = 762 - = - - = - - = -
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£EH s A7y AXES BREW IR Se 4% BR5EfitE (8=) HR5EifitE (=) HR5EifitE (%=) AR SE(fE (=) HR5EffitE (%=) AR SE(fE (=)
(20184F) ZEHEI THE% Al THEE AT rHE% AT rHE%
6A1H 652 |bF—- 1Y 819-648 | 177/ 7 ) 3K VA A fililE/VP3000CRC 2,827 = 2850 - = - - = - - = -
5A1H 652 |bF—- A2 819-675 | 1770/ VK VARl 1E/VP3000RC2 1,290 = 1,167 - = - - = - - = -
6818 652 |bF—- 1Y 819-666 |3 FH/VP3000RCY# Y A{&k/EP-30 836 = 1,063 - = - - = - - = -
5A1H 652 |bF—- A2 815-958 |177YY/7V 4K VEEE /VP5150RP 3,800 = 3,600 - = - - = - - = -
6A1H 652 |bF—- 1Y 815-931 |I77YY/7 ) 3K v EEE /VP5200RP 2,827 = 2850 - = - - = - - = -
6R1H 652 |bF—- A2 815-436 |A.F/7 2)HK VA {K/PCPR201/87LA-01 1,680 = 1,743 - = - - = - - = -
6818 652 b F—- A1 432-949 |NEC/PR-D700XX2-02[2A& A1/ #a Yk VEF-GH1254BS 3,800 = 4,000 - = - - = - - = -
6R1H 652 |bF—- A2 145-824 |NEC/PR-D700XX2-06/1 %V& vh—M)yY 9k 5644 = 6,000 - = - - = - - = -
6818 652 b F—- 424 606-166 |NEC/EF-GH125247" )i’y 44 /PRD201MX202 3,800 = 4,000 - = - - = - - = -
6818 652 bF—-A2¥ 606-325 |[NEC/7")v4YF ™~ £/PRD201MX206 4749 = 5000 - = - - = - - = -
6A1H 653 k+—-1429 815-139 | A/ 4k vaEE /5577-H02 1,738 = 1,743 - = - - = - - = -
6R1H 653 b F—- 42y 815-508 |JA.A/7) )k VEEE 12/8/DPK3800 5300 = 6,636 - = - - = - - = -
6H1H 653\ b F—-12 % 605-944 |[FUJITSU/SDM-6 & U Uhtyb 6,875 = 6,935 - = - - = - - = -
6R1H 653 b F—- A2y 815-598 | FA.F/7YY4)K VA &/MPP4H/5H 3289 = 3496 - = - - = - - = -
6818 653 |bF—- 1Y 815-607 | F.AA/7Y 4k vEEE /MPP4H/5H 1,730 = 1,896 - = - - = - - = -
6R1H 653 b F—- A2y 432-748 |EL&/Y7 htybEEBAVY)R V)R #EIE 678 DPK3800 5940 = 6,000 - = - - = - - = -
6A1H 653 k+—-142% 817-263 |OKI/7Yv4)ik v AR{A/SZ11376 1480 = 1,758 - = - - = - - = -
5A1H 654 b F—-A42Y 817-587 |OKI/7"»4Yk YA A /RN1-00-005 1654 = 1584 - = - - = - - = -
6818 654 bF—-A42%Y 638-506 |OKI/FE&E 2 FA1)Y#K Y 61E/RN6-00-007 14,250 = 14,250 13,965 2~) = - - = - - = -
6R1H 654 b F—-A42 Y 816-642 |OKI/7"»4YF YA {A/RN1-00-008 2424 = 2565 - = - - = - - = -
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